Spare part price list

h/p/cosmos sports & medical gmbh contact; date: valid till:
Am Sportplatz 8 e-mail; service@hpcosmos.com 23.05.2022 31.12.2022
83365 Nussdorf-Traunstein / Germany phone: +49 86 69 86 42 1025

website: website service:

www.hpcosmos.com/en www.hpcosmos.com/en/service

Note:

After a maintenance and repair on products of h/p/cosmos are always electrical safety measurements necessary according to DIN VDE 0701-0702 (DIN EN 50699) for sports equipment, or VDE 0751-1 (IEC / DIN EN 62353) & IEC TR 62354 for
medical equipment. Please note that h/p/cosmos authorized technicians should only perform maintenance and repair on h/p/cosmos products. The documentation of any service work will be done via the service report (cos11689en-01), the test
protocol (cos11690en-03e) and display control form (cos15987en-01). Any damage due to improper or illegally installation are not subject of the guarantee of h/p/cosmos.

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s000200008001 special oil f. TM deck lubric man. 0,25l 0,290 kg 1 22.10€
c0s100006ral9007 xx/65 cross tube safety arch assembled 7,261 kg 1 918.00 €
c0s100006ral9010 xx/65 cross tube safety arch assembled 7,261 kg 1 918.00 €
c0s100020-01a Upgrade E-module contactor monitoring not specified 1 onrequest
c0s100022-01 e-module venus/saturn assembled 12,000 kg 1 4,533.00€
€0s100026-03gwral9005 main frame 170/65 75,308 kg 1 1,893.00€
c0s100026-03ral9007 main frame 170/65 75,308 kg 1 1,893.00€
€0s100026-03ral9010 main frame 170/65 75,308 kg 1 1,893.00€
€0s100027-03gwral9005 main frame 170/65 110,000 kg 1 1,893.00€
c0s100027-03ral9010 main frame 170/65 75,308 kg 1 1,893.00€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s1000370000 power cord 5m Please choose variant. not specified 1 40.20 €
c0s100037va01 power cord 5m Euro 16A 0,700 kg 1 80.00€
c0s100037va02 power cord 5m UK 13A 0,700 kg 1 41.40€
c0s100037va03 power cord 5m Switzerland 16A 0,700 kg 1 40.20 €
c0s100037va04 power cord 5m Switzerland 10A 0,700 kg 1 40.20 €
c0s100037va05 power cord 5m Australia 15A 0,700 kg 1 64.10€
c0s100037va06 power cord 5m China 20A 0,700 kg 1 46.80 €
c0s100037va07 power cord 5m USA 20A 0,700 kg 1 46.80 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s100037va08 power cord 5m India/South Africa 16A 0,700 kg 1 onrequest
c0s100037va09 power cord 5m Japan 15A 0,700 kg 1 onrequest
c0s100037va10 power cord 5m Euro discovery 10A 0,700 kg 1 114.00 €
cos100037va11 power cord 5m Euro quasar 2.0 16A 0,700 kg 1 33.50€
c0s100037va12 power cord 5m China 16A 0,700 kg 1 46.80 €
cos100037va13 power cord 5m Israel 16A 0,700 kg 1 46.80 €
c0s100037-01 mains cable 230V 16A 5m angleplug Europe 0,720 kg 1 93.20€
€0s100038-01 back board for user terminal back board UT 2xRS232+rev.for add. opt. not specified 1 297.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s100038-01va01 back board for user terminal back board RAL9010 2xRS232 1,500 kg 1 149.00 €
c0s100038-01va02 back board for user terminal back board RAL9010 2xRS232 + add. option 1,800 kg 1 238.00 €
c0s100038-01va03 back board for user terminal back board RAL9007 2xRS232 1,500 kg 1 149.00 €
c0s100038-01va04 back board for user terminal Back board RAL9007 2xRS232 & add. option 1,800 kg 1 238.00€
€0s100040-01-de Additional user documents for devices german 0,472 kg 1 48.80 €
€0s100040-01-en Additional user documents for devices english 0,472 kg 1 48.80 €
c0s100059-010000 driving motor treadmill driving motor treadmill not specified 1 onrequest
€0s100059-01va01 driving motor treadmill Antriebsmotor Laufband 10kmh xx/50&65 24,300 kg 1 733.00€
c0s100059-01va02 driving motor treadmill Antriebsmotor Laufband 22 kmh xx/50 24,300 kg 1 607.00 €
c0s100059-01va03 driving motor treadmill Antriebsmotor Laufband 30kmh xx/50 24,300 kg 1 647.00 €
c0s100059-01va04 driving motor treadmill Antriebsmotor Laufband 25kmh xx/65 24,700 kg 1 727.00 €
c0s100059-01va05 driving motor treadmill Antriebsmotor Laufband 30kmh xx/65 25,200 kg 1 906.00 €
c0s100059-01va06 driving motor treadmill Antriebsmotor Laufband 40kmh xx/65 25,200 kg 1 918.00 €
c0s100059-01va07 driving motor treadmill Antriebsmotor Laufband 22kmh xx/63 27,850 kg 1 939.00 €
c0s100062-01ral9010 roller cover plate 150/50 rear left 2,343 kg 1 124.00 €

M:\Service\Servicemanual\9 ~Preislisten\20220523 hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s100063-01ral9010 roller cover plate 150/50 rear right 2,343 kg 1 124.00 €
c0s100068 relay 12VDC MAW engine brake 0,018 kg 1 8.35€
€0s1000690000 back plate user terminal discovery back plate user terminal discovery not specified 1 149.00 €
c0s100069va01 back plate user terminal discovery back plate discovery UT 1xRS232 not specified 1 onrequest
c0s100069val2 back plate user terminal discovery back plate discovery UT 2xRS232 not specified 1 149.00 €
c0s100070-02 Arm support to fold up for treadmill 0° 19,640 kg 1 2,508.00€
c0s100070-02a cover plate 28mm arm support 0,010 kg 1 onrequest
€0s100070-02b cover plate 38mm arm support 0,030 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos100070-02d flange tube bottom arm support 0,300 kg 1 3740€
c0s100070-02dral9010 flange tube bottom arm support 0,300 kg 1 3740€
cos100070-02e torsion bolt arm support 0,230 kg 1 36.10€
cos100070-02g round tube arm support 0,200 kg 1 15.10 €
c0s100070-02h support plate left arm support 1,330 kg 1 16.30 €
c0s100070-02h-BE support plate left arm support 1,330 kg 1 12.60 €
c0s100070-02i support plate right arm support 1,330 kg 1 16.30 €
c0s100070-02li connecting tube for support plate 0,520 kg 1 1,612.00€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s100070-02m connecting cylinder arm support 0,760 kg 1 57.60€

c0s100070-02re connecting tube 103mm arm support 10,170 kg 1 1,612.00€

cos100078 strenghtened main frame 170/65 not specified 1 onrequest

co0s100097 gas pressure spring 400N not specified 1 40.20 € \
c0s100101 XHP-pin housing 4-pol straight 0,001 kg 1 onrequest

c0s100102 XHP pin housing 4-pole angled 0,001 kg 1 0.60 €

cos100104 PNY Quadro P620 V2 LP DP graphics card 0,524 kg 1 182.00 €

c0s100104_3D PNY Quadro P2000 graphics card 0,750 kg 1 504.00 €

cos100109 RS-422/RS-485 interface isolator 1kV 0,110 kg 1 791.00€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s100118-01 belt tensioner clamping bolt 150/50 0,058 kg 1 18.80 €
c0s100125-v1.06.4 MCU5 Firmware V1.06.4 Simulator not specified 1 46.80 €
c0s1001370000 Frequency inverter retrofitting kit Please select variant not specified 1 onrequest
c0s100137va01 Frequency inverter retrofitting kit FR-A024/ FR-E720 4,700 kg 1 334.00 €
c0s100137va02 Frequency inverter retrofitting kit KEB / FR-E720 not specified 1 666.00 €
c0s100137va03 Frequency inverter retrofitting kit Lenze / FR-E720 4,700 kg 1 666.00 €
c0s100142-01 Hexagon socket head cap screw M5x25 V2A 0,005 kg 1 0.20€
c0s100143-03 handrail crossbar clamp fixation 0,300 kg 1 121.00 €
c0s100169 Network connector RJ45 not specified 1 3.32€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos100175 LTG EMERGENCY STOP - contactor mercury 0,010 kg 1 21.80€
c0s100176-01 Drive motor 30kW 230V/400V 6 polar 400,000 kg 1 13,775.00 €
cos100179 Braking resistor 16000W not specified 1 onrequest
c0s100180-04 low voltage control desk 1000x960x480 79,000 kg 1 1,961.00€
c0s100182 handle bar for control cabinet 0,500 kg 1 86.70 €
c0s100192-01 switch on current limiter 90A without N 13,600 kg 1 5590.00€
c0s100194-01 SPS control unit CPU 314 0,500 kg 1 3,453.00€
c0s100195 Digital in- and output 0,200 kg 1 1,242.00€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s100196 front plug 40-pin 0,122 kg 1 112.00 €
cos100197 analoge input 0,272 kg 1 1,837.00€
c0s100198 front plug 20-pin 0,060 kg 1 70.70€
c0s1002006 Sensor speed / elevation for increment 0,050 kg 1 4410€
c0s100201 net feeding SPS 0,740 kg 1 437.00 €
c0s100204 Schiitz 90kW/400V/AC-3 4,000 kg 1 2,152.00€
c0s100206 bus bar 1100mm 1,350 kg 1 274.00 €
€0s100207 bus bar holder 0,050 kg 1 40.20 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s100208 bus bar cover 0,040 kg 1 16.10 €
c0s100209 ground tub profile 0,960 kg 1 66.90 €
c0s100210 cover profile 0,300 kg 1 22.90€
cos100211 connection adapter 63A- 250A 0,950 kg 1 99.90€
c0s100212 device adapter 100A 0,790 kg 1 65.40€
c0s100213 device adapter 25A 0,320 kg 1 36.10€
cos100214 aparat adapter 25A 0,250 kg 1 onrequest
c0s100215 device adapter 25A wide range 90mm 0,520 kg 1 61.40€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s100216 lens head screw M6x16 V2A 0,003 kg 1 0.60 €
c0s100217 connecting cable UL 2,110 kg 3 onrequest
c0s100219 single wiring cable 41G0,5 0,595 kg 3 onrequest
c0s100220 single wiring cable 16mm? gn/ge 0,120 kg 3 onrequest
c0s100221 single wiring cable 35mm" sw 0,399 kg 3 onrequest
c0s100225 separate transformator 63000W 331,000 kg 1 9,393.00€
c0s100238 additional calculation for refitting not specified 1 onrequest
€0s100242 Fuse insert Extra Safe 1-pole for cold 0,004 kg 2 3.34€
cos100244 brake resistor for FU 11kW A740 3,200 kg 1 601.00 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s100246 counter sunk screw DIN965/ISO704 M3x35 not specified 1 0.04€
€0s100248 protective metal conduit 1 1/4™" UL 1,000 kg 3 onrequest
c0s100250 brass grommet hose fitting 0,170 kg 1 onrequest
c0s100252 conduit connector 3/4"" UL 0,085 kg 1 42.80€
c0s100253 brass grommet hose fitting 0,007 kg 1 onrequest
c0s100256 plug box EMV M25 0,350 kg 1 60.10€
cos100257 Spray can 400ml colour RAL9006 not specified 1 onrequest
c0s100258 plug application 0,007 kg 1 67.90 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos100259 contact application set 0,050 kg 1 71.90€
€0s100260 EMV-shield adapter 0,023 kg 1 597 €
c0s100261 contact application module bushing 0,070 kg 1 90.60€
c0s100262 contact application module plug 0,066 kg 1 80.00€
c0s100263 HEAVYCON contact application bushing PE 0,100 kg 1 121.00 €
cos100264 HEAVYCON contact application plug PE 0,095 kg 1 104.00 €
cos100267 HEAVYCON Hinge retaining frame not specified 1 onrequest
c0s100268 HEAVYCON Hinge retaining frame grommet not specified 1 onrequest
c0s100269 contact application module 0,006 kg 1 8.16 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s100270 contact application module plug 0,007 kg 1 7.96€
€0s100271 Verstarker fiir Lichtschranke 0,500 kg 1 1,781.00 €
c0s100273 light barrier acceptor 0,023 kg 1 297.00 €
cos100274 light barrier transmitter 0,017 kg 1 184.00 €
c0s100282 cable end sleeve 35mm? red 0,001 kg 4 246.00 €
c0s100284 cable shoe 35 mm? M10 0,009 kg 4 1,317.00€
c0s100289 modul application plug 0,008 kg 1 6.10€
c0s100290 modul application bushing 0,006 kg 1 6.63 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s100291 Profile rail SPS 0,713 kg 1 110.00 €
€0s100293 running belt stabilizer D=40mm 0,055 kg 1 74.00 €
c0s100293a roller for belt stabilizer D=40mm 0,042 kg 1 36.20€
c0s100293b mounting bolt f. running belt stabilizer 0,003 kg 1 11.00 €
c0s100293c spacer for running belt stabilizer 0,003 kg 1 11.00€
c0s100295 RS232 extension cable 2m not specified 1 46.80 €
c0s100296 RS232 extension cable 10m not specified 1 53.40€
cos100297 RS232 extension cable 5m not specified 1 60.10€
cos100300 memory card SPS S7 0,016 kg 1 800.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s100302 Position switch not specified 1 77.30€
c0s100303 Temperaturfilhler PT100 not specified 1 189.00 €
€0s100304-01ral9007 baseframe frontside ral9007 21,914 kg 1 918.00 €
c0s100305-01ral9007 baseframe rearside colour ral9007 16,600 kg 1 719.00 €
c0s100306 Rope jack 0,028 kg 1 23.30€
c0s100309ral9007 Frame for treadmill rear side 53,300 kg 1 1,396.00€
c0s100310ral9007 Frame for treadmill connection 32,300 kg 1 759.00 €
c0s100311ral9007 Help stop mounting for right side bar 0,106 kg 1 80.00€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s100314ral9007 side bar left 39,200 kg 1 1,575.00€
c0s100315ral9007 side bar right 52,500 kg 1 1,734.00€
c0s100316ral9007 traverse - standard 18,000 kg 1 999.00 €
c0s100320 Unweighting rope - 7m - @8mm 0,350 kg 1 161.00 €
c0s100322 circlip NL16-Nord-Lock 0,007 kg 1 425€
cos100324 cylinder head screw M16x35 0,086 kg 1 1.99€
€0s1003250000 not specified 1 onrequest
€0s100325va01 Xx/75 not specified 1 7,962.00€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s100325va02 xx/100 not specified 1 onrequest
c0s100325va03 xx/125 not specified 1 6,263.00€
c0s100325a not specified 1 onrequest
c0s100325b not specified 1 onrequest
c0s100335 External control cabinet housing not specified 1 onrequest
c0s100340 EMV extractor fan 230V 5,040 kg 1 829.00 €
c0s100341 EMV filter of withdrawal not specified 1 281.00 €
c0s100342 5-pin female connector 0,018 kg 1 22.90€
cos100344 wiring cable 16mm? sw 0,187 kg 1 onrequest

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s100345 Isolated ferrules 4.0 N 0,001 kg 1 0.04€
c0s100346 filter fan EMC 0,650 kg 1 298.00 €
cos100346-BE filter fan EMC 0,650 kg 1 onrequest
c0s100348 RS232 extension line 10m not specified 1 73.30 €
c0s100349 xx/65 reinforc. guardplate support angle 0,466 kg 1 22.70€
c0s100350-02 xx/65 reinforce.dist.bolt el.guardplate 0,030 kg 1 9.56 €
c0s100354 e-module mount. plate for FR-E 720-3,7k 2,042 kg 1 onrequest
c0s100358 drag chain safety arch 5,000 kg 1 onrequest
c0s100359 connection element dragchain 1,309 kg 1 onrequest
c0s100360 drag chain switch off block 0,285 kg 1 161.00 €
c0s100361 drag chain connection element 0,005 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s100368 roller lever 0,064 kg 1 onrequest
c0s100369 role pusher 0,070 kg 1 58.70 €
cos100371 150/50 fast. angle guard electr.-drive not specified 1 onrequest
cos100374 variable balcony front, 4x1x0,85 m, not specified 1 11,543.00 €
c0s100385¢ Zebris Video Sync Control Cable 5m 0,180 kg 1 104.00 €
c0s100385e Zebris USB 2.0 Cable A-B ferrite 5m 0,180 kg 1 46.10€
c0s100385f Zebris SYNCLightCam power supply 40W/24V 0,380 kg 1 447.00 €
c0s100385¢g Zebris power cord EN60320-1/C7 0,080 kg 1 19.40€
c0s100385h Zebris Video Sync Control extension 5m 0,180 kg 1 104.00 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos100389 emc filter outlet not specified 1 onrequest
c0s100409 switch cabinet temperature control 0,105 kg 1 61.40€
c0s100417-01 deputy motor belt 21,000 kg 1 2,112.00€
c0s100418 Drucksensor 1,200 kg 1 3,054.00€
c0s100419 lens head screw M5x12vz A2K 4.8 0,003 kg 1 0.08€
€0s100420c-01 chest belt POLAR HR M-XXL for WIND + H10 0,040 kg 1 30.40€
c0s100420c-02 chest belt POLAR HR M-XXL Pro f WIND+H10 0,040 kg 1 34.70€
c0s100420d board connection cable POLAR WIND 0,015 kg 1 20.30€
cos100427 sealing tape 4x50mm / 10m not specified 1 onrequest

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s100432-01a Adjustable sling for airwalk 0,150 kg 1 64.10 €
€0s100435a-01ral9007 Handrail separable base plate ral9007 1,200 kg 1 99.90 €
c0s100435b-01ral9007 Handrail separable pillar tube 55mm 2,100 kg 1 121.00 €
c0s100435¢-01ral9007 Handrail separable tube curved 1309mm 2,000 kg 1 137.00 €
c0s100435¢-01ral9010 Handrail separable tube curved 1309mm 2,000 kg 1 137.00 €
c0s100435d-01ral9007 Handrail separable pillar tube 60mm 1,300 kg 1 109.00 €
c0s100435e-01ral9007 Handrail separable tube curved 13XXmm 2,000 kg 1 144.00 €
c0s100435e-01ral9010 Handrail separable tube curved 13XXmm 2,000 kg 1 144.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos100437 wire connection port RS232 S91 LT 0,030 kg 1 37.50€
c0s100438 LTG wire connection port RS232 S92 LT 0,030 kg 1 37.50€
€0s100440-03ral9010 ve/sat back cover right ski pole belt 0,823 kg 1 87.10€
€0s100441-01ral9007 ve/sat back covering left ski pole belt 0,825 kg 1 112.00 €
€0s100441-01ral9010 ve/sat back covering left ski pole belt 0,825 kg 1 112.00 €
€0s100442-03ral9010 ve/sat front cover right skipole belt 0,595 kg 1 103.00 €
€0s100445-01ral9007 ve/sat front covering left skipole belt 0,900 kg 1 99.90€
€0s100445-01ral9010 ve/sat front covering left skipole belt 0,900 kg 1 95.90€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s100448 Resistor 0,4 Watt 6,8 KOhm 0,001 kg 1 0.13€

c0s100450 oil pump for treadmill lubrication 4,200 kg 1 2,466.00€

c0s100451 USB-Sensor-Actor-Interface-Board not specified 1 601.00 €

c0s100456 emergency stop button 16mm incl. 1 NC 0,011 kg 1 52.90 € P

I:{/

cos100457 twisting protect emergency stop 16mm not specified 1 245€

c0s100458-01 knurled nut M16x1 nickel plated 0,011 kg 1 3.44€

c0s100462 0,004 kg 1 0.52€

c0s100463 lens head screw M4x10 A2 0,001 kg 1 040€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos100464 lens head screw M4x16 A2 0,002 kg 1 0.43€
c0s100466 Temperature measuring strips 40°C-82°C not specified 1 onrequest
cos100467 Temperature measuring strips 88°C-138°C not specified 1 onrequest
c0s100468 Temperature measuring strips 143°C-193°C not specified 1 onrequest
cos100469 Temperature measuring strips 199°C-260°C not specified 1 onrequest
c0s100476 deviating shaft 150/50 double bearing 14,000 kg 1 1171.00€
c0s100482 0,005 kg 1 1.58 €
c0s100495 cylinder head screw M4x16 A2K 10,9 0,003 kg 1 0.20€
c0s100496 cylinder head screw M8x40 A2 0,020 kg 1 047€
cos100497 lens head screw M6x10 A2 not specified 1 0.31€
c0s100498 cylinder head screw M8x30 A2 0,016 kg 1 040€
c0s100502 wiring duct 100x100 2,000 kg 1 onrequest

M:\Service\Servicemanual\9 ’Preististent20220523 "hpcosmos’ spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos100505 toothed belt disc 40-8M-50 6F 2,900 kg 1 304.00 €
co0s100507 toothed drive belt 976-8M-30 0,300 kg 1 53.40€
c0s100522-01 elevation motor SH95 4,500 kg 1 1,052.00€
c0s100523 450/300(rs) fast.angle lightbarrier left not specified 1 onrequest
cos100524 450/300(rs) fast.angle lightbarrier righ not specified 1 onrequest
c0s100526 450/300(rs) covering light barrier right not specified 1 onrequest
cos100530 current transformator 425,000 kg 1 28,898.00 €
c0s100531-02 connection cable XV2 Trafo 25,000 kg 1 581.00 €
c0s100538-01 connection cable XV1 Trafo 25,000 kg 1 1,055.00€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s100539-01 connection cable XV4 drive motor 20,000 kg 1 1,012.00€
c0s100545 Heavy duty castor 160mm 3,000 kg 1 475.00 €
cos100549 RS232 Interface for Laptop not specified 1 onrequest
c0s100556 End cap plastic 42x2 0,006 kg 1 0.40€
c0s100558 Guide Plate RJ45 not specified 3 onrequest
cos100559 450/300(rs) fast.angle triggerline left not specified 1 onrequest
c0s100560 450/300(rs) fast.angle triggerline right not specified 1 onrequest
cos100565 Sticker UT blindcover LT devices 0,035 kg 1 33.50€
cos100567 connectorhousing with 3 contacts gaitway 0,000 kg 1 0.66 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s100569-01a Relais socket for Electronic relais 0,052 kg 1 493€
c0s100569-02 Relays socket for mechanical relays 0,052 kg 1 17.70€
c0s100571-01vz mount for double speed sensor 0,182 kg 1 46.80 €
cos100574 semiconductor 48-460V 0,165 kg 1 121.00 €
cos100579 adapter cable sensor - SignalConditioner 0,500 kg 1 99.90€
cos10058 Gender-Changer RS232 male/female 9pin 0,008 kg 1 6.63 €
c0s100580 LTG RS232 HUR Terminal - MCU S92 LT LTG RS232 HUR 0,100 kg 1 60.10€
c0s100583 Washer M5, PVC (D=15mm) 0,004 kg 1 040€
c0s100587-03 connection lines 450/300 225,000 kg 1 6,925.00€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s100590-01 metallic conduit 750mm AD21 mercury 0,300 kg 1 85.80€
€0s100591 hexagon socket set screw M8x25 0,009 kg 1 0.79€
c0s100593-03 fastening roller cover 150/50 0,120 kg 1 36.50€
cos100599 safety arch+installation 450/300 232,000 kg 1 56,370.00 €
c0s100601 RS-485 Isolator MCUS - FU incl. housing not specified 1 86.70€
c0s100602-01 Plastic housing RS485 isolator 0,060 kg 1 26.90€
cos100603 UT-Touchscreen HUR Smart Card Display 1,800 kg 1 2,721.00€
c0s100605 UT-Touchscreen HUR power supply 0,275 kg 1 67.70 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list  date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos100609 cylinder head screw M4x12 V2A 0,001 kg 1 0.36 €
c0s100610 Hexagon screwnut V2A M6 DIN439 0,002 kg 1 onrequest
cos100611 cylinder head screw M8x40 VA2 0,018 kg 1 124 €
c0s100616 Hexagon nut M16 A2K not specified 1 0.92€
c0s100622 grounding braid elev. motor - inverter 0,020 kg 1 onrequest
c0s100633 power plug for China 230V/AC1~/N/PE/16A 0,036 kg 1 25.90€

c0s100634-01 medical isolat. transformer polyMIT1000 13,500 kg 1 1157.00€
c0s100642 key for controll desk levi 0,027 kg 1 12.80€
c0s100643 compensation washer 12x24x1mm 0,003 kg 1 1.11€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s100646 cable adapter NOT-AUS SIEMENS to IDEC 0,001 kg 1 10.80 €
c0s100649 receptacle connector 2,8mm no iso female 0,001 kg 1 onrequest
cos100656 sleeve 2,5mm? not isolated not specified 1 onrequest
c0s100662 cap nut M10 A2 0,015 kg 1 0.20€
c0s100663 Hexagon head screw with shank M10x60 8.8 not specified 1 0.66 €
c0s100667-01 connector set detachable handrail 60mm 0,987 kg 1 413.00 €
cos100667a blind clamping disc 0,060 kg 1 22.30€
cos100667b clamping ring not specified 1 2410€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos100667¢ clamping disc passage not specified 1 22.30€
c0s100667d-01 Pipe centering with milled groove 9,5mm not specified 1 36.10€
cos100667e Clamping ring threaded not specified 1 22.30€
cos100667f O-ring 0,010 kg 1 3.98€
c0s100667g-01 Cylindrical pin 5x40 0,010 kg 1 3.98€
cos100667h Threaded pin M5x5 zinc plated 0,006 kg 1 1.99€
cos100667i Fabric hose DN 13 0,055 kg 1 3.98€
c0s100667 Special key tool 0,300 kg 1 7.96€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list  date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos100672 Lifitng eye nut, zinc plated M10 0,160 kg 1 24.10€
c0s100676 plain washer M12 V2A DIN125 not specified 1 0.23€
€0s100684-01ral9005 Rear handrail column 0,200 kg 1 72.20€
c0s100688 illuminated selector head blue 0,020 kg 1 26.30€
c0s100689-01 lamp socket T5,5K 0,040 kg 1 14.40 €
c0s100690 calotte clear 0,001 kg 1 0.60€

c0s100691 Einsteck-Karlotte gelb 0,001 kg 1 0.60€

c0s100692 calotte green 0,001 kg 1 0.60€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list  date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture

c0s100693 calotte red 0,001 kg 1 0.60€

€0s100694 signal lamp header 0,030 kg 1 9.16 €
c0s100695 light emitting diode, 24V ultrablau 0,001 kg 1 10.80 €
c0s100696 light emitting diode, 24V yellow 0,001 kg 1 8.95€
cos100697 light emitting diode, 24V green 0,001 kg 1 10.80 €
c0s100698 light emitting diode, 24V red 0,001 kg 1 12.10€
c0s100699-02a ultrasonic sensor 2,600 kg 1 2,24400€
c0s100699c Speedsensor Board 0,100 kg 1 76.90€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s100699d Speedsensor Board housing 0,200 kg 1 53.70€
c0s100700 light emitting diode 24V/DC, white 0,001 kg 1 17.00€
cos100701 illuminated contact block 1INC 1NO 250V 0,040 kg 1 20.30€
cos100702 pushbutton with ring-illumination 0,010 kg 1 18.70 €
cos100703 contact block 250V 0,040 kg 1 18.30 €
cos100704 flat lens, black 0,001 kg 1 0.54 €
cos100705 pushbutton head 0,030 kg 1 13.00 €
cos100706 Hose coupling 1" M32 UL 0,376 kg 1 11.40€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list  date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos100708 Blind plug CT-BS1 0,001 kg 1 1.19€

—
c0s100709 Blind plug d=1,5mm 0,001 kg 1 1.26 €

—
cos100710 mounting case, enginecable, bushing 1,000 kg 1 161.00 €
cos100711 socket shell, enginecable, pinside 1,000 kg 1 161.00 €
c0s100712 socket shell, signal + PE, bushing 1,000 kg 1 394.00 €
cos100713 mounting case, Signalcable+PE, pin side 1,000 kg 1 255.00 €
cos100714 shell socket, signal + PE, pin side 1,000 kg 1 276.00 €
cos100715 Mounting case, Signalcable + PE, bushing 1,000 kg 1 304.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos100716 Mounting socket, Signal + oil, pin side 1,000 kg 1 448.00 €
cos100717 socket shell, signal + oil, bushing 1,000 kg 1 587.00 €
cos100718 Socket shell, signal + oil, pin side 1,000 kg 1 468.00 €
cos100719 Mounting socket Signal + oil, bushing 1,000 kg 1 569.00 €
c0s100720 Socket shell, enginecable, bushing 1,000 kg 1 177.00 €
cos100721 Mounting case, enginecable, pin side 1,000 kg 1 144.00 €
cos100728 U-clamp 47x6mm 0,013 kg 1 0.66 €
cos100729 U-clamp 4,6x6mm 0,006 kg 1 0.54€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos100735 Flachstecker 6,3mm 2,1-5,3? 0.Iso female 0,005 kg 1 0.43€
c0s100738 wire fixation climate chamber 2,700 kg 1 116.00 €
c0s100738-01 170&190/65 wire fixation climate chamber 2,659 kg 1 116.00 €
cos100741 warning sign maintenance work 0,010 kg 1 1.33€
cos100750ral9007 handrail 150/50 long 2 pillar ri em.stop 19,772 kg 1 659.00 €
cos100750ral9010 handrail 150/50 long 2 pillar ri em.stop 19,772 kg 1 659.00 €
c0s100754-01ral9010 touchscreen rear panel with flange 60mm 0,670 kg 1 50.10€
cos100755¢ fixing disc leveling socket 150/50 set 0,633 kg 1 90.20€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos100755ral9007 fixing disc leveling socket 150/50 0,633 kg 1 31.70€
cos100757 min. spares package LB150/50-190/65 7,000 kg 1 2,458.00€
cos100757_mercury adv. spares package LB150/50-190/65 20,000 kg 1 2,642.00€
cos100757_mercury_g6 adv. spares package add-on LBxx/65 100,000 kg 1 3,186.00€
cos100757_pluto min. spares package add-on LBxx/65 100,000 kg 1 5105.00€
cos100757_pulsar adv. spares package add-on LB150/50 40,000 kg 1 1,315.00€
c0s100757_quasar min. spares package add-on LB150/50 40,000 kg 1 1,662.00€
cos100758 brake resistor for FU 3,7 kW E720 0,841 kg 1 121.00 €
cos100762 universal rawl plug UX 6x50 0,005 kg 1 0.27€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos100769 hexagon head screw M8x40 A2 0,018 kg 1 1.72€
cos10077 Credit note for spare parts not specified 1 onrequest
cos100771 flake board screw 3x20 V2A not specified 1 0.08€
c0s100776 cylinder head screw M4x40 A2K 8.8 0,004 kg 1 0.14 €
cos100777 conduction silver lacquer 3g 0,010 kg 1 85.80€
cos100780 plate 400x350x19mm 1,900 kg 1 137.00 €
c0s100782 retractable bearing for add. table 0,500 kg 1 70.80€
c0s100784-02 Frequency inverter elev.motor0,4kW ve/sa 2,800 kg 1 1,253.00€
cos100785 control desk xx-75 up to xx-125 216,000 kg 1 27,059.00 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos100786 ve/sat plug connection 1 (motor) 5m 10,000 kg 1 1,285.00€
cos100787 ve/sat plug connection 2 (sensor) 5m 9,600 kg 1 1,907.00 €
cos100788 ve/sat plug connection 3 (oil,sensor) 5m 9,200 kg 1 2,458.00€
c0s100803-01 transformer 3-p Dyn5 200V/208/220/400/48 200,000 kg 1 6,741.00€
cos100804 mark spray black 0,500 kg 1 20.30€
cos100809 filament Fixing tape, 18x55mm 0,025 kg 1 17.80 €
c0s100815b-01 Magnet holder for additional keyboard 0,200 kg 1 170.00 €
cos100817 SL-safety clip for roller axles 0,001 kg 1 0.54€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos100819 Medical desktop power supply 120W 0,510 kg 1 304.00 €
co0s100820 Medical desktop power supply 60W 0,345 kg 1 140.00 €
c0s100821 Medical desktop power supply 70W 0,200 kg 1 158.00 €
c0s100822 Connecting DC power supply are 8pin not specified 1 23.80€
cos100824 AC power cord 2pin AWG18 not specified 1 14.40 €
c0s100825 Velcro pad for mounting power supply not specified 1 717 €
c0s100826-01b Adapter plate Touch Panel AFL3 1,090 kg 1 85.70€
€0s100826-02 h/p/cosmos Touch Panel PC 15.6” 3,200 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos100827 Medical desktop power supply 150W 0,510 kg 1 onrequest
c0s100829 Medical power supply housing 0,600 kg 1 6.36 €
cos100833 End angle terminals 6mm 2 0,015 kg 1 2.98€
c0s100835 Bridges for terminals 6mm 2 0,001 kg 1 1.99€
c0s100845aral9005 170/190/65 frame stabilisator plate 0,439 kg 1 46.80 €
c0s100845aral9007 170/190/65 frame stabilisator plate 0,439 kg 1 46.80 €
c0s100845bral9005 170/190/ 65 frame stabiliser bar 1,400 kg 1 124.00 €
c0s100845bral9007 170/190/ 65 frame stabiliser bar 1,400 kg 1 124.00 €
cos100847 cord PE-bolt -PE-guard electrical equip. 0,025 kg 1 8.75€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s100848 Screw separable handrail with 5mm hole 0,094 kg 1 7.96€
c0s100863 Capacitor 10uF for elevation motor 50 0,070 kg 1 14.00€
cos100864 lens head screw M10x45 VA2 0,020 kg 1 576 €
c0s100865 lens head screw M10x35 VA2 0,020 kg 1 477 €
cos100866 cord PE-bolt -PE-guard electrical equip. 0,025 kg 1 8.75€
c0s100868 Power- supply med 300W/S24VDC 0,900 kg 1 368.00 €
cos100871 Add. ramp 75cm for wheelchairramp 3m 8,260 kg 1 858.00 €
c0s100872 add. ramp 100cm for wheelchairramp 3m 9,800 kg 1 800.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos100877-02 light barrier, dark-on, plugable 0,009 kg 1 144.00 €
cos100880 cable for light barrier with plug M8 10m 0,275 kg 1 36.80€
c0s100881 panel jack RJ45 UL 0,020 kg 1 61.90€
c0s100882 panel jack USB Typ A UL 0,020 kg 1 58.70€
c0s100883 voltage control relais 3-phase 0,250 kg 1 203.00 €
cos100887 main breaker lockable 4-pole 64A UL 400V 0,960 kg 1 176.00 €
cos100895 bag for circuit diagram A4 0,130 kg 1 17.50 €
c0s100897ral9010 Tranformer plate for ve/sat zink coated 7,900 kg 1 117.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s100898 Coupler hood, size 1 0,115 kg 1 58.60 €
c0s100900 Crimp contact, pin, up to 1,5mm? 0,001 kg 1 2.00€
cos100901 Crimp contact, pin, up to 0,75mm? 0,001 kg 1 1.80€
c0s100902 Crimp contact, bushing, up to 0,75mm? 0,010 kg 1 2.25€
c0s100903 Crimp contact, bushing, up to 1,5mm? 0,001 kg 1 3.60€
cos100904 Crimp contact, pin, up to 4mmm? 0,004 kg 1 210€
cos100905 Crimp contact, pin, up to 4mm? PE 0,004 kg 1 6.05€
c0s100906 Crimp contact, bushing, up to 4mm? 0,002 kg 1 3.65€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list  date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos100907 Crimp contact, bushing, up to 4mm? PE 0,003 kg 1 11.45€
c0s100910 Microfuse 4,0A T 0,001 kg 1 0.66 €
c0s100921-01 mounting bracket for light barriers 0,050 kg 1 13.20€
c0s100922 cylinder head screw M3x30 A2C 8.8 0,002 kg 1 0.11€
c0s100929 Shielding ring for chassis plugs 0,002 kg 1 1.59€
c0s100930 trapezoidal thread 28x5 0,420 kg 1 38.90€

c0s100932 Grounding bar inverter 11kW 0,048 kg 1 4410€

€0s100933 Grounding bar ext. control desk ve/sat 0,050 kg 1 4410 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos100939 mark spray red not specified 1 20.60€
€0s100946-01ral9007 ve/sat cable fixation ext. UserTerminal 0,196 kg 1 38.90€
c0s100947a-02 Handrail crossbar rolled 75 1,800 kg 1 402.00 €
c0s100948 Handrail crossbar 100/36 r1771 + clamps 4,120 kg 1 741.00 €
€0s100948a-02 Handrail crossbar rolled 100 2,600 kg 1 onrequest
c0s100949a-02 Handrail crossbar rolled 125 3,050 kg 1 onrequest
c0s100950 line filter 3P+N 36A 11KW ve/sat 2,000 kg 1 515.00 €
cos100954 USB-cable plug A to plug A, 1,8m 0,200 kg 1 2.98€
c0s100956 through anchor floor-mounting parawalk 0,130 kg 1 9.02€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos100957 cable gland M12x1,5 0,005 kg 1 7.83€
c0s100960 lens head screw w. flange , M6x12 VA2 0,005 kg 1 0.88€
cos100961 power supply ve/sat MCU2 not specified 1 1,853.00€
c0s100964ral9007 retrofit kit foot ve/sat reception 1,095 kg 1 304.00 €
c0s100966 illuminated contact block 2NC 250V 0,040 kg 1 20.30€
c0s100969 xxx-65 3p driving motor treadmill 25kph 32,500 kg 1 692.00 €
co0s100974 cover for power supply med 300W 0,576 kg 1 121.00 €
c0s100974-01vz cover for power supply med 300W 0,880 kg 1 161.00 €
cos100974vz cover for power supply med 300W 0,576 kg 1 121.00 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos100975 main lead 5G6 UL 5m 2,000 kg 1 221.00€
€0s100976 installation tube M25 0,120 kg 1 1.79€
cos100977 clamp for installation tube M25 0,005 kg 1 3.42¢€
c0s100978 gum layer for arm support 0,007 kg 1 6.96 €
c0s100979 Circlip M10 0,004 kg 1 2.98¢€
c0s100980 touch panel stand 1,200 kg 1 275.00 €
c0s100981 Sealing brushes with steel profiles 0,245 kg 1 91.80€
c0s100983 cable gland M25x1,5 0,036 kg 1 434 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s100992 flange mount adapt left, Robowalk Exp. B Please choose variant. not specified 1 onrequest
c0s100992va01 flange mount adapt left, Robowalk Exp. B for Robowalk Expander150-50 3,250 kg 1 424.00 €
€0s100992va02 flange mount adapt left, Robowalk Exp. B for Robowalk Expander 170/190-65 3,250 kg 1 555.00 €
c0s100993 turning unit left, Robowalk Exp. B Please choose variant. not specified 1 onrequest
€0s100993va01 turning unit left, Robowalk Exp. B for Robowalk 150-50 4,500 kg 1 1,013.00€
€0s100993va02 turning unit left, Robowalk Exp. B for Robowalk 170/190-65 4,500 kg 1 1,114.00€
c0s10099%4 Robowalk Exp. B complete left Please choose variant. not specified 1 3,116.00€
€0s100994va01 Robowalk Exp. B complete left for robowalk 150-50 12,700 kg 1 3,229.00€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s100994va02 Robowalk Exp. B complete left for robowalk 170/190-65 12,700 kg 1 3,462.00€
€0s100995 Horizontal bar, Robowalk Exp. F Please choose variant. 1,350 kg 1 onrequest
c0s100995va01 Horizontal bar, Robowalk Exp. F for Robowalk 150-50 1,350 kg 1 435.00 €
c0s100995va02 Horizontal bar, Robowalk Exp. F for Robowalk 170/190-65 1,700 kg 1 481.00 €
c0s100995va03 Horizontal bar, Robowalk Exp. F for Robowalk locomotion 2,500 kg 1 453.00 €
c0s100996 plastic cap, black, 30x30x2 0,018 kg 1 0.75€
cos100997 sliding disc, Robowalk Exp. B 0,060 kg 1 58.70€
c0s100997-03 sliding disc, Robowalk Exp. B 0,050 kg 1 89.60 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list  date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s100998 turning shaft long, Robowalk Exp. B 1,650 kg 1 177.00 €
c0s100998-04 turning shaft short RWE for pulsar speed 0,680 kg 1 176.00 €
cos100999 guiding bar left, Robowalk Exp. B 0,600 kg 1 435.00 €
c0s101000 Graphic UserTerminal TouchPanel GUI 2,250 kg 1 2940.00€
€0s101000va01 Graphic UserTerminal TouchPanel GUI UserTerminal TouchPanel GUI treadmill 2,250 kg 1 2,940.00 €
€0s101000va02 Graphic UserTerminal TouchPanel GUI UserTerminal TouchPanel GUI torqualizer 2,250 kg 1 2,940.00€
c0s101000_BT Bluetooth Herzfrequenz Messung not specified 1 onrequest
cos101000_FTMS-V1.0 FTMS Bluetooth Firmware V1.0 not specified 1 onrequest
Bluetooth FTMS
Firmuware
c0s101000_test-place_MCUG Test place MCU6 not specified 1 3,061.00€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s101000aaa UT Touchpanel GUI Adapt Cable quick stop 0,003 kg 1 35.60€
c0s101000ab UT Touchpanel GUI wiring SBC3 0,020 kg 1 8.05€
cos101000ac UT Touchpanel GUI cable S501 0,020 kg 1 14.40 €
cos101000ad UT Touchpanel GUI cable S510 0,020 kg 1 11.70€
c0s101000ae UT Touchpanel GUI service cover lever 0,010 kg 1 2.30€
cos101000ah UT Touchpanel GUI cable S700 0,003 kg 1 6.50 €
c0s101000ai-01 UT Touchpanel GUI cable X201 0,020 kg 1 5.32€
cos101000al UT Touchpanel GUI cable S701 0,020 kg 1 16.80 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos101000al-be UT Touchpanel GUI cable S701 0,020 kg 1 16.80 €
c0s101000am UT Touchpanel GUI cable S702 0,020 kg 1 46.10€
cos101000a0 UT Touchpanel GUI cable S4 0,100 kg 1 15.50 €
cos101000ap UT Touchpanel GUI Windows 10loT Image not specified 1 onrequest
c0s101000aq UT Touchpanel GUI cable jack socket 0,100 kg 1 20.60€
cos101000ar UT Touchpanel GUI cable PE PC-housing 0,100 kg 1 13.20€
c0s101000as-01 UT Touchpanel GUI cable e-module 0,100 kg 1 47.80€
c0s101000au UT Touchpanel GUI cable RS232 0,020 kg 1 9.29€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos101000av UT Touchpanel GUI cable Display isol. 0,020 kg 1 37.20€
c0s101000ax on-off-switch MCUG preassembled 0,016 kg 1 27.10€
cos101000ba Bridge Plug stop interface MCU6 0,339 kg 1 2540€
c0s101000bd User Touchpanel GUI PC 0,200 kg 1 293.00€
cos101000e UT Touchpanel GUI power switch 0,020 kg 1 13.20€
c0s101000f-02 UT Touchpanel GUI keyboard film 0,020 kg 1 61.60 €
c0s101000g-01 UT Touchpanel GUI Touch Display Modul 0,645 kg 1 1,087.00€
c0s101000h-02 UT Touchpanel GUI flat cable 0,020 kg 1 440€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s101000i-01 User Touchpanel GUI PC not specified 1 onrequest
c0s101000; User Terminal Touchpanel GUI front plate 0,020 kg 1 23.30€
c0s1010001-02 UT Touchpanel GUI basic housing plate 0,090 kg 1 29.60€
c0s1010000 UT Touchpanel GUI PC random memory 2GB 0,020 kg 1 87.00€
€0s101000g-01ral9010 User Touchpanel GUI adapter 0,450 kg 1 onrequest
c0s101000r UT Touchpanel GUI threaded bone 0,010 kg 1 15.50 €
cos101000s UT Touchpanel GUI NFC attachment 0,003 kg 1 15.50 €
cos101000t UT Touchpanel GUI strain relief plate 0,010 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos101000v UT Touchpanel GUI PC housing mount. 0,600 kg 1 980.00 €
c0s101000-V1.2.0191 MCUG6 Software Version: 1.2.0191 not specified 1 onrequest
c0s101000-v1.5.0261 MCUG6 Software Version: 1.5.0261 not specified 1 onrequest
cos101000y User Terminal Touchpanel GUI front shell 0,020 kg 1 795.00 €
c0s101001 guiding bar right, Robowalk Exp. B 1,300 kg 1 435.00 €
c0s101002 cover disc, Robowalk Exp. B 0,058 kg 1 70.70€
cos101004 Clam Cleat, Robowalk Exp. 0,018 kg 1 5.57€
cos101005 adjustm. unit locking pin, Robowalk Exp. 0,038 kg 1 4530€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos101006 adjustment unit, Robowalk Exp. 0,400 kg 1 203.00 €
cos101007 roller unit, Robowalk Exp. 0,150 kg 1 56.00 €
cos101007¢c flanged bush 0,004 kg 1 1.31€
cos101010 MCU6 Modular Control Unit h/p/cosmos 0,010 kg 1 394.00 €
c0s101010-01 MCU6 Modular Control Unit h/p/cosmos 0,010 kg 1 452.00 €
c0s101010-01fw MCU6 Modular Control Unit h/p/cosmos 0,010 kg 1 452.00 €
c0s101010fw_1.25.0053 MCUG6 Firmware Version: 1.25.0053 not specified 1 onrequest
c0s101012 flange mount adapt right, Robowalk Exp. Please choose variant. not specified 1 onrequest
c0s101012va01 flange mount adapt right, Robowalk Exp. for Robowalk Expander 150-50 3,250 kg 1 424,00 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s101012va02 flange mount adapt right, Robowalk Exp. for Robowalk Expander 170/190-65 4,000 kg 1 555.00 €
c0s101013 turning unit right, Robowalk Exp. B Please choose variant. not specified 1 onrequest
c0s101013va01 turning unit right, Robowalk Exp. B for robowalk 150-50 4,500 kg 1 1,012.00€
c0s101013va02 turning unit right, Robowalk Exp. B for robowalk 170/190-65 5,000 kg 1 1,114.00€
c0s101018 driving motor treadmill clima chamber not specified 1 onrequest
c0s101018va01 driving motor treadmill clima chamber 10kph xx/50865 25,000 kg 1 891.00 €
c0s101018va02 driving motor treadmill clima chamber 22 kph xx/50 25,000 kg 1 627.00 €
c0s101018va03 driving motor treadmill clima chamber 30kph xx/50 25,000 kg 1 654.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s101018va04 driving motor treadmill clima chamber 25kph xx/65 25,000 kg 1 719.00 €
c0s101018va05 driving motor treadmill clima chamber 30kph xx/65 26,000 kg 1 999.00 €
c0s101018va06 driving motor treadmill clima chamber 40kph xx/65 26,000 kg 1 1,012.00€
cos101019 twin castors for control desk 4 pieces 1,250 kg 1 236.00 €
c0s101020 Robowalk Exp. B complete right Please coose variant. not specified 1 onrequest
€0s101020va01 Robowalk Exp. B complete right for Robowalk Expander 150-50 12,700 kg 1 3,229.00€
€0s101020va02 Robowalk Exp. B complete right for Robowalk Expander 170/190-65 14,000 kg 1 3,462.00€
co0s101021 Robowalk Exp. F complete left 4,050 kg 1 1,303.00€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s101022 Robowalk Exp. F complete right 4,050 kg 1 1,303.00€
c0s101023 Robowalk Exp. F complete horizontal Please choose variant. not specified 1 onrequest
€0s101023va01 Robowalk Exp. F complete horizontal for Robowalk Expander 150-50 2,400 kg 1 764.00 €
€0s101023va02 Robowalk Exp. F complete horizontal for Robowalk Expander 170/190-65 3,500 kg 1 817.00€
c0s101023va03 Robowalk Exp. F complete horizontal for Robowalk Expander Airwalk se 135 4,000 kg 1 1,365.00€
cos101024 bearing bushing horizontal, Robowalk F 0,020 kg 1 24.80€
cos101025 sliding adapter horizontal, Robowalk F 0,565 kg 1 335.00€
c0s101026 sliding adapter handle, Robowalk F 0,040 kg 1 20.30€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos101027 guiding bar left, Robowalk Exp. F 1,800 kg 1 409.00 €
c0s101028 guiding bar right, Robowalk Exp. F 1,800 kg 1 408.00 €
cos101029 set srew with cone, M6x20 A2K 0,001 kg 1 0.20€
cos101030 Wedge lock washer 13,0x19,5x2,5 0,001 kg 1 2.70€
cos101031 plastic cap M16 0,002 kg 1 1.20€
c0s101032 plastic cap M8 0,001 kg 1 0.47€
cos101033 hexagon head screw, M8x140 A2K 8.8 0,056 kg 1 214 €
c0s101034 hexagon head screw, M8x60 A2K 8.8 0,026 kg 1 1.20€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos101035 countersunk screw, M8x30 A2K 10.9 0,012 kg 1 0.36€
c0s101036 cylinder head screw, M6x40 A2K 8.8 0,010 kg 1 0.15€
cos101044 pulling rope black by meter,Robowalk Exp 0,035 kg 1 497 €
cos101045 pulling rope grey by meter, Robowalk Exp 0,033 kg 1 14.00 €
c0s101046 data wiring Polar WIND system ve/sat 0,040 kg 1 3540€
cos101047 starter-kit spare parts running-machine 27,500 kg 1 1,662.00€
cos101049 control protocol firstmeasuring DE 0,005 kg 1 onrequest
c0s101053ral9007 170-190/65 roller cover small right side wave cover ral9007 grey aluminium 0,320 kg 1 60.10€
c0s101053ral9010 170-190/65 roller cover small right side wave cover ral9010 pure white 0,320 kg 1 60.10€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s101054ral9007 170-190/65 roller cover small left side wave cover ral9007 grey aluminium 0,320 kg 1 60.10€
€0s101054ral9010 170-190/65 roller cover small left side wave cover ral9010 pure white 0,320 kg 1 60.10 €
cos101055 connector power supply 4pin touch panel 0,001 kg 1 15.00 €
cos101063 lens head screw M5x6 A2K 10.9 0,003 kg 1 0.88€
c0s101065 fold hinge 50x31 stainless steel 0,018 kg 1 1510 €
cos101066 fold hinge 70x70 stainless steel 0,056 kg 1 23.40€
cos101067 spacer block wheelchair ramp 0,005 kg 1 99.90€
c0s101068 lightbarrier interrupt wheelchair ramp 0,040 kg 1 2410€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list  date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos101073 cylinder head srew M8x30 A2K GEFU 2 0,016 kg 1 0.99€
c0s101075 Hexagon nut M12 A2K 0,009 kg 1 0.32€
cos101079 angle plug solid rubber EU 0,100 kg 1 26.90€

cos101083 Retrofitting-Kit Hall-Sensor 0,350 kg 1 361.00 €
cos101084 PVC boot 0,004 kg 1 246€
cos101085 Power plug Brazil 250V / 20A 0,031 kg 1 25.50€
cos101092 Connector power plug Brazil 250V/20A 0,033 kg 1 25.50€
c0s101096 counter sunk screw US 6/32 inch 6mm 0,001 kg 1 0.13€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos101099 heating sleeve for lifting motor 0,120 kg 1 93.20€
c0s101100 Kabelstecker Heizmanschette Hubmotor 0,120 kg 1 93.20€
cos101101 cable hall sensor 5m S14L 0,250 kg 1 26.90€
c0s101102 adapter power plug Brazil to Euro 0,120 kg 1 60.10€
cos101105 lens head screw M5x12 A2K 10.9 0,002 kg 1 040€
cos101115 Inductive sensor 0,070 kg 1 153.00 €
cos101116 reflexion light barrier 0,010 kg 1 247.00 €
cos101117 cable box reflexion light barrier 0,010 kg 1 40.20 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos101118 inclination sensor digital +/-15° 0,250 kg 1 1595.00€ e
. P,

co0s101121-02 torsion wave installed throughout 951,290 kg 1 27,988.00 €

cos101149 lifting cylinder 350x110 80,000 kg 1 3,783.00€

cos101158 hexagonal bolt M12x25 0,010 kg 1 1.72€

c0s101168-01 hydraulic aggregate saturn 450-300 250,000 kg 1 44,357.00 €

cos101169 clutch 0,500 kg 1 532.00 €

cos101170 levelguard 2,000 kg 1 1,275.00€

c0s101171 backup element for high pressure filter 7,000 kg 1 172.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s101172 SUN valve 10-420 bar 0,150 kg 1 183.00 €
c0s101173 proportional direction control valve 7,000 kg 1 7,324.00 €
cos101174 SUN valve 70-280 bar 0,150 kg 1 203.00 €
cos101175 replacement element return line filter 0,300 kg 1 203.00 €
cos101176 axial cock pump 57ccm/U 24,000 kg 1 6,396.00 €
cos101177 SUN valve 1,000 kg 1 236.00 €
cos101178 SUN valve magnet coil 24DCV 0,150 kg 1 80.00€
c0s101180-01 distributor box hydraulic 3,500 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s101186 hydraulic cylinder 110/80-350 both-sided 50,000 kg 1 3,320.00€
c0s101187ral9007 main frame 190/65 locomotion 89,021 kg 1 4,050.00 €
c0s101187ral9010 main frame 190/65 locomotion 89,021 kg 1 4,050.00€
€0s101194ral9007 movable holder terminal 150/50 13,651 kg 1 1,045.00 €
€0s101194ral9010 movable holder terminal 150/50 13,651 kg 1 1,045.00 €
cos101198ral9007 pillar for handrail locomotion 190/65 8,976 kg 1 520.00 €
c0s101198ral9010 pillar for handrail locomotion 190-65 8,976 kg 1 520.00 €
c0s101208-01ral9007 Handrail separable pillar mounted 4,340 kg 1 402.00 €
c0s101208-01ral9010 Handrail separable pillar mounted 4,340 kg 1 402.00 €
cos101210 UserTerminal Touchpanel with paracontrol Please choose variant. 5,700 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s101210va01 UserTerminal Touchpanel with paracontrol UserTerminal Touch slip-on handrail 5,000 kg 1 3,538.00€
€0s101210va02 UserTerminal Touchpanel with paracontrol UT mounted with clamps on handrail 7,000 kg 1 3,957.00€
cos101211 Cover cap plastic d=60x2mm black 0,016 kg 1 1.12€
c0s101212 fine pitch screw 6mm 0,001 kg 1 0.13€
c0s101216ral9007 Frontblech locomotion 190/65 3p 1,092 kg 1 99.90€
c0s101216ral9010 Frontblech locomotion 190/65 3p 1,092 kg 1 99.90€
c0s101217ral9007 Trittblech rechts locomotion 190-65 9,950 kg 1 847.00 €
c0s101217ral9010 Trittblech rechts locomotion 190-65 9,950 kg 1 847.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s101218ral9007 tread plate left locomotion 190/65 9,950 kg 1 847.00 €
c0s101218ral9010 tread plate left locomotion 190/65 9,950 kg 1 847.00 €
c0s101222 mount for rope guidance roll, sidebar 0,300 kg 1 269.00 €
€0s101223ral9007 bent tube cable guidance 23,364 kg 1 2,033.00€
€0s101224ral9007 savety arch bent tube, rope guidance 33,934 kg 1 2,033.00€
c0s101240 safety arch horizontal bar mounted 17,000 kg 1 1,894.00€
€0s101241ral9007 safety arch horizontal bar 16,255 kg 1 1,098.00 €
c0s101251 deep groove ball bearing 62202 0,065 kg 1 50.80 €
c0s101252 hexagon head srew w. full thread M10x25 0,024 kg 1 0.66 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s101253 hexagonal bolt M12x80 8.8 0,074 kg 1 1.99€
cos101254 hexagon head srew M10x35 8.8 0,020 kg 1 0.88€
cos101255 mount for rope guidance roll, crossbar 0,300 kg 1 290.00 €
cos101256 hexagon head screw M10x50 10.9 0,020 kg 1 1.07€
cos101259 LTG MCU - FU locomotion 3p 0,002 kg 1 52.00€
cos101276 hexagon head screw M10x4 A2K 8.8 not specified 1 0.20€
cos101279 bleender chain 0,219 kg 1 180.00 €
c0s101285 motor protection relay 0,9 - 1,25A 0,200 kg 1 91.80€
c0s101291-01d zebris U- shims M8x2 0,001 kg 1 3.61€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s101295ral9007 HR 150/50 short 1S straight pillar right 8,995 kg 1 255.00 €
c0s101296ral9007 HR 150/50 short 1S straight pillar left 9,011 kg 1 255.00 €
c0s101298 HR 150/50 short 1p straight guide bush 0,022 kg 1 22.30€
c0s101301-01ral9007 Mounting bracket short left Robowalk Exp 3,305 kg 1 203.00 €
c0s101301-01ral9010 Mounting bracket short left Robowalk Exp 3,305 kg 1 203.00 €
c0s101302 Digital /0 module isolated 0,500 kg 1 508.00 €
c0s101304 Indicating labels WAGO terminal X 0,008 kg 1 2240€
cos101305 Indicating labels WAGO terminal 1 0,008 kg 1 2240€
cos101308 cable MCU - speedsensor xx/65 0,175 kg 1 56.00 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos101309 Hexagon socket set screws M6x5 A2K 0,001 kg 1 0.15€
cos101310 cable MCU - speedsensor xx/50 0,175 kg 1 56.00 €
cos101311 cable MCU - speedsensor LT 0,175 kg 1 56.00 €
c0s101321-01 Connection plug for Profibus 0,034 kg 1 188.00 €
c0s101323 Compact coupling relays 0,100 kg 1 99.90€
c0s101325 Module reseption 2-fold, 80x80mm 0,040 kg 1 15.00 €
cos101326 Remote maintenance module 0,300 kg 1 2,657.00€
€0s101326-01 Remote maintenance module 0,199 kg 1 2,285.00€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos101327 Connector for Profibus M12 0,040 kg 1 86.70€
c0s101328 Double-sided tape 50m x38mm 0,160 kg 1 161.00 €
cos101336 Robowalk Exp. F complete left 4,050 kg 1 1,303.00€
cos101337 Robowalk Exp. F complete right 4,050 kg 1 1,303.00€
c0s101338 Robowalk Exp. F horizontal bracket 4,000 kg 1 1,365.00 €
c0s101340-01ral9007 Mounting bracket short ri. Robowalk Exp. 3,305 kg 1 203.00 €
€0s101340-01ral9010 Mounting bracket short ri. Robowalk Exp. 3,305 kg 1 203.00 €
c0s101346 Roller guide for ve/sat adapter vertical 1,090 kg 1 80.00€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos101347 Belt guide roller xx/75 adapter horiz. 3,850 kg 1 161.00 €
c0s101348 Belt guide roller xx/100 adapter horiz. 4,500 kg 1 183.00 €
cos101349 Belt guide roller xx/125 adapter horiz. 5,000 kg 1 203.00 €
cos101350 Belt guide roller ve/sat wave assembled 1,520 kg 1 375.00€
c0s101353 Hexagon head cap screw M10x70 A2K 8.8 0,035 kg 1 0.36 €
cos101354 cylinder head screw M10x60 A2K 8.8 0,035 kg 1 0.36€
c0s101356ral9010 support safety arch right locom. 150/50 0,910 kg 1 99.90€
c0s101357ral9010 support safety arch left locom. 150/50 0,910 kg 1 99.90€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s101363ral9010 Half clamp safety arch locomotion 0,187 kg 1 158.00 €
cos101364 150/50 safety arch bracke ri. LM mounted 2,250 kg 1 520.00 €
cos101365 150/50 safety arch bracke le. LM mounted 2,450 kg 1 316.00 €
cos101369 waist belt Size XL (incl. leash+magnet) 0,050 kg 1 121.00 €
c0s101377 ring screw M8x25 A2K 0,052 kg 1 1.99€
cos101378 Handle for cabinet cos100935 not specified 1 66.80 €
cos101383 power supply med 230VAC 12VDC-30VA 0,180 kg 1 281.00€
cos101384 adapter for mounting rail 0,300 kg 1 8.65€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s101388ral9007 xx/125 safety arch cross beam 220cm 10,760 kg 1 692.00 €
cos101389 xx/65 cross tube safety arch 220cm label 11,500 kg 1 813.00 €
cos101390 xx/125 cross tube safety arch assembled 12,500 kg 1 1,331.00€
c0s101391 Ramp acceptance spare ve/sat 3,790 kg 1 46.50 €
c0s101391ral9007 Ramp acceptance spare ve/sat 3,790 kg 1 64.10 €
c0s101391ral9010 Ramp acceptance spare ve/sat 3,790 kg 1 64.10€
€0s101392 Ramp acceptance centre bolt ve/sat 0,200 kg 1 52.00 €
c0s101395ral9007 xx/75 safety arch cross beam 220cm 9,069 kg 1 679.00 €
cos101396 xx/75 cross tube safety arch 220cm label 9,000 kg 1 800.00 €
cos101397 xx/75 cross tube safety arch assembled 10,500 kg 1 1,315.00€
cos101399 150/50 cross tube safetyarch 220cm label 9,200 kg 1 779.00 €
cos101400 150/50 cross tube safety arch assembled 11,100 kg 1 1,303.00€
c0s101405ral9007 Add. bearing for safety arch HR 65 short 0,841 kg 1 89.90€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s101405ral9010 Add. bearing for safety arch HR 65 short 0,841 kg 1 89.90€
c0s101408 E-module comet 3.0 assembled not specified 1 onrequest
c0s101408va01 E-module comet 3.0 assembled E-module comet 1p 3.0 assembled 12,500 kg 1 onrequest
€0s101408va02 E-module comet 3.0 assembled E-module comet 3p 3.0 assembled 12,500 kg 1 3,253.00€
c0s101413 Adapter power plug UK to Euro 0,120 kg 1 60.10€
cos101415 Steering wheels for control desk (set) 0,500 kg 1 375.00 €
cos101416 socket adapter for steering wheels 0,285 kg 1 80.00€
c0s101418-01 emergency switch ext. magnet+ ripcord 1,100 kg 1 394.00 €
c0s101418cl Additional emergency stop 0,800 kg 1 558.00 €
cos101418cl-a Foot-operated coarse hand, buzzer black not specified 1 onrequest
cos101419 Replacement-Kit Touch Panel PC 4,400 kg 1 3,830.00€
cos101421 sprocket belt for saturn 450-300 0,200 kg 1 779.00 €

M:\Service\Servicemanual\9 ’Preististent20220523 "hpcosmos’ spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list  date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture

c0s101426 Running belt for dog treadmill 170/65 11,250 kg 1 953.00 €

c0s101431 Isolation transformer 1840VA 230V UL 13,500 kg 1 onrequest
c0s101435 Washer Form B D=21 A2K not specified 1 0.79€
c0s101436 hexagon nut M20 A2K 0,028 kg 1 3.47€
c0s101440 450-300 base frame + elevation system 3695,030 kg 1 106,105.00 €
cos101441 450-300 side member left welded 198,940 kg 1 3,902.00€
c0s101442 450-300 side member right welded 198,870 kg 1 3,902.00€
c0s101443 450-300 cross member motor fixation 589,960 kg 1 12,536.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos101444 450-300 welded front crossmember 164,390 kg 1 3,321.00€
cos101445 450-300 rear crossmember welded 198,050 kg 1 3917.00€
cos101446 450-300 headstock vertically on the left 133,720 kg 1 2,657.00€
cos101447 450-300 headstock right vertical 133,720 kg 1 2,657.00€
c0s101448 cylinder head screw M16x80 A2K 8.8 0,074 kg 1 0.79€
cos101449 cylinder head bolt M20x50 0,030 kg 1 0.79€
cos101450 450-300 subframe hydraulic components 3589,640 kg 1 114,775.00 €
cos101451 450-300 intake pipe clamps right 0,880 kg 1 99.90 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s101452 450-300 intake pipe clamps left 0,880 kg 1 99.90 €
c0s101453 450-300 Pipe Clamp SRS 3016 PP 0,270 kg 1 18.30 €
cos101454 450-300 screwed GEH 13 M 18 not specified 1 20.30€
cos101455 450-300 T gland T NW 13 HF not specified 1 80.00€
cos101456 450-300 NW 13 fitting V RF not specified 1 60.10 €
cos101457 hydraulic line straight long 1,250 kg 1 121.00 €
cos101458 hydraulic line straight short 0,620 kg 1 97.70€
cos101459 hydraulic line angle 0,540 kg 1 97.70€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos101460 hydraulic line side long 1,640 kg 1 139.00 €
c0s101461 hydraulic line side short 1,240 kg 1 87.80€
c0s101462 hydraulic line back up 0,460 kg 1 71.90€
c0s101463 hydraulic line back down 0,540 kg 1 71.90€
cos101464 hydraulic line front right 1,120 kg 1 87.80 €
cos101465 hydraulic line front right 1,290 kg 1 109.00 €
cos101466 bulkhead SC16LL 0,150 kg 1 16.10€
cos101467 Hydraulic hose back inside on the left 0,670 kg 1 194.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s101468 Hydraulic hose outer rear left 0,670 kg 1 194.00 €
c0s101469 Hydraulic hose inside the front left 0,670 kg 1 194.00 €
cos101470 Hydraulic hose outside front left 0,650 kg 1 194.00 €
cos101471 Hydraulic hose back inside right 0,670 kg 1 194.00 €
c0s101472 Hydraulic hose behind the far right 0,670 kg 1 194.00 €
c0s101473 Hydraulic hose inside the front right 0,670 kg 1 194.00 €
cos101474 Hydraulic hose outside front right 0,650 kg 1 194.00 €
c0s101476 Profibus module SPS CP 342-5 0,300 kg 1 2,748.00€
cos101477 RFI Filter 127A 18,000 kg 1 1,622.00€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture

c0s101481 joint buck floating bearing left 254,930 kg 1 11,277.00 €

c0s101482 joint buck fixed bearing right 254,930 kg 1 11,277.00 €

c0s101489 bearing carrier 243,950 kg 1 13,267.00€
deviating shaft mont

cos101490 bearing carrier 242,520 kg 1 13,267.00 €
deviating shaft mont

c0s101498 bearing carrier diviating shaft moun. le 90,360 kg 1 10,349.00 €

cos101499 bearing carrier deviating shaft moun. ri 90,190 kg 1 10,349.00 €

c0s101503 1,900 kg 1 13.00 €

c0s101504 0,780 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf




Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos101506 angular ball bearing 7204-B-2RS-TVP 0,300 kg 1 203.00 €
c0s101507 angular ball bearing 7304-B-2RS-TVP 0,200 kg 1 210.00 €
cos101508 linear bearing 2,072 kg 1 601.00 €
cos101509 cylinder bolt 0,018 kg 1 1.33€
cos101510 cylinder head screw M16x40 A2K 8.8 0,086 kg 1 1.99€
cos101511 cylinder head screw M16x105 0,086 kg 1 1.99€
cos101513 Spherical roller bearings 22316-E1 6,380 kg 1 800.00 €
c0s101514 1,600 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos101516 guiding wagon not specified 1 486.00 €
cos101517 running surface saturn 450-300 mounted 619,140 kg 1 76,595.00 €
cos101526 hexagonal bolt M12x25 0,010 kg 1 1.72€
cos101527 0,001 kg 1 0.08€
c0s101528 cylinder head screw M6x120 A2K 8.8 0,020 kg 1 0.56 €
c0s101529 0,002 kg 1 411€
c0s101530 0,001 kg 1 34.90€
c0s101531 0,001 kg 1 0.66 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s101532 top frame part mounted saturn 450-300 5545,800 kg 1 261,428.00 €
c0s101533 top frame side rail left 34,450 kg 1 7,962.00€
cos101534 top frame side rail right 34,450 kg 1 7,962.00€
cos101535 top frame cross bearer 270,450 kg 1 3,982.00€
cos101538 torque support belt adjust motor 1,790 kg 1 402.00 €
cos101539 counter plate belt deviation sensor 0,030 kg 1 161.00 €
cos101540 acceptance belt position sensor right 2,130 kg 1 999.00 €
cos101541 acceptance belt position sensor left 2,130 kg 1 999.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s101542 rail safety gate back drilled 1,810 kg 1 269.00 €
c0s101543 rail safety gate both sided drilled 10,920 kg 1 1,032.00 €
cos101544 rail safety gate front drilled 15,850 kg 1 587.00 €
cos101554 fitting key 16x10x90mm A 0,008 kg 1 0.24 €
cos101555 fitting key 18x11x70mm A 0,008 kg 1 0.24€
cos101556 Screw, hexagon head M6x16 A2K 8.8 0,026 kg 1 17.60 €
cos101557 hexagon screw M16x50 A2K 8.8 0,026 kg 1 510€
c0s101558 hexagon screw M16x70 A2K 8.8 0,026 kg 1 477€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos101559 hexagon screw M20x40 A2K 8.8 0,026 kg 1 7.09€
c0s101560 lens head screw M3x10 A2 8.8 0,026 kg 1 1.20€
cos101561 counter sunk screw M16x40 A2K 8.8 0,026 kg 1 8.62 €
cos101564 450-300 pully axle drive shaft 35,590 kg 1 1,237.00€
cos101565 pully motor 450-300 8,540 kg 1 468.00 €
cos101566 450-300 adjusting block drive motorboard 1,700 kg 1 177.00 €
cos101567 450-300 drive motor board 37,460 kg 1 2,324.00€
c0s101568 450-300 drive anchor distance article 4,650 kg 1 183.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos101569 450-300 engine mount strip terminal 4,720 kg 1 183.00 €
cos101570 450-300 arbor drivemotor adjustment 1,130 kg 1 80.00€
cos101571 450-300 servicebracket frozen 35,230 kg 1 641.00 €
cos101572 450-300 drive belt casing 2,770 kg 1 281.00€
cos101573 450-300 drive belt casing 8,910 kg 1 668.00 €
cos101574 450-300 drive belt casing 22,280 kg 1 932.00€
cos101575 450-300 speedsensor acceptance 0,410 kg 1 99.90€
c0s101577-01f acryl glass 70x20mm 0,010 kg 1 433€
cos101580 450-300 cog adapter 0,030 kg 1 60.10€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos101581 450-300 screw on bracket 0,030 kg 1 40.20 €
¥ il
S
G
N
c0s101582 450-300 limit switch angle up 0,160 kg 1 60.10 €
cos101583 450-300 limit switsch angle down 0,140 kg 1 60.10€
cos101584 CEE - adapter 16A plug - 32A coupling 0,550 kg 1 52.00€
c0s101584_S32_K16 CEE - adapter 32A plug - 16A coupling 0,550 kg 1 54.60 €
cos101585 3-phases socket tester 0,540 kg 1 130.00 €
cos101591 circuit incl. installation 450/300 320,000 kg 1 59,687.00 €
c0s101592 Apron including mounting 450/300 not specified 1 22,537.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos101595 pressure sprayer 400ml not specified 1 onrequest
c0s101606 rubbing compound 11 bottle 0,960 kg 1 onrequest
cos101609 rail system demand cabinet 450/300rs 0,525 kg 1 102.00 €
c0s101610 adj. foots Lastschaltschr. 450/300rs 0,050 kg 1 57.40€
c0s101612 wooden platform parawalk 4m not bevelled 25,000 kg 1 878.00 €
c0s101615 hatch for wheelchair ramp 150/50 right 2,200 kg 1 onrequest
c0s101616 hatch for wheelchair ramp 150/50 left 2,200 kg 1 onrequest
c0s101619 circlip for waves 16x1 0,001 kg 1 0.24€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s101620 power supply h/p/cosmos Touch Panel PC 0,300 kg 1 91.80€
c0s101640-01 therapists seat TM locomotion 150/50 3,700 kg 1 314.00 €
c0s101641ral9010 therapists seat TM locomotion guide 1,550 kg 1 281.00€
c0s101642 Hexagon head screw M8x90 A2K 8.8 0,045 kg 1 0.60 €
c0s10165 POLAR chest-belt rubber-band size M 0,016 kg 1 8.82€
c0s101656 Buzzer for MCU4/5 control board 0,001 kg 1 6.63 €
c0s101657-01aral9010 comet mounting bracket servo 0,840 kg 1 24.50€
c0s101657-01b spacer plate fix. motor cover 150/50 0,700 kg 1 3.83€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s101657-01b-BEral9010 spacer plate fix. motor cover 150/50 0,700 kg 1 3.83€
c0s101658 handle bar for demand cabinet 450/300rs 0,500 kg 1 83.90€
cos101660 cap nut M4 A2 0,007 kg 1 0.52€
c0s101661 lens head screw M4x30 A2S 10.9 0,002 kg 1 0.68 €
c0s101662 Levelling socket M6x30 D=29mm 0,160 kg 1 16.00 €
c0s101663 turning shaft short, Robowalk Exp. B PQ 0,850 kg 1 241.00€
cos101665 emergency stop button 16mmi incl. 2 NC 0,011 kg 1 80.10€
cos101667 knurled nut M8 nickel plated 0,004 kg 1 2.84€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s101668-01 threaded sleeve M16x1 stainless steel 0,024 kg 1 13.80 €
cos101669 position magnetic sensor for rip cord 0,007 kg 1 12.10€
c0s101672-01 Side panel load cabinet 450-300 not specified 1 271.00€
c0s101673 spring washer M12 A2K form B 0,003 kg 1 0.27€
cos101675 tie wrap with expansion anchor 0,100 kg 1 093€
cos101677 cable screw connection plastic M50 0,150 kg 1 8.16 €
c0s101678 counter nut plastic M50 0,015 kg 1 2.23€
c0s101682 Countersunk screw M5x40 A2 not specified 1 047€
c0s101685-01 Therapeutensitz Grundplatte mit Zapfen 1,450 kg 1 91.80€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s101689ral9007 Handrail extension 150-50 staight left 10,000 kg 1 779.00 €
c0s101693 interface board FU E720 3,7KW 0,028 kg 1 209.00 €
c0s101694 connecting cable 4G35 2,110 kg 1 27.20€
c0s101695 motor cable 4G25 1,700 kg 1 36.10€
cos101697 WAGO terminal 35mm? grey 0,086 kg 1 18.30 €
c0s101699-03 Ripcord incl. magnet and plastic clip 0,015 kg 1 15.80 €
cos101700 Position control PC software not specified 1 onrequest
c0s101705 Extention M25 auf M20 0,021 kg 1 8.62€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos101708 felt ring M5-100 0,005 kg 1 17.70€
cos101709 felt ring M5-65 0,005 kg 1 6.63 €
cos101710 grease fitting M10x1,5 0,070 kg 1 0.93€
cos101713 grease fitting M5x0,8 A 0,210 kg 1 0.66 €
c0s101715 cutting ring SV16 LL 0,010 kg 1 145€
cos101716 Cap nut UEM 16LL not specified 1 3.19€
cos101717 lock nut VSM NW16 0,015 kg 1 3.32€
cos101718 cylinder head screw M16x45 A2K 8.8 0,086 kg 1 1.99€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos101719 hexagon nut M20 drilled 0,028 kg 1 7.96€
c0s101720 Rope Switch inclusion 0,900 kg 1 60.10 €
cos101726 double-sided tape 50m x38mm 0,057 kg 1 18.30 €
cos101728 Cable lug 25mm 2 M8 galvanized 0,016 kg 1 2.26€
c0s101729-01 rope for ceiling mount syst 10m D=11.0mm 0,350 kg 1 116.00 €
cos101738 Fuse 10AT (fast) 6.3 x32 0,001 kg 1 1.45¢€
cos101739 plastic sleeve cross bar 60mm 0,030 kg 1 19.50 €
cos101747 Expander 1,25m grey 0,075 kg 1 3040€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s101748-01 universal noose robowalk 0,075 kg 1 28.40€
c0s101751 key field control demand 450-300 1,450 kg 1 99.90€
c0s101751-01 key field control demand 450-300 1,450 kg 1 99.90€
c0s101751-01ral9010 key field control demand 450-300 1,450 kg 1 99.90€
c0s101762 Druckluftverteiler Y-Set 0,255 kg 1 4410 €
cos101764 turning shaft short RWE for pulsar speed 0,850 kg 1 135.00 €
c0s101765-01 drive motor acceptance milled 450-300 68,600 kg 1 2,324.00€
c0s101766 hexagon screw M16x60 A2K 8.8 0,026 kg 1 5.10€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list  date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos101767 hexagon screw M16x120 A2K 8.8 0,026 kg 1 510€
cos101771 0,780 kg 1 1.79€

cos101774 hexagon screw M12x220 A2K 8.8 0,026 kg 1 7.09€
cos101775 hexagon screw M12x230 A2K 8.8 0,026 kg 1 7.09€
c0s101776 hexagon screw M12x240 A2K 8.8 0,026 kg 1 7.09€
cos101778 elastomer coupling EK1 60 2 1,100 kg 1 183.00 €
cos101780 relay mechanical 1x changer 0,018 kg 1 8.35€
c0s101781 Deputy motor belt left 450/300rs 21,000 kg 1 1,542.00€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list  date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture

cos101782 Deputy motor belt right 450/300rs 21,000 kg 1 1,542.00€

c0s101784 counter nut plastic M32 0,015 kg 1 252€
N
cos101786 conduit connector M50 0,250 kg 1 152.00 €
cos101788 cable screw connection plastic M32 0,150 kg 1 11.40€
c0s101789 holderclip relaissocket 0,005 kg 1 0.79€
cos101791 Motor protecting switch 32-38A,1S+10 0,150 kg 1 203.00 €
cos101798 Runningbelt for treadmill 150/50 LC 3,850 kg 1 252.00 €
cos101800 butt connector insulated 0,1-0,4mm? 0,380 kg 1 043€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s101802 Quickclamp, 12mm synthetical 0,100 kg 1 18.70 €
cos101805 tube curved frozen right 450/300 31,420 kg 1 1,675.00€
cos101808 pillar safety arch left 450/300 5,350 kg 1 1,275.00€
cos101809 roller cover rear 450/300 0,370 kg 1 144.00 €
cos101810 roller cover front 450/300 0,350 kg 1 144.00 €
cos101811 housing terminal block 450/300 2,110 kg 1 321.00€
c0s101812 coverage 450/300 0,010 kg 1 9.95€
c0s101813 guide block mounted 450/300 38,750 kg 1 8319.00€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos101827 Kegelrollenlager 30202-A DIN720 0,054 kg 1 4410€

c0s101828 Rillenkugellager 608-2RSR 0,016 kg 1 19.20 €

cos101829 Kegelrollenlager 30202-A DIN720 0,002 kg 1 3.98€

cos101840 tension block tension bolt 450/300 0,224 kg 1 83.90€ - 5

[ ] | %
c0s101841 distance ring switch off block 450/300 0,050 kg 1 28.10€ @
-

c0s101842 release disc quadrate 0,060 kg 1 40.20 €

c0s101843 side adapter switch off block 0,640 kg 1 263.00 €

cos101844 adapter guide block 0,780 kg 1 263.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf




Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos101845 cable angle switch off block 0,250 kg 1 99.90 €
c0s101848 switch becel safety arch 0,480 kg 1 155.00 €
c0s101862 Pedestal bearing 30202-A DIN720 0,054 kg 1 48.00€
cos101864 Tapered roller bearing 30202-A DIN720 0,054 kg 1 800.00 €
c0s101865 Tensioning roller D=40mm B=45mm 0,170 kg 1 85.20 €
cos101866 fitting key 16x10x90mm A 0,008 kg 1 0.24 €
cos101867 0,002 kg 1 0.15€
c0s101869-01gral9007 Front handrail tube 3,200 kg 1 224.00 €
c0s101869-01ral9007 Front handrail column 19,000 kg 1 939.00 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s101870-01dral9007 Rear handrail tube 19,000 kg 1 296.00 €
c0s101870-01ral9007 Rear handrail column 19,000 kg 1 422.00 €
cos101879 Lens head screw M8x30 V2A not specified 1 0.64 €
cos101880 Electric accessory mechanic 450/300 not specified 1 733.00 €
c0s101898 Kegelrollenlager 30202-A DIN720 0,080 kg 1 17.70€
c0s101931-01 handrail apron incl installation 450-300 150,000 kg 1 7,334.00€
co0s101947 Medical desktop power supply 20W 0,140 kg 1 60.10 €
cos101965 Additional effort for installation not specified 1 onrequest
cos101966 Ramp replacement saturn 450-300 12,030 kg 1 5,743.00€
cos101969 Hoist motor SH95 + capacitor sat 450/300 4,500 kg 1 932.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos101970 MCU-case external control panel climate 0,640 kg 1 90.60€
c0s101974-03 h/p/cosmos PC solution 15,070 kg 1 1,829.00 €
cos101975 Keyboard h/p/cosmos PC german not specified 1 50.80 €
cos101976 Keyboard h/p/cosmos PC english not specified 1 50.80€
c0s10198-01 Keyboard film blue EN h/p/cosmos MCU4+5 0,035 kg 1 80.00€
cos101985-WIN10 Memory disc SSD 32GB Windows 10 loT 0,065 kg 1 415.00 €
c0s101985-WIN10-01 Memory disc SSD 32GB Windows 10 loT 0,065 kg 1 441.00 €
c0s101986 Cover plate touch control cabinet ve/sat 1,710 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s101988 Cable-Kit for elev. motor replacement 0,400 kg 1 93.20€
c0s101989 Cable-Kit for elev. motor replacement 0,400 kg 1 93.20€
c0s10198-es Keyboard film blue EN h/p/cosmos MCU4 0,061 kg 1 onrequest
cos10198pmp-de Keyboard film OEM pro med plus DE 0,061 kg 1 80.00€
c0s10198-ru Keyboard film blue RU h/p/cosmos MCU4+5 0,061 kg 1 99.90€
cos10199 Keyboard film green EN OEM MCU4/MCU5 0,035 kg 1 80.00€
cos101990 AC brake motor MAW ladder 0.75 kW 8,000 kg 1 1,987.00€
c0s101993 8-Port Gigabit Switch RJ45 0,522 kg 1 241.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s10199%4 Network Cable Cat5e Flex 0,045 kg 1 3.7€
€0s102000-02gwral9010 main frame 150/50 NT 65,000 kg 1 1,228.00€
c0s102000-02ral250s main frame 150/50 NT 65,000 kg 1 1,228.00€
€0s102000-02ral9010 main frame 150/50 NT 65,000 kg 1 1,228.00€
c0s102000-02ral9010-BE main frame 150/50 LC 65,000 kg 1 1,228.00€
c0s102001 User Terminal assembled Please choose variant. not specified 1 onrequest
c0s102001va01 User Terminal assembled User Terminal h/p/cosmos with ripcord 1,450 kg 1 1,065.00 €
c0s102001va02 User Terminal assembled User Terminal h/p/c with ripcord WIND 1,450 kg 1 1,265.00€
c0s102001va03 User Terminal assembled User Terminal LT with ripcord 1,450 kg 1 800.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102001va04 User Terminal assembled User Terminal LT with ripcord and WIND 1,450 kg 1 999.00 €
c0s102001va05 User Terminal assembled User Terminal OEM EN with ripcord 1,450 kg 1 1,065.00 €
c0s102001va06 User Terminal assembled User Terminal Proxomed with ripcord 1,450 kg 1 1,079.00€
c0s102001va07 User Terminal assembled UserTerminal h/p/cosmos ladder ergometer 1,450 kg 1 999.00 €
c0s102001va08 User Terminal assembled User Terminal LT ladder ergometer 1,450 kg 1 747.00 €
c0s102001va09 User Terminal assembled User Terminal ProMedPlus DE with ripcord 1,450 kg 1 1,355.00€
c0s102001va10 User Terminal assembled User Terminal pluto DE ripcord 1,450 kg 1 1,065.00€
c0s102001va11 User Terminal assembled User Terminal pluto LT ripcord 1,450 kg 1 1,065.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102001va12 User Terminal assembled User Terminal PHYSIOMED DE ripcord 1,450 kg 1 1,065.00€
c0s102001va13 User Terminal assembled User Terminal pluto Proxomed DE ripcord 1,450 kg 1 1,065.00 €
c0s102001va14 User Terminal assembled User Terminal pluto OEM EN ripcord 1,450 kg 1 1,065.00€
c0s102001va15 User Terminal assembled User Terminal pluto LT ripcord Schiller 1,450 kg 1 1,065.00€
€0s102002 plain washer M6 A2 0,001 kg 1 0.23€
c0s102004 cylinder head screw M10x130 A2K 8.8 0,035 kg 1 3.19€
cos102005 cable junction box 0,296 kg 1 30.80€
c0s102011ral9007 handrail 150-50 adj. front support 13,675 kg 1 335.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102011ral9010 handrail 150-50 adj. front support 13,675 kg 1 335.00€
€0s102012ral9007 handrail 150-50 adj. support back right 5,665 kg 1 255.00 €
c0s102012ral9010 handrail 150-50 adj. support back right 5,665 kg 1 255.00 €
c0s102013ral9007 handrail 150-50 adj. support back left 5,665 kg 1 255.00 €
€0s102013ral9010 handrail 150-50 adj. support back left 5,665 kg 1 255.00 €
c0s102014-01ral250s handrail 150-50 adjustable bar 6,816 kg 1 203.00 €
€0s102014-01ral9007 handrail 150-50 adjustable bar 6,816 kg 1 203.00 €
€0s102014-01ral9010 handrail 150-50 adjustable bar 6,816 kg 1 203.00 €
c0s102015-01 handrail adjustable side arm 2,548 kg 1 468.00 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102015a-02 locking bar for adjustable handrail 1,719 kg 1 269.00 €
c0s102015b-01 adjustable handrail swivel arm 0,480 kg 1 150.00 €
c0s102016 robowalk fixation mercury 0,220 kg 1 42.80€
c0s102019ral9007 rollercover rear 150/50 0,195 kg 1 21.20€
€0s102019ral9010 rollercover rear 150/50 0,195 kg 1 21.20€
c0s102020 robowalk expander B installation support 0,420 kg 1 95.80€
c0s102041 machanic access ramp for saturn 450/300 441,000 kg 1 19,004.00 €
cos102041a adjustment iron sheet 450/300 2,620 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos102041aa Access ramp mechanism raw 19,840 kg 1 onrequest
c0s102041aaa plastic plate ramp 450/300 not specified 1 onrequest
c0s102041aa-ral9007 Access ramp mechanism 450/300 19,840 kg 1 onrequest
cos102041ad forkshakle 0,330 kg 1 onrequest
c0s102041af set-in nozzle 0,650 kg 1 onrequest
cos102041ag lever gib 0,140 kg 1 onrequest
cos102041ah Combilever 7,180 kg 1 onrequest
c0s102041a; hoist motor lever 1,550 kg 1 onrequest
cos102041ak distancering 0,020 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos102041al connecting plate 0,180 kg 1 onrequest
c0s102041am bump plate 0,300 kg 1 onrequest
cos102041an limit switch holder 0,290 kg 1 onrequest
c0s102041a0 Sideholder tinplate 4,910 kg 1 onrequest
cos102041ap pressure distrbutor tinplate 1,370 kg 1 onrequest
cos102041aq elevation motor frame welded 62,270 kg 1 onrequest
c0s102041aqg-ral9007 elevation motor frame not specified 1 onrequest
cos102041ar flange plate ramp slim 1,580 kg 1 onrequest
cos102041as rampflange 0,800 kg 1 onrequest

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos102041at sidestrap tinplate 2,620 kg 1 onrequest
c0s102041au sideholder left 2,620 kg 1 onrequest
cos102041av side paneling rechts adapter 2,610 kg 1 onrequest
c0s102041ax Rear trim mounting bolt not specified 1 onrequest
cos102041ay three layer slap right 450-300 not specified 1 onrequest
cos102041az three layer slap left 450-300 71,990 kg 1 onrequest
cos102041c frame paneling not specified 1 onrequest
c0s102041c-ral9007 ramp paneling 31,340 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list  date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture

cos102041e Fastening feed plate not specified 1 onrequest

c0s102041f-ral9007 450-300 headstock right vertical 1,900 kg 1 onrequest

c0s102041h side frame pressure distribution plate 0,270 kg 1 onrequest i

\
ST
B
s
A

RS

i
an

<1

c0s102041h-ral9007 side frame pressure distribution plate 0,270 kg 1 onrequest i ‘
oy ) D
/4/ ) N
€0s102041i bush insert laserpiece 2,550 kg 1 onrequest
€0s102041j-ral9007 bush insert 2550,000 kg 1 onrequest
c0s1020410 Ramp floor cross member welded 1192,000 kg 1 onrequest
€0s1020410-ral9007 Ramp floor cross member ramp 11,920 kg 1 onrequest
c0s102041r ground survery front raw not specified 1 onrequest

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list  date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture

€0s102041r-ral9007 ground survery front 5,500 kg 1 onrequest

c0s10204 1t ground survery square back raw 8,120 kg 1 onrequest
c0s102041t-ral9007 ground survery square back 8,120 kg 1 onrequest
c0s102041u tinplate for attachment 23,180 kg 1 onrequest
€0s102041x tinplate 22,890 kg 1 onrequest
c0s102041x-ral9007 tinplate 22,890 kg 1 onrequest
c0s102041z bottom beam side plate right raw 19,450 kg 1 onrequest
€0s102041z-ral9007 bottom beam side plate right 19,450 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos102047 USB extension 3m for OptoGait-System 0,050 kg 1 28.10€
c0s102049 USB-cable Type A+B V2.0 OptoGait-System 0,100 kg 1 20.30€
€0s102050-01 footboard support OptoGait-System 0,079 kg 1 40.20 €
c0s102052 cylinder head bolt M6x16 0,015 kg 1 0.32€
c0s102108-01 multiple socket outlet 6 grounding plug 0,450 kg 1 62.80 €
c0s102111 deflection pulley for ceiling mount 6,180 kg 1 1,246.00€
c0s102112 Rubber metal cushion male thread M8 h=15 0,042 kg 1 411€
c0s102113 Lens head screw with flange M6x40 V2A 0,010 kg 1 1.33€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102122 Lens head screw M5x20 A2 0,010 kg 1 0.43€
€0s102123 Washer for bolts D=18mm A2K 0,022 kg 1 0.04€
€0s102124-02ral9010 elevation element 150/50 LC 13,620 kg 1 257.00€
c0s102134 hexagon head shoulder screws12 M10x80 0,005 kg 1 onrequest
€0s102135-02 back plate user terminal 150/50 LC 0,050 kg 1 28.10€
c0s102136 elevation motor 0-20% LB 150/50 LCT 4,350 kg 1 365.00 €
c0s102137-02 Drive motor 2.2kW 4-pole 50Hz 22,200 kg 1 410.00 €
€0s102140-01 Running surface treadmill drilled 150/50 14,300 kg 1 337.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102141 Hex. socket countersunk head screw M8x25 0,040 kg 1 0.54 €
c0s102142-03 traction plate drive motor 150/50 LC 2,480 kg 1 27.50€
€0s102143-01vz assmebling plate e-module 150/50 LC 1,940 kg 1 30.00€
c0s102152 clinch nut M6 counter sunk knurling 0,001 kg 1 0.99€
€0s102153-01 Zebris Interface-Box 0,100 kg 1 1,023.00 €
c0s102155 Truss head screw, M8x130 A2K 8.8 0,047 kg 1 0.71€
c0s102156 Frequency inverter ATV12 2,2kW 150/50 g6 1,400 kg 1 428.00 €
c0s102156-at Frequency inverter ATV12 2,2kW 150/50 g6 1,400 kg 1 428.00 €
cos102157 treadmill support for TM 150-50 87,000 kg 1 4,731.00€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102159 deflection pulley support 0,710 kg 1 321.00€
c0s102160 deflection pulley sleeve 0,060 kg 1 19.70 €
c0s102161 pulley D78x20mm for braided ropes 6-12mm 0,050 kg 1 53.40€
€0s102163-01vz mount. strip motor cover 150/50 power su 0,120 kg 1 3.53€
c0s102164-03 mounting DIN rail e-module 150/50 0,140 kg 1 25.00€
c0s102165 Poly V drive belt 150/50 NT 18.0 km/h 0,100 kg 1 24.10€
€0s102166-01 spacer sheet optogait for TM 170/65 9,340 kg 1 113.00 €
€0s102166-01ral9005 spacer sheet optogait for TM 170/65 9,340 kg 1 113.00 €
c0s102170 discharge rope - 15m - @8mm 0,350 kg 1 156.00 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s102178-01 drive package treadmill 150/50 G6 27,000 kg 1 999.00 €
€0s102188-01ral9007 190/65 footboard right extra wide speed 24,633 kg 1 991.00 €
c0s102189 capacitor 16uF 230VAC 0,001 kg 1 15.90 €
c0s102191 clinch nut M5 counter sunk knurling 0,001 kg 1 0.73€
€0s102201 4-pin through terminal grey 1,5 mm? 0,009 kg 1 3.98€
c0s102202 Double-deck terminal block grey 1,5 mm? 0,009 kg 1 3.98€
c0s102203 End and intermediate plate 0.7mm 0,009 kg 1 3.98€
c0s102204 4-pin through terminal blue 1,5 mm? 0,009 kg 1 3.98€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s102205-01 spacer plate fix. motor cover 150/50 0,080 kg 1 3.83€
c0s102220a Plate interfaces 150/50 power supply 0,130 kg 1 20.30 €
c0s102221 Plate circuit breaker 150/50 power sup. 0,130 kg 1 19.40 €
cos102221a Plate circuit breaker 150/50 power sup. 0,130 kg 1 20.30€
€0s102222-01 IEC Appliance Inlet C20 0,031 kg 1 56.40 €
c0s102224 cylinder head screw M8x25 A2 0,014 kg 1 0.54 €
c0s102225-04 rear roller cover right 150/50 0,400 kg 1 77.00€
€0s102226-04 rear roller cover left 150/50 0,400 kg 1 77.00€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102230 150/50 wire fixation climate chamber 1,772 kg 1 69.20 €
c0s102231 Mains lead Euro 16A 3,0m V-Lock 0,300 kg 1 32.80€
c0s102234 twin cable end sleeve 0,34 N, insulated 0,001 kg 1 0.15€
c0s102235 Cable MCU/S2 elev.motor 150/50 power sup 0,032 kg 1 17.00 €
c0s102245 Zebris software motion analysis FDM-T not specified 1 onrequest
cos102245man-de Zebris instructions for use software FDM 0,500 kg 1 onrequest
cos102245man-en Zebris instructions for use software FDM 0,500 kg 1 onrequest
c0s102245man-ru Zebris instructions for use software FDM 0,500 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s102246-02 h/p/cosmos LED display 24" 5,570 kg 1 645.00 €
c0s102247-01 Zebris FDM-THM-2i Mounting kit 150-50 100,000 kg 1 24,820.00 €
cos102247a Zebris FDM-THM-2i sensor platform 29,000 kg 1 28416.00 €
c0s102247a-at Zebris FDM-THM-2i sensor platform 29,000 kg 1 27,587.00€
c0s102247b Zebris cable protect. cover Intefacebox 0,050 kg 1 65.40€
€0s102247¢-01 Zebris power supply Type 2420 60W 0,390 kg 1 730.00 €
c0s102247d Zebris power cable 2,5m 0,270 kg 1 35.90€
cos102247e Zebris USB2 cable type A-B, 3m, grey 0,130 kg 1 38.70€
c0s102247f Zebris U-shims M8x2 0,001 kg 1 3.83€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s102247i Zebris hall sensor connecting cable 0,060 kg 1 1,228.00€
€05102247] Zebris hall sensor mounting kit 0,250 kg 1 195.00 €
cos102247man-de Zebris instructions for use hardware 0,200 kg 1 onrequest
cos102247man-en Zebris instructions for use hardware 0,200 kg 1 onrequest
c0s102247man-ru Zebris instructions for use hardware 0,200 kg 1 onrequest
€0s102248 2-pin through terminal green/yell 2,5mm? 0,008 kg 1 590€
c0s102249 2-pin through terminal blue 2,5 mm? 0,008 kg 1 1.72€
€0s102250 2-pin through terminal grey 2,5mm? 0,008 kg 1 1.59 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102251 End and intermediate plate 0.8mm 0,009 kg 1 3.98€
€0s102256 cable brown 1.5 14cm, 1x flat plug 0,004 kg 1 6.10€
€0s102257-01 LTG powersupply-board on-off UT 150/50LC 0,066 kg 1 32.80€
c0s102260 cable white 0.5% 25¢cm, 1x flat plug 0,003 kg 1 584 €
€0s102269 LTG X1-contactor N 150/50 LC 0,004 kg 1 411€
c0s102276 0,032 kg 1 7.29€
c0s10228 Cover cap plastic d=60x2mm black 0,016 kg 1 1.03€
c0s102285 xx/100 crosstube safety arch 220cm label 11,500 kg 1 813.00 €
c0s102287-02 inverter extension board MCU 5 - ATV12 0,013 kg 1 93.10€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s102289-01ral9007 170/65 footboard right extra wide speed 21,817 kg 1 800.00 €
€0s102289-01ral9010 170/65 footboard right extra wide speed 21,817 kg 1 800.00 €
cos10229 Cover cap plastic 120x40x3mm black 0,027 kg 1 1.86 €
c0s102300 Triggerkabel Optogait 0,020 kg 1 203.00 €
c0s102301 USB A cable male-male 5m Optogait not specified 1 40.20€
€0s102304ral9010 component box airwalk ap 93,030 kg 1 3,266.00€
€0s102305-01ral9010 arch airwalk ap 21,960 kg 1 1,341.00€
€0s102306ral9010 pulley cover plate, arch, airwalk ap 0,280 kg 1 9.28€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s102307-01ral9010 Adapter 275cm RH airwalk ap 14,960 kg 1 461.00 €
€0s102308ral9010 rail airwalk ap 58,120 kg 1 641.00 €
€0s102309-01ral9010 Robowalk adapter airwalk ap 1,300 kg 1 3740€
c0s10231 Plastic cover cap 120x50x3mm, black 0,038 kg 1 246 €
c0s102310 cable guide above airwalk ap 2,800 kg 1 480.00 €
c0s102311 unweighting bar airwalk ap foamed 0,450 kg 1 241.00€
€0s102311b-01ral9005 bolt-sheet unweighting bar airwalk ap 0,035 kg 1 20.60€
€0s102312-01 adjustable stop airwalk ap 3,200 kg 1 387.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102312a-01 sliding rail for stop slide 2,190 kg 1 200.00 €
c0s102312b-01-BE stop slide airwalk ap 0,380 kg 1 onrequest
€0s102312b-01vz stop slide airwalk ap 0,380 kg 1 83.20€
€0s102312¢-01 indexing plunger socket 0,230 kg 1 27.10€
€0s102312d-01 spring plate airwalk ap 0,030 kg 1 14.40 €
c0s102314ral9010 Cover plate bow airwalk ap 0,750 kg 1 5140€
c0s102315ral9010 Cover plate component adapter airwalk ap 0,650 kg 1 20.30€
c0s102316 cable pulley pre-assembled 0,200 kg 1 99.90€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s102317-01 unweighting rope airwalk ap 0,110 kg 1 148.00 €
€0s102318 fixation handle with locking pin d=53mm 0,090 kg 1 2550 €
c0s10232 Cushion tape 19x6mm white 10 meter 0,084 kg 1 13.70€
€0s102320-01 locking pin d=8mm 1=20mm 0,022 kg 1 40.20 €
c0s102321 retaining wire with 2 key rings 0,008 kg 1 7.29€
c0s102322 shoulderscrew M6 L=16mm 0,006 kg 1 2.38€
€0s102323-01ral9010 angle plate coated airwalk ap 2,290 kg 1 119.00 €
€0s102324ral9010 Roles hold. sheet safety rope airwalk ap 0,340 kg 1 3210 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102333 pressure pipe 10mm by meter 0,049 kg 1 7.89€
c0s102334 plug-in connect. straight 6-4 airwalk ap 0,007 kg 1 9.93€
€0s102336-01 coupl. plug f. pneumatic tube airwalk ap 0,027 kg 1 11.60 €
c0s102340 control valve airwalk ap 0,250 kg 1 115.00 €
c0s102341 Manometer airwalk ap 0,050 kg 1 37.00€
c0s102345 Screw connector for cylinder airwalk ap 0,022 kg 1 12.10€
c0s102347 Pneumatic cylinder 50 mm 6,000 kg 1 882.00 €
€0s102347-01 Pneumatic cylinder 50 mm 6,000 kg 1 882.00 €
€0s102367-ral9007 Ramp side support left 44,310 kg 1 onrequest

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102368 Ramp side support right welded 44,310 kg 1 onrequest
c0s102368-ral9007 Ramp side support right 41,310 kg 1 onrequest
c0s10237-01 Worm gear motor 0,37 KW UL 7,900 kg 1 1,118.00€
c0s10237-01-kl Worm gear motor 0,37 KW UL clima chamber 7,900 kg 1 1,070.00€
c0s102371 450-300 headstock right vertical 55,490 kg 1 onrequest
€0s102371-ral9007 450-300 headstock right vertical 55,490 kg 1 onrequest
c0s102372 450-300 headstock right vertical 35,800 kg 1 onrequest
€0s102372-ral9007 450-300 headstock right vertical 35,800 kg 1 onrequest
c0s102373 450-300 headstock right vertical not specified 1 onrequest

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102378 Iron sheet 13,300 kg 1 onrequest
c0s10238 oil-pump 24V for treadmill lubrication 1,750 kg 1 1,214.00 €
c0s102382 450-300 headstock right vertical 5,490 kg 1 onrequest
c0s102384 450-300 headstock right vertical 5,490 kg 1 onrequest
€0s102384-ral9007 450-300 headstock right vertical 5,490 kg 1 onrequest
c0s102386 450-300 headstock right vertical not specified 1 onrequest
c0s102387 450-300 headstock right vertical not specified 1 onrequest
c0s102388 450-300 headstock right vertical 0,700 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture

c0s102392-01 pushbutton APEM 1202A2 0,010 kg 1 13.70 €

c0s102393 Pneumatic shut-off valve 0,044 kg 1 52.00€

c0s102395 Hexagon nut f. control valvel airwalk ap 0,010 kg 1 13.70€

c0s102396 Clamp T-connector 25mm 0,350 kg 1 26.90€ '
&

€0s102396ral9010 Clamp T-connector 25mm 0,125 kg 1 2940 € '
&

c0s102400a-01ral9010 Children handrail tube w. U-shaped bow 4,400 kg 1 221.00€

c0s102400b Children handrail side bar 0,490 kg 1 176.00 €

€0s102400b-ral9010 Children handrail side bar 0,490 kg 1 64.70 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102400c Children handrail cross bar 0,800 kg 1 86.70€
€0s102400c-ral9010 Children handrail cross bar 0,850 kg 1 84.10€
c0s102400fral9010 Children handrail tube w. U-shaped bow 6,300 kg 1 221.00€
c0s102401 Identificat. plate double terminal 1-10 0,008 kg 1 497 €
c0s102402 Identificat. plate double terminal 11-20 0,008 kg 1 497 €
€0s102403 Push-in type jumper bar 0,008 kg 1 0.66 €
c0s102406 LTG PE-MCU 150/50 LC 0,051 kg 1 7.01€
€0s102406-01 cable green/yellow 1.5%2,8m M4 cable lug 0,051 kg 1 6.81€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102407 cable green-yellow 1.52 550mm, 2x cable 0,009 kg 1 8.29€
c0s102408 cable green-yellow 1.5% 28cm, 1x cable 0,007 kg 1 7.02€
c0s102409 cable green-yellow 1.5mm? 150mm 0,006 kg 1 8.03€
c0s102413 power supply med 12VDC 24W with Chassis 0,150 kg 1 200.00 €
€0s102413ret power supply med 12VDC 24W with Chassis 0,150 kg 1 258.00 €
c0s102417 spacer sheet optogait for TM 190/65 10,460 kg 1 104.00 €
€0s102417ral9005 spacer sheet optogait for TM 190/65 10,460 kg 1 104.00 €
€0s102418-01 Optogait housing quasar 170/65 left 2,950 kg 1 onrequest
€0s102419-01 Optogait housing quasar 170/65 right 2,950 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s102420-01 Optogait housing pulsar 190/65 left 3,330 kg 1 onrequest
c0s102421-01 Optogait housing pulsar 190/65 right 3,330 kg 1 onrequest
c0s102422 grooved ball bearing 6301 0,064 kg 1 8.35€
€0s102423 locking edge washer M10 not specified 1 0.73€
c0s102424 locking edge washer M12 not specified 1 1.06 €
c0s102425 hexagon head screw with shank M12x80 8.8 not specified 1 1.06 €
c0s102428 hexagon head screw, M8x160 A2K 8.8 0,056 kg 1 2.52€
€0s102430-02ral9010 Cover plate component adapter backside 2,070 kg 1 64.10 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102431 chute size 4, grey 0,085 kg 1 2.87€
c0s102437 hexagonal nut M6 A2K thin type 0,003 kg 1 0.08 €
€0s102443-01 lubrication set treadmill 150/50 LC 0,500 kg 1 33.50€
c0s102446 special oil for lubrication man.125ml 0,160 kg 1 21.00€
€0s102449ral9007 handrail 150-50 adjustable crosstube 5,629 kg 1 99.90€
€0s102449ral9010 handrail 150-50 ajdustable crosstube 5,629 kg 1 99.90€
€0s102450-01 pressure spring AD=29mm 0,004 kg 1 1.31€
c0s102451 clamplockbolt M16x1,5-8 0,120 kg 1 46.80 €
c0s102452 distance ring stainless steel 0,007 kg 1 3.32€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102453 shoulderscrew M10x30 0,047 kg 1 3.98€
c0s102454 Fork head aluminium black 0,047 kg 1 7.29€
c0s102455 locking disc D=40mm 60 Z Form A 0,073 kg 1 41.40€
c0s102456 locking disc D=40mm 60 Z Form D 0,073 kg 1 41.40€
c0s102458 guide ring 0,004 kg 1 6.06 €
c0s102459 flanged bush 0,004 kg 1 1.31€
c0s102470 lens head screw M4x25 A2 0,001 kg 1 0.40€
c0s102471 Optogait quasar RX bar cable 0,020 kg 1 467.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos102471a Optogait RX Master Board 1.3 0,020 kg 1 782.00 €
c0s102471b Optogait RX Slave Board 0 1.1 0,020 kg 1 492.00 €
cos102471c Optogait RX Slave Board 1 1.1 0,020 kg 1 492.00 €
c0s102471d Optogait RX Slave Board 2 1.1 0,020 kg 1 708.00 €
cos102471e Optogait RX interface Master Board 1.1 0,020 kg 1 708.00 €
c0s102472 Optogait quasar TX bar cable 0,020 kg 1 105.00 €
c0s102472a Optogait TX Master Board 1.2 0,020 kg 1 492.00 €
c0s102472b Optogait TX Slave Board 0 0,020 kg 1 348.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102472¢ Optogait TX Slave Board 1 0,020 kg 1 348.00 €
c0s102472d Optogait TX Slave Board 2 1.2 0,020 kg 1 354.00 €
c0s102472e Optogait TX interface Slave Board 1.1 0,020 kg 1 170.00 €
c0s102477 CAP additional keyboard front plate 0,062 kg 1 41.60 €
€0s102479-02 Pneumatic cylinder 50 mm 3,700 kg 1 896.00 €
c0s102480 cylinder 40 pre-assembled airwalk ap 4,000 kg 1 1143.00€
€0s102484ral9007 support safety arch right 150/50 LC 2,200 kg 1 520.00 €
€0s102485ral9007 support safety arch left 150/50 LC 1,700 kg 1 316.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list  date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102496 Connecting hose airwalk ap 5m 0,750 kg 1 88.30€
€0s102499-01 pneumatic user interface airwalk ap 0,850 kg 1 296.00 €
c0s102500 assembly tool rope connector 0,020 kg 1 49.80€
c0s102501ral9006 handrail crossbar rod 150/50 LC 1,330 kg 1 117.00 €
€0s102504 fastening plate milon care 0,710 kg 1 69.10 €

c0s102510 Indicating labels WAGO terminal earthing 0,008 kg 1 21.60€
c0s102511 cable bridge through terminal X1 sport 0,032 kg 1 20.10€
c0s102512-02 cable emergency stop-inver extens. board 0,002 kg 1 11.30€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s102513-01 Ripcord switch preassembled power supply 0,032 kg 1 50.00€
cos102514 on-off-switch preassembled LC 0,016 kg 1 70.50€
c0s102516-01 Zebris FDM-THM-3i Mounting kit 150-50 100,000 kg 1 35391.00€
cos102516a Zebris FDM-THM-3i sensor platform 150-50 29,000 kg 1 35391.00€
c0s102517-01 Zebris FDM-THQ-2i Mounting kit 170-65 130,000 kg 1 38,235.00 €
cos102517a Zebris FDM-THQ-2i sensor platform 170-65 60,000 kg 1 38,235.00€
€0s102518-01 Zebris FDM-THQ-3i Mounting kit 170-65 25,000 kg 1 45249.00 €
c0s102518a Zebris FDM-THQ-3i sensor platform 170-65 60,000 kg 1 45249.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s102519-01 Zebris FDM-THP-2i Mounting kit 190-65 140,000 kg 1 54137.00€
c0s102519a Zebris FDM-THP-2i sensor platform 190-65 70,000 kg 1 54137.00€
€0s102520-01 Zebris FDM-THP-2i Mounting kit 190-65 140,000 kg 1 61,304.00€
c0s102520a Zebris FDM-THP-3i sensor platform 190-65 70,000 kg 1 61,304.00€
c0s102529 unweighting bar airwalk ap 1,000 kg 1 321.00 €
€0s102535 Hall sensor elev.motor 0-20% TM150/50 LC not specified 1 18.90 €
c0s102536 Robowalk Back bracket milled 2,180 kg 1 296.00 €
c0s102537 Locking element with scale left 0,455 kg 1 154.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s102539-01 screw connector male 0,025 kg 1 12.10€
€0s102540 screw connector for cylinder airwalk ap 0,022 kg 1 1210 €
c0s102543 Hall sensor with cable Zebris for TM150 0,410 kg 1 641.00 €
c0s102546 counter sunk screw M3x20 A2K 8.8 0,002 kg 1 0.06 €
€0s102547-01 power supply P:90-264VAC S:12VDC/10W 0,100 kg 1 48.00 €
€0s102552-01ral9010 adj. handrail xx-65 front support right 17,170 kg 1 410.00 €
€0s102553-01ral9010 adj. handrail xx-65 front support right 19,200 kg 1 410.00 €
€0s102554ral9010 adj. handrail xx-65 back support right 4,900 kg 1 194.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102556 handrail 150-50 adjustable bar 6,816 kg 1 onrequest
c0s102556ral9010 handrail 150-50 adjustable bar 6,816 kg 1 387.00 €
cos102557 handrail 150-50 adjustable bar 6,816 kg 1 onrequest
€0s102557ral9010 handrail 150-50 adjustable bar 6,816 kg 1 387.00€
c0s102561 h/p/cosmos arm support for adj. handrail 3,700 kg 1 480.00 €
cos102561a-ral9005 base plate for arm support 3,700 kg 1 95.90€
c0s102561b-ral9005 tilting angle for arm support 3,700 kg 1 28.30€
cos102561c clamping bridge for adjustable handrail 0,060 kg 1 120.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos102561d guiding socket for adjustable handrail 0,030 kg 1 92.00€
c0s102561e tilt angle limiter for arm support 0,010 kg 1 1940 €
cos102567 Zebris adapter plate for interface-box 0,350 kg 1 187.00 €
c0s102573 Lack vial, 10ml, RAL9005, black dull 0,026 kg 1 10.30 €
cos102574 Lack vial, 10ml, RAL3000 flame red 0,026 kg 1 10.30€
cos102577 Mains lead open end 16A 3,0m V-Lock 0,300 kg 1 30.90€
cos102579 compensation washer 20x28x0,5mm 0,001 kg 1 0.71€
c0s10257vz cog wheel for speed z=60, 100L4/LX4 0,292 kg 1 46.80 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s10258 cog wheel for speed z=60, 90L2 0,308 kg 1 62.70€
c0s102583 Locking element with scale right 0,455 kg 1 154.00 €
cos10259 cog wheel for speed z=60, 132S..+M. 0,265 kg 1 48.00€
€0s102592-img Software-Image milon-care module not specified 1 onrequest
€0s102592-man-de Instructions for use milon-care module 0,300 kg 1 32.10€
c0s102593 Raspberry Pi Model B+ 0,100 kg 1 83.90€
c0s1025% RFID Card reader 0,400 kg 1 359.00 €
€0s102595 Nullmodemadapter 0,100 kg 1 32.10€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s102596-01 microSDHC-card 8GB class 10 0,050 kg 1 onrequest
€0s102598 TOPTEC housing 194 F, version Il 0,250 kg 1 60.10 €
c0s102599 pressure switch on/off 0,100 kg 1 65.40 €
c0s10260 cog wheel for speed z=60, 10H7 0,337 kg 1 4410€
c0s102600 Raspberry Pi housing 0,600 kg 1 26.90€
c0s102601 USB-charger for wall socket 0,150 kg 1 95.80€
c0s102602 USB-A to USB-micro extension 5m 0,180 kg 1 56.00 €
c0s102603 Cable clamp 5mm/M6/V2A 0,050 kg 1 2.65€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102604ral9007 170&190-65 front panel1p with option 1,092 kg 1 93.10€
€0s102604ral9010 170&190-65 Frontblech 1p m. Zusatzoption 1,115 kg 1 9590 €
c0s102606 panel mount base Gr.77.27 not specified 1 20.30€
c0s102607 coupling housing lock 4 bolts not specified 1 20.30€
c0s102608 holder frame 4 modules size 77.27 below not specified 1 22.90 €
c0s102609 holder frame top 4 modules Gr. 77.27 not specified 1 22.90€
c0s102610 dummy module ILME plug not specified 1 KNARS
c0s102611 module inlet Crimp 2p not specified 1 10.40€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s102612 module inlet pin Crimp 2p not specified 1 16.10 €
c0s102613 crimp contact pin 25mm? not specified 1 11.80€
cos102614 contact slot with spring con. 5p not specified 1 19.70 €
c0s102615 pin cage connection 5p not specified 1 19.70 €
c0s102616 coding pin for Mixo System not specified 1 2.52€
c0s102617 coding nut for Mixo System not specified 1 4.37€
c0s102618 panel mount base size 104.27 not specified 1 20.30€
c0s102619 socket shell size 104.27 M25 not specified 1 20.30 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s102620 Contact inserts female 24p 16A 500V not specified 1 36.10€
c0s102621 Contact inserts male 24p 16A 500V not specified 1 36.10€
c0s102622 Coding bolt galvanized steel not specified 1 0.79€
c0s102623 Encoding socket steel galvanized not specified 1 0.79€
c0s102624 socket module with RJ45 socket not specified 1 56.00 €
€0s102625 Pin module without 8P RJ45 connector IDC not specified 1 7.29€
c0s102626 RJ45-Plugin-8 contacts not specified 1 52.00€
c0s102628 Male insert bolt 4x80A and 2x16A not specified 1 56.00 €
c0s10263 Running belt for treadmill 165/63 8,970 kg 1 1131.00€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list  date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102630 cable socket 15m, 3x0,34mm?, M12 0,380 kg 1 39.50€
c0s102631 Ladder marker 8/30 not specified 1 1.67€

-~ B
€0s10264-03mm Runningbelt for treadmill 150-50 grooved middle marker 5,775 kg 1 402.00 €

c0s10264-03-OEM Runningbelt for treadmill 150-50 OEM 5,775 kg 1 381.00 €
c0s102645 Microgate power supply 100-240V 1A not specified 1 23.00€
c0s102649 Witty connection cable not specified 1 9.07€
c0s10265 gaiter venus 200/75 not specified 1 1,781.00€
c0s102650 Witty bracket not specified 1 33.80€
c0s102655 Connection cable 2D Optogait not specified 1 11.00€
c0s102659 contactor 20-33V DC-18,5KW/400V 1,113 kg 1 361.00 €
c0s10266 Bellow Venus 200/100 not specified 1 1,778.00 €
c0s102660 contactor 20-33V DC-30KW/400V 1,113 kg 1 719.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102661 wire cover plate rev. S4-MCU/S21 ve/sa 0,123 kg 1 41.00€
c0s102662 wire touch cover plate - MCU/S91 ve/sa 0,142 kg 1 28.30€
c0s102663 wire speed counter board MCU/S41 velsa 0,118 kg 1 31.50€
c0s102664 wire speed counter boardMCU/S42+S1 ve/sa 0,082 kg 1 40.60 €
€0s102665-01 wire MCU/S2 - elev. 0/max% +Hall ve/sa 0,059 kg 1 20.00€
c0s102666 wire lifting device emergency stop ve/sa 0,034 kg 1 15.10 €
c0s102667 wire FU/PC/MRS - plug ve/sa 0,057 kg 1 28.60€
c0s102670 LTG line filter load ve/sa 0,023 kg 1 40.60 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102671 wire light barrier front and back ve/sa 0,123 kg 1 43.30€
€0s102673 wire belt misalignment ve/sa 0,082 kg 1 3240 €
c0s102674 wire add. keyboard MCU/S30-Stecker ve/sa 0,290 kg 1 97.70€
c0s102676 wire FU/U/V/IW velsa 0,132 kg 1 40.80 €
c0s102677 wire quick stop radius plate ve/sa 0,098 kg 1 18.70 €
c0s102678 wire emergency stop radius plate ve/sa 0,055 kg 1 18.00 €
c0s10268 Bellow Saturn 250/75 not specified 1 1,772.00€
c0s102680 wire PE/copper busbar-line filter ve/sa 0,046 kg 1 16.30 €
c0s102681 wire PE bolt rear panel ve/sa 0,053 kg 1 15.80 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102682 wire PE rear panel betw. plug 2+3 ve/sa 0,054 kg 1 15.20 €
€0s102683 wire PE bolt down right T. plate ve/sa 0,049 kg 1 17.20 €
c0s102684 wire interface tableau - XPE/8 ve/sa 0,043 kg 1 12.30 €
c0s102685 wire socket PE - XPE/3 ve/sa 0,044 kg 1 13.70€
c0s102686 wire TM terminal box PE connector ve/sa 0,070 kg 1 4590 €
c0s102687 wire emergency stop add. keyboard ve/sa 0,040 kg 1 15.80 €
c0s102688 wire PE bolt plug- terminal box ve/sa 0,038 kg 1 15.90 €
c0s10269 not specified 1 1,881.00€
€0s102690-01 cable black 4% 74cm 3x cable end sleeve 0,035 kg 1 11.60 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102691 wire X5/1 - X5/2 ve/sa 0,009 kg 1 542¢€
€0s102692 wire X5/4 - S1/N ve/sa 0,040 kg 1 6.06 €
c0s102693 wire X5/3 - B1/N velsa 0,020 kg 1 542¢€
c0s102694 wire F1/2 - B1/L1 - X5/6 ve/sa 0,050 kg 1 42.60 €
€0s102696 wire Q4/22 - Q5/A1 ve/sa 0,012 kg 1 2.87€
cos102697 wire K2.2/Q2.1 - P6/X1 velsa 0,017 kg 1 351€
c0s102698 wire Q5/22 - Q4/A1 ve/sa 0,011 kg 1 2.87€
05102699 wire Q1/5 - F5/2 - F6/2 ve/sa 0,022 kg 1 5.61€
c0s10270 Bellow Saturn 250/125 not specified 1 1,950.00€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102700 wire F3/2 - Q4/1 - Q5/1 velsa 0,038 kg 1 20.00€
05102701 wire Q1/3 - F4/1 velsa 0,026 kg 1 3.06 €
c0s102702 wire T1/L1-T2.1/1 - Q1/L1 ve/sa 0,035 kg 1 6.18 €
c0s102703 wire X4/6 - T2.1/2 velsa 0,028 kg 1 3.51€
c0s102704 wire F1/1 - S1/T1 velsa 0,036 kg 1 20.00€
c0s102705 wire T1/+24V - F7/1 - F8/1 - F9/1 velsa 0,029 kg 1 8.10€
cos102706 wire Q2/64 - K2.1/14 velsa 0,029 kg 1 3.25€
c0s102707 wire S4/23 - P1/X1 ve/sa 0,029 kg 1 3.12€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102708 wire B1/12 - B1/22 - P5/X1 velsa 0,056 kg 1 6.38 €
c0s102709 wire Q3/83 - T2.1/6 ve/sa 0,020 kg 1 287€
cos10271 Bellow Saturn 300/75 not specified 1 onrequest
c0s102710 wire X2/6 - $21/13 velsa 0,019 kg 1 287€
c0s102711 wire X3/2 - S21/14 velsa 0,018 kg 1 2.87€
c0s102712 wire K2.1/Q2.2 - X2/5 ve/sa 0,012 kg 1 2.74 €
c0s102713 wire X2/24 - P4/X1 velsa 0,032 kg 1 344 €
co0s102714 wire X2/7 - X2/8 velsa 0,011 kg 1 2.68€
cos102715 wire F8/2 - X2/1 velsa 0,018 kg 1 17.00 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos102716 wire X2/20 - Q4/21 ve/sa 0,021 kg 1 542€
cos102717 wire T1/-24V - X2/13 velsa 0,020 kg 1 5.42€
c0s102718 wire Q5/A2 - X2/12 ve/sa 0,014 kg 1 26.50€
cos102719 wire X2/15 - X2/16 ve/sa 0,011 kg 1 5.23€
c0s10272 Bellow Saturn 300/100 not specified 1 onrequest
c0s102720 wire X2/10 - Q1/A2 ve/sa 0,017 kg 1 548 €
c0s102721 wire X2/9 - K2.1/P2 - K2.2/P2 ve/sa 0,020 kg 1 8.16 €
c0s102722 wire P7/X2 - P8/X2 - X2/9 ve/sa 0,054 kg 1 27.20€
c0s102723 wire X2/21 - Q5/21 velsa 0,019 kg 1 542€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos102724 wire X2/17 - S2/21 velsa 0,029 kg 1 6.12€
c0s102725 wire X2/17 - K2.1/11 velsa 0,018 kg 1 555€
c0s102726 wire X2/26 - K2.2/12 velsa 0,019 kg 1 5.61€
cos102727 wire X2/25 - K2.2/11 velsa 0,021 kg 1 5.55€
c0s102728 wire K2.1/Q2.1 - X3/1 - X3/2 ve/sa 0,017 kg 1 8.10€
c0s102729 wire X3/3 - K2.2/14 ve/sa 0,026 kg 1 5.61€
c0s10273 Bellow Saturn 300/125 not specified 1 onrequest
c0s102730 wire X2/22 - K2.1/15 velsa 0,021 kg 1 13.80 €
cos102731 wire X2/18 - K2.1/12 velsa 0,022 kg 1 5.55€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102732 wire X2/18 - S3/13 ve/sa 0,049 kg 1 6.12€
c0s102733 wire Q4/A2 - X2/11 velsa 0,021 kg 1 5.36 €
cos102734 wire X3/9 - K2.1/17 ve/sa 0,026 kg 1 5.61€
c0s102735 wire X4/5 - X4/6 ve/sa 0,012 kg 1 542¢€
c0s102736 wire Q5/6 - Q4/2 - X4/11 velsa 0,022 kg 1 8.61€
cos102737 wire X4/7 - K3/L1 ve/sa 0,034 kg 1 7.65€
c0s102738 wire X4/8 - F2/4 velsa 0,022 kg 1 5.74€
c0s102739 wire X4/7 - F2/2 velsa 0,022 kg 1 5.74€
cos10274 Bellow 165/63 not specified 1 713.00€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102740 cable black 42 36¢m, 2x cable end sleeve 0,026 kg 1 5.67€
c0s102741 wire X4/5 - T1/N velsa 0,031 kg 1 8.61€
c0s102742 wire X32/lift. motorXPE/7- X4/11-13 ve/sa 0,330 kg 1 27.80€
c0s102743 wire S5/emerg.stop - X1/5+6 (desk) ve/sa 0,040 kg 1 22.60€
cos102744 wire MCU K1/85 - X1/2+3 ve/sa 0,040 kg 1 22.60€
c0s102745 wire MCU K1/S3 - X3/19-21 ve/sa 0,046 kg 1 28.30 €
c0s102746 wire MCU K1/S7 - K2.1/Q3.2+Q3.1 velsa 0,042 kg 1 22.60 €
c0s102748 wire Speedcount/B2(S43)-X3/3-X1/20 ve/sa 0,045 kg 1 28.60€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102749 wire Speedcounter/S22-X2/24-X1/21 velsa 0,043 kg 1 23.80€
c0s102750 wire oil pump/M3-XPE/9-X3/1-X2/10 ve/sa 0,080 kg 1 26.50 €
c0s10275-02 Running belt for treadmill 170-65 11,250 kg 1 1,116.00€
cos102751 wire XPE/6 - T1/PE ve/sa 0,023 kg 1 11.20€
c0s102752 wire XPE/5 - PE bolt ve/sa 0,032 kg 1 1340 €
c0s102753 wire XPE/4 - Montageplatte ve/sa 0,030 kg 1 11.30€
cos102754 wire XPE/10 - potentiometer bolt ve/sa 0,032 kg 1 12.30 €
c0s102755 wire XPE/6 - mains filter PE ve/sa 0,030 kg 1 7.84€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos102756 wire XPE/1 - S1/PE ve/sa 0,029 kg 1 6.76 €
c0s102757 wire XPE/7 - e-module left front ve/sa 0,032 kg 1 11.20€
c0s102758 wire X1/12 - P1/X1 velsa 0,027 kg 1 5.99€
cos102759 wire X1/1 - Q3/84 ve/sa 0,022 kg 1 5.67 €
c0s102760 wire X1/15 - S3/14 - S2/22 velsa 0,023 kg 1 8.93€
c0s10276-02 Running belt for treadmill 190/65 12,113 kg 1 1,275.00€
c0s102761 wire X1/14 - Q1/A1 ve/sa 0,020 kg 1 5.55€
€0s102762 wire X1/1 - X1/2 velsa 0,018 kg 1 5.23€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102763 wire X1/18 - K2.1/I3 ve/sa 0,016 kg 1 548€
c0s102764 wire X1/17 - K2.1/Q1.2 ve/sa 0,015 kg 1 5.36€
c0s102765 wire X1/21 - B1/11+21 velsa 0,016 kg 1 8.23€
cos102766 wire X1/20 - K2.2/Q2.2+Q3.2+Q4.2 ve/sa 0,018 kg 1 8.03€
cos102767 wire X1/19 - Q2/63 ve/sa 0,015 kg 1 5.55€
cos102768 wire X1/16 - K2.1/P1-K2.2/P1 ve/sa 0,014 kg 1 8.16 €
cos102769 wire X1/3 - X1/4 ve/sa 0,012 kg 1 5.29€
c0s102770 wire X1/4 - T2.1/7 velsa 0,019 kg 1 5.55€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s10277-01 Expulsion fuse 2 phases C 16A 0,250 kg 1 121.00 €
c0s102771 core ending capsule 6,0 N insulated 0,002 kg 1 0.08€
c0s102772 base frame locomotion 190/65 spacer 1,748 kg 1 183.00 €
c0s10278-01 Drive belt spanner 170&190-65 d=60mm 0,316 kg 1 87.80€
c0s102782 HDMI cable 5m 0,213 kg 1 29.40 €
c0s102783 HDMI to DVI cable 5m not specified 1 29.40€
cos102784 IEC Appliance Inlet C20 not specified 1 4.46€
co0s102786 express sling/loop 10cm 0,014 kg 1 13.70€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102787ral9010 Adapter airwalk ap special height 15,000 kg 1 480.00 €
c0s102790 crimp contact sleeve 25mm? not specified 1 11.80€
c0s102791 Zebris FDM Sync-In Cable Set 0,180 kg 1 834.00 €
c0s102792a run up roller for mech. limitation not specified 1 onrequest
c0s102792aval1 run up roller for mech. limitation xx/75 treadmill width 75 1,330 kg 1 532.00€
c0s102792ava02 run up roller for mech. limitation xx/100 treadmill width 100 1,700 kg 1 onrequest
cos102792ava03 run up roller for mech. limitation xx/125 treadmill width 125 2,070 kg 1 onrequest
€0s102792a-01_100 run up roller for mech. limitation treadmill width 100 1,840 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102792a-01_125 run up roller for mech. limitation treadmill width 125 2,210 kg 1 onrequest
€0s102792a-01_75 run up roller for mech. limitation treadmill width 75 1,470 kg 1 501.00 €
c0s102792b bearing bolt for run up roller 0,040 kg 1 4490 €
€0s102792d-01_100ral9010 torque tube from the run up roller xx/100 treadmill width 100 3,350 kg 1 175.00 €
€0s102792d-01_125ral9010 torque tube from the run up roller xx/125 treadmill width 125 3,970 kg 1 189.00 €
€0s102792d-01_75ral9010 torque tube from the run up roller xx/75 treadmill width 75 2,740 kg 1 161.00 €
€0s102792d-ral9010 torque tube from the run up roller Please choose variant. 2,500 kg 1 onrequest
€0s102792d-ral9010va01 torque tube from the run up roller xx/75 treadmill width 75 2,500 kg 1 172.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102792d-ral9010va02 torque tube from the run up roller xx/100 treadmill width 100 3,120 kg 1 186.00 €
c0s102792d-ral9010va03 torque tube from the run up roller xx/125 treadmill width 125 3,740 kg 1 201.00 €
c0s102792e run up roller bolt 0,040 kg 1 38.70€
c0s102792f-01vz mounting plate right 1,200 kg 1 onrequest
€0s102792g-01vz mounting plate left 1,200 kg 1 onrequest
c0s102796 cable channel 60x100x3000mm 2,000 kg 1 107.00 €
c0s102798 cover with turning bolt 1,500 kg 1 30.40€
c0s102821 tension spring 17/07/4 not specified 1 11.00€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list  date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102822 Clamp lever M6x20, black 0,080 kg 1 21.70€
€0s102822-M6x25mm Clamp lever M6x25, black 0,076 kg 1 21.70€
c0s102823 Power plug USA, NEMA L6-20P 20A/250V not specified 1 48.10€
c0s102823_NEMA_10AWGx3_cable power cord USA 1p, 10AWG 5,26mm?2300V30A 0,300 kg 1 18.10 €
c0s102823_NEMA_10AWGx5_cable power cord USA 3p, 10AWG 5,26mm?600V25A 0,300 kg 1 18.10 €
€0s102823_NEMA_L15-20_fem_con mains coupling USA 3p, NEMA L15-20 not specified 1 180.00 €
c0s102823_NEMA_L15-20_fem_fla  power socket USA 3p, NEMA L15-20 not specified 1 180.00 €
€0s102823_NEMA_L15-20_mal_plug power plug USA 3p, NEMA L15-20 not specified 1 169.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list  date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102823_NEMA_L22-30_fem_con mains coupling USA 3p, NEMA L22-30 30A 0,200 kg 1 181.00 €
c0s102823_NEMA_L22-30_fem_cov steelplate for USA 3p, NEMA L22-30 30A 0,200 kg 1 12.10€
c0s102823_NEMA_L22-30_fem_fla  power socket USA 3p, NEMA L22-30 30A 0,200 kg 1 241.00€
c0s102823_NEMA_L22-30_fem_rec power socket USA 3p, NEMA L22-30 30A 0,200 kg 1 134.00 €
€0s102823_NEMA_L22-30_mal_plug power plug USA 3p, NEMA L22-30 30A 0,200 kg 1 119.00 €
c0s102823_NEMA_L6-30_plug_cab powercord USA1p,10AWG Nema L6-30A/250V not specified 1 154.00 €
c0s102824 mains coupling USA, NEMA L6-20C 20A/250V not specified 1 72.20€
c0s102829 Magnet system for ripcord 17x22,5mm 0,005 kg 1 3.05€
c0s102832 Safety leash with two rope eyes 0,010 kg 1 4.64 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102833 Aderendhlilsen versilbert 4,0mm? 0,001 kg 1 0.13€
c0s102834 Rubber metal cushion male M8 h=20mm 0,042 kg 1 464€
c0s102836 LED monitor 24" with Vesa mount 7,600 kg 1 767.00 €
c0s10284 button head socket screw M6x25 V2A 0,006 kg 1 0.68 €
c0s102845 power supply P:90-264VAC S:12VDC/10W 0,100 kg 1 48.80 €
c0s10285 button head socket screw M8x65 A2K 10.9 not specified 1 2.35€
c0s102850 eye screw M8x50 V2A 0,025 kg 1 20.60€
c0s102851 star knob D40 with thread M8 0,020 kg 1 281€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102852 Knurled knobs D50 M8 blk not specified 1 13.20€
c0s102853 flanged bushing 121418-10 0,004 kg 1 1.31€
€0s102854ral9010 Handrail wheel applic. cover plate rear 2,123 kg 1 onrequest
c0s102856 self adhesive cord clip cable -9mm 0,001 kg 1 1.15€
c0s10287 Reinforcement lifting device 69mm ve/sat 0,400 kg 1 32.10€
c0s102870 DIN rail Adapter 0,003 kg 1 3.54 €
c0s102875 Gender changer 2x15-pol BU-BU 0,002 kg 1 478 €
c0s102876 monitor cable,15-pol.-HD, ST 10m 0,250 kg 1 35.10 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos102877 VGA monitor cable 1m 0,150 kg 1 36.20€
c0s102888a RFID-Module-L7Plus board+sensor 0,300 kg 1 500.00 €
c0s102888b LTG MCU S53 - RFID-Modul 5V 0,010 kg 1 7.65€
c0s102888¢c LTG RFID-Platine - Adapter RS232 0,100 kg 1 15.50 €
c0s102888d RFID-Modul-L7Plus mounting plate 0,002 kg 1 15.50 €
c0s102888e MAW RFID-Module mounting kit 0,400 kg 1 656.00 €
c0s10289 Reinforcement lifting device 69mm ve/sat 0,414 kg 1 30.40€
€0s102891ral9010 Handrail 190/65 adjustable bar 7,430 kg 1 194.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos102897 Aluminium handle 125 x 49 x 20 mm, M6 0,100 kg 1 20.60€
€0s102901 Quick coupling compressed air not specified 1 19.40 €
c0s102903a Manipulation monitoring dis. mount-kit 0,260 kg 1 266.00 €
€0s102906-01 control demand socket coverage 450/300 6,180 kg 1 519.00€
c0s10291-01 ve/sat upper frame support headstock 0,762 kg 1 100.00 €
€0s102911-01 Power Board for UT Touchpanel GUI MCUG 0,013 kg 1 onrequest
c0s102913 flanged bushing 222530-215 0,004 kg 1 2.55€
c0s102914 bushing 2025-14 0,004 kg 1 1.31€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102916 mounting plate for Touch Panel AFL3 0,262 kg 1 42.40€
c0s102919-01ral250s handrail 150/50 1S long 1240 mm G6 4,840 kg 1 188.00 €
€0s102919-01ral9005 handrail 150/50 1S long 1240 mm G6 4,840 kg 1 188.00 €
€0s102919-01ral9010 handrail 150/50 1S long 1240 mm G6 4,840 kg 1 188.00 €
€0s102925 instlation contactor 12V 25A 2-pole 0,300 kg 1 52.70 €
€0s102926 elevation motor 0-25% LB 150/50 LCT 4,350 kg 1 389.00 €
c0s102928 TOPTEC Housing 194 F processed 0,250 kg 1 95.90€
c0s102929 USB-A to USB-micro extension 5m 0,190 kg 1 95.90€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s102932-01 wheelchair ramp 50 base frame 9,540 kg 1 317.00€
€0s102932-01ral9010 Wheelchair-Ramp ALU 1m quasar/pulsar 65 9,650 kg 1 2590 €
c0s102934 bridging sheet wheelchair ramp 150/50 LC 0,130 kg 1 25.90€
c0s102935 wheelchair ramp 50 positioning hook 2,810 kg 1 25.90€
c0s102936 wheelchair ramp 50 cross bearer 0,960 kg 1 25.90€
€0s10294-01vz ve/sat upper frame shaft cover 0,220 kg 1 33.50€
€0s102942 Resistor 15KOhm 0,25 Watt not specified 1 0.23€
c0s102943 Board pin strip 2,54mm 36-pin 0,010 kg 1 255¢€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102946 acryl glass 70x20mm 0,010 kg 1 459 €
€0s102950a side member parawalk 1,2 m 155,000 kg 1 onrequest
c0s102950b cross member 1,2 m parawalk 155,000 kg 1 onrequest
c0s102950¢c pillar bracket parawalk 1,2 m 155,000 kg 1 onrequest
c0s102950d bottom plate for parawalk 1,2 m 155,000 kg 1 onrequest
c0s102950e bar handrail parawalk 1,2 m 155,000 kg 1 onrequest
c0s102953 USB 3.0 cable 7,5m grey 0,150 kg 1 21.00€
€0s102955 Identification label terminal WAGO N 0,008 kg 1 497 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102956 Identification label terminal WAGO L1 0,008 kg 1 497 €
c0s102959 solvent free plastic glue 8ml 0,008 kg 1 19.80 €
c0s102962 ve/sat shim for shaft guard 0,115 kg 1 6.38 €
c0s102963 Plastic cover cap 140x60x3mm, black 0,037 kg 1 8.93€
c0s102964 Plastic cover cap 140x60x3mm, black 0,037 kg 1 8.93€
c0s102965 Plastic cover cap 120x40x3mm, black 0,027 kg 1 8.76 €
c0s102966 distance plate for roller cover (left) 0,060 kg 1 421€
c0s102967¢ Discs weight plates 5kg 5,000 kg 1 38.70€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list  date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102973 D-SUB dust cap 9-pol. connector 0,001 kg 1 1.28€
€0s102975 Rubber metal cushion male/female thread 0,006 kg 1 191€
cos102977 power cable for servo motor 750 W 0,400 kg 1 137.00 €
c0s102997 Vesa holding plate Touch Panel AFL3 1,100 kg 1 46.10€
c0s102998 wooden platform parawalk 2,44m 23,000 kg 1 1,257.00€
c0s102999_150-50_G6-BE subframe gaitway3D 150-190 64,000 kg 1 76,505.00 €
c0s102999_170-65-BE-01 subframe gaitway3D 170/65 92,200 kg 1 76,505.00 €
c0s102999_footplates Footplates for gaitway3D 150-190 18,000 kg 1 0.05€
€0s102999_License_150-50-G6 License gaitway3D 150-50 G6 not specified 1 onrequest

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list  date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s102999_License_170-65 License gaitway3D 150-50 G6 not specified 1 12,600.00 €
€0s102999_License_190-65 License gaitway3D 190/65 not specified 1 26,250.00 €
€0s102999_XXX-65mod treadmill 150/50 modification Please choose variant. 16,000 kg 1 1443.00€
€0s102999_XXX-65modva01 treadmill 150/50 modification for treadmill stellar 1p 16,000 kg 1 1,443.00€
€0s102999_XXX-65modva02 treadmill 150/50 modification for treadmill pulsar 1p 16,000 kg 1 1443.00€
€0s102999_XXX-65modva03 treadmill 150/50 modification for treadmill quasar MCUG 16,000 kg 1 1,443.00€
€0s102999_XXX-65modva04 treadmill 150/50 modification for treadmill pulsar 3p + Zebris plate 16,000 kg 1 1443.00€
c0s102999b Signal conditioner gaitway3D 1,100 kg 1 37,889.00 €
c0s102999e Zebris FDM flat cable gaitway3D 0,340 kg 1 34.70€
c0s102999k mounting angle gaitway 3D 150/50 0,480 kg 1 onrequest
c0s102999man-en Instruction for use gaitway3D 0,300 kg 1 onrequest
c0s102999q cable elev. motor - ELR gaitway3D 0,150 kg 1 38.70€

M:\Service\Servicemanual\9 ’Preististent20220523 "hpcosmos’ spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s102999v handrail support set gaitway3D 50,000 kg 1 3,547.00€
c0s102999z Sync Adapter BNC - Jack plug 0,100 kg 1 9.07€
cos103000 h/p/cosmos robowalk expander F 150/50 h/p/cosmos robowalk expander F 150/50 15,000 kg 1 3,426.00€
c0s103002-L h/p/cosmos robowalk expander Back left h/p/cosmos robowalk expander 150/50 25,000 kg 1 1,993.00€
cos103002-R h/p/cosmos robowalk expander Back right h/p/cosmos robowalk expander 150/50 25,000 kg 1 1,993.00€
€0s103005 drive-in nut M10 0,010 kg 1 124 €
c0s103007ral9005 Signal conditioner gaitway holder 0,220 kg 1 57.60 €
c0s103016 compressor for h/p/cosmos airwalk 47,000 kg 1 2,547.00€
c0s103025 power supply med 24VDC 60W with Chassis 0,150 kg 1 241.00 €
€0s103038 Hexagon head shoulder screws 12-M10x70 0,005 kg 1 10.20 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos103039 flanged bush 0,004 kg 1 1.31€
co0s10304 not specified 1 30.40€
€0s103041-01 threaded sheet 0% switch 150/50 LC 0,003 kg 1 149€
c0s103041a preasure distributor 0% switch 150/50 LC 0,010 kg 1 1.59€
c0s10305-01 fastening bolt for rear cover ve/sat 0,250 kg 1 2040€
c0s103051ral9005 flange mount adapt, Robowalk Exp. B left 1,430 kg 1 80.60 €
c0s103052ral9005 flange mount adapt, Robowalk Exp. right 1,430 kg 1 67.80€
c0s103054 Hexagon head screw M10x16 A2K 8.8 0,022 kg 1 0.24€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos103055 oil separator for compressor L-B50-4 not specified 1 217.00€
cos103059 butt connector insulated 0,5-1,0mm? 0,001 kg 1 043€
cos10306 ve/sat brake anchor to lifting motor not specified 1 onrequest
c0s103060 butt connector insulated 1,5-2,5mm? 0,001 kg 1 043€
c0s103063 stop plate POM white 0,040 kg 1 19.40 €
c0s103064ral9005 RWE F Adapter for TM 150-50 LC pluto 0,250 kg 1 38.70€
c0s103065 Hex. socket countersunk head screw M8x45 0,350 kg 1 791€
c0s103070 adapter plug India/South Africa to Euro 0,120 kg 1 60.10 €
cos103071 adapter plug China 16A to Euro 0,120 kg 1 60.10€
c0s103072 adapter plug Schweiz 16A to Euro 0,120 kg 1 60.10 €
cos103080 hexagon head with collar thread M4x8 A2K 0,002 kg 1 0.15€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos103081 wooden platform parawalk 3m not bevelled 18,800 kg 1 1,143.00€
c0s103093 WAGO 2- contact fuse holder 0,002 kg 1 740€
cos103095 WAGO crown bridge 1,5mm? 0,005 kg 1 0.61€
c0s103102 hexagon screw M16x50 A2K 8.8 0,026 kg 1 onrequest
c0s103103 Countersunk screw I1SO 10642 M5x50-A2-70 not specified 1 047€
c0s103106 drive-in nut M10 0,010 kg 1 124 €
c0s103108 relay mech. 1xchanger 24VDC 250VAC 16A 0,018 kg 1 6.00€
cos103144 Hexagon spacer bolt nickel M3x14 0,003 kg 1 0.80€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s103145 Hexagon spacer bolt nickel M3x12 0,003 kg 1 0.73€
c0s103146 rubber buffer 0,013 kg 1 237€
c0s103162 Washer plastic M3 0,005 kg 1 0.04€
c0s103163 lock washer RIPP LOCK M10 0,004 kg 1 1.99€
cos103164 conduit connector AD36 M40 0,250 kg 1 161.00 €
c0s103175 Hexagonal screw 1SO 4017 M5x16 0,001 kg 1 0.24 €
c0s103180 Hexagonal screw DIN 933/ISO 4017 M5x14 0,001 kg 1 0.04€
c0s103185-01 Flashspeicher 256GB for MCUG not specified 1 onrequest
€0s103185-01-WIN10-10T Flash memory 32GB with IOT SW 0,020 kg 1 290.00 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s103185-WIN10-10T Flash memory 32GB with IOT SW 0,020 kg 1 290.00 €
c0s103187-01 NFC/RFID Reader Board MCUG UserTerminal 0,020 kg 1 285.00 €
cos103187a User Terminal Touchpanel GUI cable X202 0,020 kg 1 28.50€
c0s103188 speaker K50 0,040 kg 1 17.90€
c0s10318vz xx/65 running surface spacer 0,200 kg 1 onrequest
c0s103190 Micro-MaTch connector 6pol 0,001 kg 1 1.28€
c0s10319-01 belt tensioner clamping bolt 170-190/65 0,040 kg 1 18.80 €
c0s103193 flatcable 8-pin grey 0,561 kg 1 0.77€
cos103197 lock washer RIPP LOCK M5 0,004 kg 1 1.99€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s103198 lock washer RIPP LOCK M6 0,004 kg 1 1.99€
c0s103199 lock washer RIPP LOCK M8 0,004 kg 1 1.99€
c0s103200 lock washer RIPP LOCK M12 0,004 kg 1 1.99€
c0s103201 lock washer RIPP LOCK M16 0,004 kg 1 1.99€
05103202 lock washer RIPP LOCK M5 0,004 kg 1 1.99€
c0s103203 lock washer RIPP LOCK M6 0,004 kg 1 1.99€
cos103204 lock washer RIPP LOCK M8 0,004 kg 1 1.99€
c0s103205 lock washer RIPP LOCK M10 0,004 kg 1 1.99€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s103206 lock washer RIPP LOCK M12 0,004 kg 1 1.99€
cos103207 lock washer RIPP LOCK M16 0,004 kg 1 1.99€
c0s103208 Hexagon head screw M10x16 A2K 8.8 0,022 kg 1 0.24 €
c0s10321-04 170/65 side frame left 22,329 kg 1 onrequest
c0s103217 lens head screw M3x8 A2 8.8 0,026 kg 1 1.20€
c0s103218 Counter sunk head screw M3x5 VA2 0,001 kg 1 0.08€
c0s10322 circlip for waves 45x1,75 A 0,007 kg 1 0.64 €
c0s103224 Keyboard film white EN OEM MCU4/MCU5 0,035 kg 1 80.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s103225 cover cap for USB A 0,018 kg 1 1.86 €
c0s10323 circlip for bores 85x3 0,032 kg 1 1.59€
cos103234 lens head screw M6x20 V2A 0,003 kg 1 0.64 €
c0s103235 lens head screw M3x5 A2 8.8 0,026 kg 1 1.20€
c0s10324 grooved ball bearing 6209 0,420 kg 1 46.80 €
c0s103246 Mains lead USA NEAM 6-15 2,5m V-Lock 0,442 kg 1 32.80€
c0s10325-03 170/65 side frame right 22,396 kg 1 onrequest
c0s103259 Contact Housing XHP-2 (2-pin) red 0,001 kg 1 0.09€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s103260 Contact Housing PHR-4 (4-pole) 0,001 kg 1 0.15€
€0s10326-02 190/65 side frame left 24,156 kg 1 onrequest
c0s103262 contact for PHR housing rolimaterial 0,001 kg 1 0.23€
c0s103265 Contact Housing flat cable 10pol 0,020 kg 1 1.66 €
c0s103269a ripcord switch housing female not specified 1 1.28€
c0s103269b ripcord switch housing male not specified 1 1.28€
c0s103269cvz ripcord switch metall disc not specified 1 3.19€
c0s10327-01 190/65 side frame right not specified 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos103271 Circular mounting socket 4-pin 0,008 kg 1 11.70€
c0s103276 rope connector M12x1.25 0,060 kg 1 42.40€
cos103277 leveling sheet foot rail airwalk ap 0,040 kg 1 3.83€
c0s10328 ve/sat belt tensioner belt pulley not specified 1 132.00 €
c0s103281 connector L-shape airwalk ap 0,022 kg 1 13.00€
c0s103282 plug-in connect. straight 6-4 airwalk ap 0,007 kg 1 9.93€
c0s103286 bulkhead connector airwalk ap 0,072 kg 1 26.80€
cos103287 retrofit kit for compressor OF-S90-4 0,005 kg 1 76.90€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos103289 power supply cord monitor 5,0m 0,100 kg 1 15.50 €
<
c0s103290d valve housing PUI airwalk ap 0,200 kg 1 onrequest
c0s103290e valve housing PUI airwalk ap 0,200 kg 1 onrequest
€0s103290ral9010 valve housing PUI airwalk ap 0,500 kg 1 76.90 €
c0s103293 rope deflection eyelet for safety arch 0,150 kg 1 95.90€
c0s103296 angle plate welded airwalk ap 2,000 kg 1 onrequest
c0s103298 separation terminal, fuse holder 8 mm 0,013 kg 1 13.00 €
c0s103302 xx/50&65 safety arch pillar set hand75° 1,126 kg 1 746.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s103302ral9010 xx/50&65 safety arch pillar set hand75° 1,126 kg 1 746.00 €
c0s103303 xx/50&65 safety arch pillar set hand75° 1,126 kg 1 746.00 €
c0s103303ral9010 xx/50&65 safety arch pillar set hand75° 1,126 kg 1 746.00 €
cos103304 xx/50&65 safety arch pillar set hand75° 0,090 kg 1 25.00€
c0s103306 safety stop component case 0,270 kg 1 3210 €
cos103307 Medical desktop power supply 90W 0,140 kg 1 123.00 €
c0s103309a Underframe Andago positioning plate 140,000 kg 1 onrequest
c0s103309b Underframe Andago positioning angle 140,000 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s103309¢ Underframe Andago extension plate 140,000 kg 1 onrequest )
~ /@<;/>/ e
~ 508
= 2
K\\ ,/'/é/ /
-
c0s103309d Underframe Andago gusset plate 140,000 kg 1 onrequest
c0s103309e Underframe Andago support angle 140,000 kg 1 onrequest
c0s103309evsw Underframe Andago support angle welded 140,000 kg 1 onrequest
c0s103309f Underframe Andago foot plate 140,000 kg 1 onrequest
c0s103309vern Underframe Andago riveted 140,000 kg 1 onrequest
c0s103309vsw Underframe Andago welded 140,000 kg 1 onrequest
c0s10332 Plastic wheel D=80mm 0,078 kg 1 3.85€
€0s103322-01ral9010 handrail 150/50 LC 1S short L 108mm 1,140 kg 1 119.00 €
€0s103322ral9010 handrail short only 1 side 4,840 kg 1 116.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s103329 Glue- / Sealant 310ml 448,000 kg 1 30.90€
c0s103331 Servicebox treadmill saturn 450/300 0,152 kg 3 onrequest
c0s103333 tribo tape with adhesive coating black 0,004 kg 1 25.90€
c0s103336 wire X2/18 - K2.1/12 velsat 0,022 kg 1 555€
c0s103337-01 Zebris FDM-THPL-S-2i Mounting kit G6 38,000 kg 1 21,676.00 €
cos103341 Circular mounting socket 4-pin 0,008 kg 1 11.70€
c0s103343 Hydraulic hoses 0,670 kg 1 650.00 €
€0s103349-01 spacer sheet roller cover 150-50 LC 0,043 kg 1 1.28 €
c0s103355 Connector for Profibus M12 0,040 kg 1 37.70€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s103356 Attachment glass Optrel e684 not specified 1 onrequest
cos103357 Inner pane Optrel e684 not specified 1 onrequest
c0s103360 Lens head screw for plastics 4x12mm 0,001 kg 1 0.99€
c0s103361vz Crossbeam running surface u-beam150/50LC 1,520 kg 1 19.40 €
c0s103362vz Crossbeam running surface angle 150/50LC 0,220 kg 1 onrequest
cos103364 Crossbeam running surface angle 150/50 0,370 kg 1 onrequest
c0s103364vz Crossbeam running surface angle 150/50 0,400 kg 1 12.60 €
c0s103365ral9010 Handrail 150-50 adjustable front column 13,675 kg 1 onrequest
c0s103368ral250s handrail 150-50 adjustable front column 13,675 kg 1 238.00 €
€0s103368ral9010 handrail 150-50 adjustable front column 13,675 kg 1 238.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s103369 adapter plate for wheelchairramp ve/sat 1,000 kg 1 95.90€
c0s103370-100 Wheelchairramp xx/100 preassembled front 26,330 kg 1 1,909.00 €
c0s103370-125 Wheelchairramp xx/125 preassembled front 26,770 kg 1 1,909.00 €
c0s103370-75 Wheelchairramp xx/75 preassembled front 26,090 kg 1 1,909.00 €
c0s103371 Wheelchairramp ve/sat preassembled rear 23,260 kg 1 1,143.00€
c0s103372 Locking bolt 5Smm not specified 1 13.10€
c0s103373-100 Wheelchairramp xx/100 checkerplate front 15,400 kg 1 507.00 €
c0s103373-125 Wheelchairramp xx/125 checkerplate front 15,670 kg 1 507.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s103373-75 Wheelchairramp xx/75 checker plate front 15,160 kg 1 491.00 €
cos103374 Wheelchairramp ve/sat U-rail front long 1,580 kg 1 75.50€
cos103375 Wheelchairramp ve/sat positioning plate 0,070 kg 1 16.80 €
cos103376 Wheelchairramp ve/sat distance plate 0,150 kg 1 50.00€
cos103377 Wheelchairramp ve/sa spacer bolt front 0,820 kg 1 75.50 €
c0s103378 Wheelchairramp ve/sat ramp foot 0,290 kg 1 51.30€
cos103379 Wheelchairramp ve/sat hook safety plate 0,010 kg 1 25.90€
c0s10338 Lens head screw M4x10 A2S 10.9 0,001 kg 1 043€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos103380 Wheelchairramp ve/sat checker plate rear 15,670 kg 1 251.00€
c0s103381 Wheelchairramp ve/sat U-rail front short 1,500 kg 1 75.50€
c0s103382 Wheelchairramp ve/sat U-rail rear 1,440 kg 1 81.10€
c0s103383 Wheelchairramp ve/sat spacer bolt rear 0,830 kg 1 75.50€
c0s103386d Neodym magnet 40x8 mm with countersink 0,092 kg 1 1210 €
c0s103392 Expulsion fuse 2 phases K16A 0,250 kg 1 220.00 €
c0s1033%4 Expulsion fuse 1-pole K16A 0,125 kg 1 46.10€
c0s103396 Double-sided tape 16,50m x 25mm not specified 1 161.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos103397 Adapter plate without parts for pluto It 0,100 kg 1 54.10€
€0s103397ral9005 Adapter plate without parts for pluto It 0,100 kg 1 5410 €
c0s103398 parallel key 5x5x20mm 0,050 kg 1 0.64 €
c0s103410 connection board incl. sockets + cable 2,000 kg 1 281.00€
c0s103413 Spacer plate stop rail airwalk ap 0,013 kg 1 3490 €
c0s103415 Plate interfaces 150/50 pluto It 0,130 kg 1 onrequest
c0s103416 adapter board incl. parts preassembled 0,300 kg 1 187.00 €
c0s10342 lens head screw M4x16 A2K 10.9 0,001 kg 1 043€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos103421 hexagon distance bolts M4x15 VZ SW7 0,009 kg 1 1.15€
c0s103423 wire connection MCU5/S92 - add. board 0,012 kg 1 8.45€
cos103426apla UserTerminal von emotion NUR Platine emotion 1,000 kg 1 onrequest
c0s103426b additional board emotion fitness 100,000 kg 1 87.00€
c0s103426e cable EMV Y1 Board 0,100 kg 1 34.70 €
c0s103428 step tape 75mm, black 0,050 kg 1 22.50€
c0s103429 double-sided tape 50m x38mm 0,057 kg 1 39.20 €
c0s103430 distance plate for roller cover (right) 0,060 kg 1 421€
c0s103431 Dowel pin M8x26 0,001 kg 1 0.66 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s103432 switch sliding plate 1,126 kg 1 769.00 €
c0s103433 safety arch covering plate comp. case 0,070 kg 1 769.00 €
cos103434 Pressure spring 9,9x13,3 mm 0,004 kg 1 1.95€
c0s103435 Spiral spring eccentric clamp 0,002 kg 1 1.95€
c0s103436ral9010 safety arch crossbar xx/50-65 3,790 kg 1 972.00 €
cos103437 safety arch crossbar xx/50-65 preass. 3,930 kg 1 194.00 €
€0s103438ral9010 safety arch receptacle right 0,070 kg 1 22.50€
€0s103439ral9010 safety arch 2,20m reinforcing 90° 0,650 kg 1 22.50€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos10344 lens head screw M5x16 A2S 10.9 0,003 kg 1 0.52€
c0s103440ral9010 12,900 kg 1 559.00 €
c0s103441ral9010 safety arch bent tube round pipe 12,800 kg 1 548.00 €
c0s103442ral9010 safety arch support 150/50 G6 right 2,100 kg 1 onrequest
€0s103443ral9010 safety arch support 150/50 G6 left 2,100 kg 1 onrequest
cos103444 safety stop component case 1,126 kg 1 132.00 €
c0s103446 cable-set MCU5 1,150 kg 1 onrequest
€0s103449-01 170&190-65 front plate gaitway 3D 0,660 kg 1 onrequest
€0s103449-01ral9010 170&190-65 front plate gaitway 3D 0,660 kg 1 onrequest

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos10345 lens head screw M6x10 A2K 10.9 0,004 kg 1 0.60 €
€0s103458 cylinder head screw M10x100 A2K 8.8 0,035 kg 1 3.19€
c0s10346 lens head screw M6x16 A2S 10.9 0,004 kg 1 0.68 €
c0s103461 felt strip adhesive feltband grey 0,057 kg 1 46.50 €
c0s103470 sub-D 25-pin metal housing 0,030 kg 1 7.65€
c0s103472 Power supply med 200W/24VDC 0,900 kg 1 159.00 €
c0s103473 Power supply med 200W/12VDC 0,900 kg 1 166.00 €
cos103474 flatcable 8-pin grey 0,300 kg 1 57.60 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s103475 flatcable 34-pin plug 0,300 kg 1 27.50€
c0s103476 flatcable 34-pin socked 0,300 kg 1 15.50 €
c0s103478a Cable set for spare power supply12/24VDC 0,400 kg 1 91.80€
c0s103480 BLOCAN elbow alu-casting 160x160x80 1,200 kg 1 117.00 €
c0s103481 BLOCAN pressure connector -N- 80 1,200 kg 1 69.10 €
c0s103482 BLOCAN pressure connector -N- 160 0,520 kg 1 76.90 €
c0s103483 BLOCAN slot nut N/S D-Profile M12 0,100 kg 1 19.40 €
c0s103484 BLOCAN slot nut N/S D-Profile M10 0,100 kg 1 19.40€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s103486 BLOCAN cover plate D-Profile 80x160 0,200 kg 1 19.40 €
c0s103487 BLOCAN cover profile for D-Profile 1,200 kg 1 27.10€
c0s103492 cylinder head screw M8x80 A2K 8.8 0,018 kg 1 0.47€
cos103497 screw connector male 0,025 kg 1 12.10€
c0s103498 o-ring for rope guidance eyelets 0,001 kg 1 0.77€
c0s10350 cable end sleeve 0,34 N, insulated 0,001 kg 1 0.04€
cos103507 flanged bushing 222530-215 0,004 kg 1 2.55€
c0s10351 cable end sleeve 0,5 N, insulated 0,001 kg 1 0.04€
c0s103512 arm support flange adapter not specified 1 263.00 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s103512ral9010 arm support flange adapter coated not specified 1 263.00 €
cos103514 arm support adapter not specified 1 225.00 €
c0s103514ral9010 arm support adapter coated not specified 1 225.00€
c0s103515 arm support cushion support right not specified 1 275.00 €
€0s103515ral9010 arm support cushion support right not specified 1 275.00 €
c0s103516 arm support cushion support left not specified 1 250.00 €
c0s10352 cable end sleeve 0,75 N, insulated, blue 0,001 kg 1 0.04€
€0s103521 Plastic pillow block for 20mm bolt 0,055 kg 1 32.10€
cos103524 Cable lace b=4,8mm 1=280mm not specified 1 0.03€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s103529 counter nut SM-M20x1,5 0,007 kg 1 1.20€
c0s10353 core cable ends 1.0 N, isolated 0,001 kg 1 0.06 €
c0s103530 ripcord switch with end sleeve 0,020 kg 1 13.20€
c0s103531 cylinder head screw M10x85 A2K 8.8 0,038 kg 1 0.36 €
05103532 flanged bushing 222530-215 0,004 kg 1 255¢€
cos10354 cable end sleeve 1,5N, isolated 0,001 kg 1 0.04€
€0s103540 cable black1,5mm?11cm 1xcable end sleeve 0,005 kg 1 412€
€0s103541 cable black1,5mm?17cm 1xcable end sleeve 0,005 kg 1 425€
c0s103542 cable blue 1,5mm? 17cm 0,005 kg 1 412€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s103543 wire connection port RS232 to MCU5 0,012 kg 1 23.50€
cos103544 cable for emergency stop in front cover 0,060 kg 1 31.10€
cos103545 cable white 0,5% 15¢cm 1xcable end sleeve 0,003 kg 1 3.99€
cos10355 cable end sleeve 2,5mm? isolated 0,001 kg 1 0.04€
c0s103550-01 cable 3G 1,52 90cm 0,100 kg 1 17.00 €
cos103554 Monitor E-900 not specified 1 431.00€
€0s103558 cable black 1,5mm? 15¢m flat plug 0,006 kg 1 4.77€
c0s103559 cable blue 1,5mm? 18cm flat plug 0,005 kg 1 463€
cos10356 Cable end sleeve 2,5 L, isolated 0,001 kg 1 0.09€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s103562 cable grommet D=11,5 ID=6,5 h=6.0 0,001 kg 1 0.57€
€0s103565 filter leakage current 1-p 250V16AEPANFS 0,521 kg 1 104.00 €
cos103566a Zebris FDM-THPL-S-3i Mounting kit 150/50 38,000 kg 1 24479.00 €
c0s103569ral9010 HR 1 pillar straight left mercury 150/50 8,995 kg 1 396.00 €
c0s10357 Cable end sleeve 4,0 HL isolated 0,002 kg 1 0.23€
c0s103570ral250s Handrail 150/50 LC 1S standard 2,770 kg 1 121.00 €
c0s103570ral9010 Handrail 150/50 LC 1S standard 2,770 kg 1 65.00 €
c0s103571ral9010 HR straight 1 pillar right 170-190/65 10,080 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s103571vsral9010 HR straight 1 pillar right ve/sat 15,000 kg 1 onrequest
c0s103580eral9010 Back plate for external weight relief 14,960 kg 1 309.00 €
c0s103580ral9010 Housing for external weight relief 14,960 kg 1 309.00 €
c0s103583ral9010 Adapter for external weight relief 14,960 kg 1 194.00 €
c0s103585 One-way valve, 4mm 0,010 kg 1 onrequest
c0s103586 T-connector 4-4 0,010 kg 1 13.00€
c0s103587-green Messewand Bespannung Greenscreen not specified 1 onrequest
c0s103588 Cleaner for h/p/cosmos saturn 450/300rs 0,900 kg 1 44.80€
€0s10359-03ral9010 170&190-65 front plate 230V equipment 1,100 kg 1 onrequest
c0s103591 XHP pin housing 2-pole 0,001 kg 1 1.28€
€0s103594ral9010 Horizontal brace ceiling suspension 4,800 kg 1 300.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s103596 Cable green yellow 1,5mm? 20cm flat plug 0,007 kg 1 477 €
c0s103601 connector L-shape airwalk ap 0,022 kg 1 15.50 €
c0s103602 unweighting rope airwalk ap 0,110 kg 1 182.00 €
c0s103603 clinch nut M10 small counter sunk 0,001 kg 1 1.31€
€0s103605 hexagon head screw M10x50 A2 0,018 kg 1 1.72€
c0s103606 Cover cap plastic d=70x2mm black 0,020 kg 1 5.57€
c0s103609 Cable green/yellow40cm ring terminal M16 0,013 kg 1 17.20€
c0s103610 Frequency inverter 1p - 4kW xx/65 MCUG 1,400 kg 1 856.00 €
c0s103611ral9005 Adapter plate without parts for pluto It 0,100 kg 1 54.10€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s103615 Cable brown 0,5 11cm 1xcable end sleeve 0,003 kg 1 3.99€
€0s103617ral9010 HR straight 1 pillar right 170-190/65 10,080 kg 1 479.00 €
c0s103619 Relay 12 VDC 1x closer 0,005 kg 1 31.10€
c0s103623 clinch nut M8 counter sunk knurling 0,001 kg 1 0.31€
c0s103624 clinch nut M12 counter sunk knurling 0,001 kg 1 3.32€
c0s103631 wire contactor Q1/2/4/6 Q1.1/1/3/5 velsa 0,026 kg 1 3.22€
c0s103634 wire X4/F10-12 Q1/1/3/5 velsat 0,026 kg 1 2.79€
c0s103637ral250s hr 150/50 short 1S straight pillar right 8,995 kg 1 396.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s103637ral9010 hr 150/50 short 1S straight pillar right 10,100 kg 1 396.00 €
c0s103641 capacitor 14uF, 230VAC 0,001 kg 1 16.40 €
c0s103642ral250s handrail 150-50 LC adjustable crosstube 5,300 kg 1 137.00 €
c0s103642ral9010 handrail 150-50 LC adjustable crosstube 5,300 kg 1 137.00 €
c0s103648 wire FU - (A800) 0,156 kg 1 22.50€
cos103649 safety arch spiral cord with plug+switch 0,800 kg 1 onrequest
cos10365 Power plug english (GB) 250V/13A 0,054 kg 1 10.50 €
c0s103650ral9010 handrail 150/50LC 1S standard tube 800mm 1,200 kg 1 113.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s103652 flat lid for motor terminal box 0,100 kg 1 onrequest
c0s103653 countersunk head screw M10x40 A2K 8.8 0,026 kg 1 0.36 €
c0s103656 End connector,clear insulated, 2,5-6mm 0,380 kg 1 0.74€
c0s103657vz Assmebling plate e-module 150/50 LC 0,005 kg 1 3.7€
€0s103659 Inscription label double terminal 21-30 0,008 kg 1 497 €
c0s103665 Countersunk head screw M8x20 A2K 8.8 not specified 1 0.04€
cos103666 Plain bearing, cylindrical ID 6mm 0,004 kg 1 1.31€
cos10367 Power plug Australia 250V/15A 0,036 kg 1 31.50€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos103675 Capacitor 12uF, 230VAC 0,001 kg 1 13.80 €
cos103678 Zebris FDM-THPL-S-2i Mounting kit 150/50 38,000 kg 1 21,676.00 €
cos10368 EMC intercept.rail f.cabinet width 800mm 0,770 kg 1 75.00€
c0s103683 Gas pressure spring 0,820 kg 1 onrequest
c0s10370 Levelling socket M12 plastic d=80mm 0,162 kg 1 13.30 €
cos103705 non-slip tape vulcanized 0,050 kg 1 7.96 €
cos103709 Mains lead special voltage 0,900 kg 1 61.50€
c0s103709va01 Mains lead special voltage 100V, 110V, 120V, 127V NEMA L5-30P 0,900 kg 1 61.50€
c0s103709va02 Mains lead special voltage 200V, 208V NEMA L6-30P 0,900 kg 1 61.50€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos10371 Levelling socket M16 plastic d=100mm 0,388 kg 1 29.40€
c0s103720 power supply med 24VDC 40W with Chassis 0,150 kg 1 241.00 €
c0s10372-01 Handrail tube clamp 60 round OD79x9mm 0,110 kg 1 38.70€
cos103721 cable ELR-X1 0,008 kg 1 7.96 €
c0s103723vz Running surface U-beam 150/50 LC rear 1,520 kg 1 onrequest
cos103725 Levelling socket M12 plastic d=80mm 0,162 kg 1 13.30€
cos103727 lock washer RIPP LOCK M8 0,017 kg 1 1.99€
cos103729 Crossbeam running surface U-beam150/50LC 1,600 kg 1 49.80€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos10373 Cable lace b=2,5mm I=100mm not specified 1 0.03€
cos103730 mounting rail 150/50 LC 230mm 0,330 kg 1 464 €
c0s103731-01 mounting rail 150/50 G6 255mm 0,330 kg 1 433€
cos10374 Cable lace b=3,6mm 1=200mm 0,001 kg 1 0.13€
cos103740 Blanking plug PE black D=11,0mm 0,001 kg 1 0.62 €
cos103741 Plastic cover cap 40x40x3mm, black 0,010 kg 1 0.79€
c0s103742ral250s Handrail 150-50 adj. front column left 13,500 kg 1 onrequest
c0s103742ral9010 Handrail 150-50 adj. front column left 13,500 kg 1 onrequest
cos103743ral250s Handrail 150-50 adj. front column right 13,500 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s103743ral9010 Handrail 150-50 adj. front column right 13,500 kg 1 onrequest
c0s103744 Housing female 3-pole 0,001 kg 1 124 €
cos103745 Housing female 6-pole 0,001 kg 1 161€
cos103746 Micro-Fit crimp contact 0,001 kg 1 1.00€
cos103747 Adapter plate Touch Panel AFL3 450/300rs 1,090 kg 1 85.70 €
cos10375 Cable tie b=4,8mm |=360mm 0,003 kg 1 0.19€
cos10376 Rubber metal cushion male thread M8 0,042 kg 1 411€
c0s103760 Horizontal bar, Robowalk Exp. front 2,400 kg 1 481.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos103766 Bearing seat for gaitway 3D incl. adjus. 0,230 kg 1 onrequest
c0s103768 Gradient rail 170-65 longhole front 9,100 kg 1 145.00 €
cos103769 Gradient rail 170-65 longhole rear 4,200 kg 1 145.00 €
cos10377 Rubber metal cushion male/female thread 0,054 kg 1 5.04€
cos103770 Spacer plate handrail adapter gaitway 3D 1,850 kg 1 onrequest
cos103770ral9005 Signal conditioner gaitway holder 1,850 kg 1 57.60€
cos103772 Connecting plate f. fixation of el.motor 1,470 kg 1 54.20€
€0s103772ral9005 Connecting plate f. fixation of el.motor 1,470 kg 1 54.20 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos103773 Guiding chunck for elevaton motor holder 0,220 kg 1 145.00 €
-—
cos103774 elevation motor holder gaitway 3D 170-65 0,680 kg 1 145.00 €
cos103775 sensor plate gaitway 3D 170-65 11,630 kg 1 769.00 €
cos103776ral9005 cross stiffner plate gaitway 3D 2,900 kg 1 54.20€
c0s103777 Connection terminal 2-wire grey 1,5 mm? 0,002 kg 1 0.68 €
cos103778 sheet metal for fixation of rot. axis 0,080 kg 1 onrequest
cos103778ral9005 sheet metal for fixation of rot. axis 0,080 kg 1 24.10€
cos103779 Spacer plate inclination gaitway 3D 0,480 kg 1 onrequest
cos103780 checker plate for gaitway 3D incl. xx-65 4,210 kg 1 25.90€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos103781ral9005 cross stiffner plate gaitway 3D 2,900 kg 1 54.20€
c0s103782 BLOCAN profile D 80x160 anodised 1900mm 26,500 kg 1 1535.00€
cos103783 BLOCAN profile D 80x160 anodised 600mm 8,500 kg 1 488.00 €
cos103784 BLOCAN profile D 80x80 anodised 600mm 5,200 kg 1 259.00 €
cos103785 mounting angle gaitway3D elevation motor 0,480 kg 1 90.20€
cos103785ral9005 mounting angle gaitway3D elevation motor 0,480 kg 1 110.00 €
cos103787 0,001 kg 1 0.66 €
\ |
‘ | ———
c0s103788ral9005 base plate for arm support 8,500 kg 1 95.90 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s103790ral9010 support foot extension 120mm M12 0,700 kg 1 93.10€
c0s103794 back plate user terminal 150/50 LC 0,050 kg 1 28.10€
cos103795 Relays socket for mechanical relays 0,052 kg 1 17.70€
c0s10380 Hexagon socket head cap screw M4dx16 A2 0,001 kg 1 0.15€
c0s103802 cable red 0.5% 10cm 1x cable end sleeve 0,003 kg 1 0.56 €
c0s103803 cable green/yellow 2,5mm?73cm, cable lug 0,025 kg 1 6.69 €
cos103804 cable red 0.5% 7cm 2x cable end sleeve 0,003 kg 1 3.99€
c0s103805 cable black 1,5mm?23cm, cable end sleeve 0,005 kg 1 2.60€
cos103806 cable blue 1,5mm? 23cm 1x cable end sl 0,005 kg 1 2.60 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos103807 cable 4x0.34 57cm elevation motor xx-65 0,050 kg 1 8.54 €
c0s10381 Insulating tube 1mm, black not specified 1 0.66 €
cos103817 safety arch crossbar premounted 10,420 kg 1 398.00 €
c0s103818ral9010 safety arch support right 3,440 kg 1 72.20€
€0s103819ral9010 safety arch support left 3,440 kg 1 43.40€
c0s103820ral9010 safety arch tube bent right 15,660 kg 1 477.00 €
c0s103822 cover cap for RJ45 0,018 kg 1 297 €
c0s103823 cover cap HDMI 0,018 kg 1 297 €
c0s103829 threaded sheet 0% switch 150/50 G6 drill 0,003 kg 1 1.86 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s10383 Insulating tube 3mm, black not specified 1 0.99€
c0s103830 Crossbeam running surface U-beam 150/50 1,500 kg 1 18.80 €
c0s103831 Cylinder head screw M3x14 A2K 8.8 0,001 kg 1 0.08€
c0s103832 Plate interfaces 150/50 pluto It 0,010 kg 1 14.60 €
c0s103836 Plastic cap handlebar emotion 0,018 kg 1 14.50 €
c0s103838 end cap for profile rail 35/7,5 0,001 kg 1 124 €
c0s103839 power cord for power supply zebris 0,098 kg 1 718€
c0s10384-01 Insulating tube 4mm, black not specified 1 133€
c0s103840ral9010 front sheet gaitway 3D xx/65 3p 0,250 kg 1 onrequest

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s103843 Safety arch adapter/extension welded not specified 1 onrequest
€0s103843ral9010 Safety arch adapter/extension coated 1,070 kg 1 54.20 €
c0s103845 Safety arch bent tube round pipe M12 not specified 1 7.21€
c0s103846 Safety arch xx/65 extended support left not specified 1 onrequest
c0s103846ral9010 Safety arch xx/65 extended support left 4,700 kg 1 116.00 €
cos103847 Safety arch xx/65 extended support right not specified 1 onrequest
c0s103847ral9010 Safety arch xx/65 extended support right 4,700 kg 1 116.00 €
c0s103848 Safety arch xx/50 extended support left not specified 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s103848ral9010 Safety arch xx/50 extended support left 4,700 kg 1 116.00 €
c0s103849 Safety arch xx/50 extended support right not specified 1 onrequest
€0s103849ral9010 Safety arch xx/50 extended support right 4,700 kg 1 116.00 €
cos103850 Dell MDS19 Dual Monitor Stand 2,200 kg 1 onrequest
c0s103851 USB hard disk extern 320/500GB 0,236 kg 1 onrequest
cos103857 150/50 footboard right extra wide 6,500 kg 1 onrequest
cos103858 150/50 footboard right extra wide 6,400 kg 1 onrequest
c0s10386-01 Insulating tube 6mm, black not specified 1 1.33€
cos103866 Rubber handle 30mm, 740mm 0,250 kg 1 18.00 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s103868ral9010 Safety arch tube bent ve/sat left 15,570 kg 1 446.00 €
c0s103869 Safety arch crossbar premounted 13,040 kg 1 370.00 €
cos103870 Safety arch cross bar 6,370 kg 1 218.00 €
c0s103882 Bottom bracket 4 parawalk 2,44m 25,000 kg 1 onrequest
c0s103885 Cylinder head screw M4x6 A2K 8.8 0,002 kg 1 onrequest
c0s103886 Hexagonal pacer PVC 6,35x14mm 0,003 kg 1 142€
c0s103887 Lens head screw for plastic 3x8mm 0,001 kg 1 onrequest
c0s10389 Insulating tube 9mm, black not specified 1 3.25€
cos103897 Counter sunk screw for plastic 3x8mm 0,001 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s10390-01 Insulating tube 10mm, black not specified 1 2.98€
c0s103902 Back plate for user terminal turnable Please choose variant. 2,000 kg 1 149.00 €
c0s103902va01 Back plate for user terminal turnable RAL9010 2x RS232 2,000 kg 1 170.00 €
c0s103902va02 Back plate for user terminal turnable RAL9010 2x RS232 + Add. option 2,000 kg 1 311.00€
c0s103908 Express sling/loop 45¢cm 0,045 kg 1 18.70 €
c0s103913 Inscription label double piece unprinted 0,008 kg 1 497 €
c0s10392 Insulating tube 16mm, black not specified 1 3.32€
c0s10393-01 Insulating sleeve 20mm black UL not specified 1 477€
c0s103935 USB WLAN Stick 0,016 kg 1 54.20€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos103937 shoulderscrew M6 L=20mm 0,006 kg 1 2.38€
€0s103941 flanged bush 0,004 kg 1 1.31€
cos103944 Levelling socket M12 plastic d=80mm 0,162 kg 1 13.30€
c0s103949 toothed lock washers M12 A2K Form A 0,008 kg 1 0.60 €
c0s103952 Spherical roller bearings sat450/300 Ruh 4,040 kg 1 939.00 €
c0s103959 assembling set screws airwalk ap not specified 1 onrequest
c0s103968 communication module 0,134 kg 1 1,24400€
c0s103968a communication processor 0,122 kg 1 1,362.00 €
c0s103968b SIMATIC S7-1200F 0,435 kg 1 1,709.00 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s103968¢c analog input module 2 channel 0,032 kg 1 377.00€
c0s103968d analog input module 4 channel not specified 1 573.00 €
c0s103968e PROFINET interface module 0,147 kg 1 637.00 €
cos103968f Busadapter BA 2xRJ45 0,046 kg 1 146.00 €
cos103968g digital /0 SM 1223 0,310 kg 1 756.00 €
c0s103968h digital input SM 1226 0,250 kg 1 557.00 €
c0s103968i digital output SM 1226 0,270 kg 1 557.00 €
c0s103968; BaseUnit BU15-P16+A0+2B 0,040 kg 1 39.30€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos103968k Industrial-ECO-Switch 0,352 kg 1 323.00€
cos103968| digital output module 0,028 kg 1 125.00 €
c0s103968m Power supply SPS 24VDC/20A not specified 1 777.00 €
c0s103968n not specified 1 378.00 €
c0s1039680 digital input module 0,028 kg 1 125.00 €
cos103968p BaseUnit BU15-P16+A0+2D 0,040 kg 1 39.30€
c0s10397 between sleeve stop button 0,004 kg 1 23.50€ ‘ 031 ‘
\
o
c0s103970 mounting angle gaitway3D elevation motor 0,480 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf




Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos103971a safety arch covering plate comp. case 0,900 kg 1 72.20€
c0s103971b cross bar holder UT GUI MCUG6 450/300 1,300 kg 1 onrequest
c0s103971bral9005 Stand UserTerminal removable HR 3,900 kg 1 362.00 €
cos103971e Safety arch covering plate comp. case 0,100 kg 1 18.10€
€0s103971fral9005 Stand UserTerminal removable HR 3,900 kg 1 54.20 €
c0s103971g Safety arch covering plate comp. case 0,060 kg 1 72.20€
c0s103973 mounting angle gaitway3D elevation motor 0,480 kg 1 onrequest
c0s103973a mounting angle gaitway3D elevation motor 0,480 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s103973b mounting angle gaitway3D elevation motor 0,480 kg 1 onrequest
c0s103973c mounting angle gaitway3D elevation motor 0,480 kg 1 onrequest
c0s103973d mounting angle gaitway3D elevation motor 0,480 kg 1 onrequest
c0s103973ral9007 170-190/65 roller cover small right side wave cover grey aluminium 3,200 kg 1 290.00 €
co0s103974 table support UserTerminal GUI MCU6 1,100 kg 1 55.70 €
c0s103979ral9005 cross stiffner plate 2,900 kg 1 54.20€
cos103980 table support UserTerminal GUI MCU6 1,100 kg 1 59.10€
€0s10398-01vz case inverter FR-A840-3,7k 2,360 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos103984 emergency stop (rough hand) 2NC 0,280 kg 1 158.00 €
€0s103985 Exchange motor cover from black to white 2,600 kg 1 59.10 €
c0s103986 Exchange motor cover from white to black 2,600 kg 1 59.10€
cos103987 hexagonal bolt M20x100 0,031 kg 1 7.33€
€0s103988 Washer Form B D=21 A2K 0,074 kg 1 421€
c0s103989 trafo housing for gaitway 3D 13,000 kg 1 onrequest
c0s103989a plate entry gap main frame 150/50 0,230 kg 1 254.00 €
c0s103989b plate entry gap main frame 150/50 1,900 kg 1 36.20 €
cos103989b_Bohr plate entry gap main frame 150/50 1,900 kg 1 36.20€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s103989bral9005 Adapter plate without parts for pluto It 0,100 kg 1 54.10€
c0s103989c plate entry gap main frame 150/50 0,230 kg 1 206.00 €
c0s103989d plate entry gap main frame 150/50 0,500 kg 1 20.60€
€0s103989dral9005 Adapter plate without parts for pluto It 0,100 kg 1 54.10€
€0s103989eral9005 Adapter plate without parts for pluto It 0,090 kg 1 5410 €
c0s103990 expulsion fuse 3phase C 32A 0,375 kg 1 146.00 €
c0s103991 Expulsion fuse 1 phase C 6A 0,125 kg 1 54.20€
c0s103992 Tripped indicator 2 NC contacts not specified 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list  date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s103993 Handrail crossbar rolled 65 ral9006 2,200 kg 1 266.00 €
€0s103997 Lens head screw for plastic 2,2x6mm 0,001 kg 1 0.97€
cos10400 Fine fuse 0,1A T 0,001 kg 1 0.54 €
cos104001 Housing terminalbox hydraulic power unit 8,600 kg 1 375.00€
€0s104002 Contactor 24V DC Schneider 0,480 kg 1 60.20 €
cos104004 connection cable X5 25,000 kg 1 1,039.00€
cos104005 cable bushing 24/32 0,018 kg 1 onrequest

cos104006 cable bushing 24/32 0,018 kg 1 onrequest

cos104007 cable sleeve small grey 0,018 kg 1 3.49€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos104008 Cable entry strip 0,018 kg 1 33.80€
cos104009 Panel jack HDMI UL 0,020 kg 1 onrequest
cos10401 Fine fuse 0,16A T 0,001 kg 1 0.54 €
c0s104013 HDMI cable 1,5m not specified 1 29.40€
cos104014 Rillenkugellager FAG 608-2Z-C3 0,016 kg 1 19.20 €
cos104015 cable white 0,5mm? 22cm 0,003 kg 1 3.99€
cos104018 Tripped indicator 2 NC contacts 0,055 kg 1 onrequest
c0s10402 Fine fuse 1,0A T 0,001 kg 1 0.54€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s104022 Frequeny inverter 45kW 28,700 kg 1 8,055.00€
c0s104023 EMC mains filter 100A 6,500 kg 1 1,265.00 €
cos104024 Regeneration unit 15KW 400V 6,500 kg 1 1,887.00€
c0s104026 Expulsion fuse 1 phases K10A 0,250 kg 1 220.00 €
cos104027 Power supply Optogait (1-30mt) not specified 1 116.00 €
c0s104027_pc Power supply Optogait (1-30mt) not specified 1 6.80 €
cos104029 Connection cable XV2 Trafo 25,000 kg 1 581.00 €
cos10403 Fine fuse 1,6A T 0,001 kg 1 0.54 €
cos104030 Connection cable XV2 Trafo 25,000 kg 1 581.00 €
c0s104031 Connection cable X5 25,000 kg 1 1,039.00€
cos104036 XLR chassis connector 4-pin (female) 0,030 kg 1 445€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos104037 XLR plug 3-pole (male) 0,019 kg 1 2.65€
c0s104038 Lens head screw M4x10 A2 0,001 kg 1 040€
cos104044 WAGO terminal 35mm? grey 0,105 kg 1 29.70€
cos104046 Cable gland SKINTOP BS-M 0,025 kg 1 onrequest
cos104047 Hexagon nut, M32, nickel-plated 0,053 kg 1 onrequest
cos10405 Fine fuse 16A T 0,001 kg 1 0.54 €
cos104083 Cylinder pin 0,020 kg 1 0.63€
cos104094 lens head screw M6x16 V2A 0,003 kg 1 0.60€
cos104095 cylinder head bolt M6x16 0,015kg 1 0.32€
€0s104098 hexagon nut M16 A2K 0,029 kg 1 0.32€
cos104099 hook-and-loop tape (hook) 50mm 0,031 kg 1 6.01€
c0s104101 Microgate WittyTab: Charger 12V not specified 1 59.10€

M:\Service\Servicemanual\9 ’Preististent20220523 "hpcosmos’ spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s104102 EU plug for charger not specified 1 6.01€
c0s104105 clinch nut M5 counter sunk knurling 0,001 kg 1 onrequest
cos104107b cross bar holder UT GUI MCU6 450/300 0,610 kg 1 onrequest
€0s104107cral9007 cross bar holder UT GUI MCUG6 450/300 1,300 kg 1 onrequest
€0s104107cral9010 cross bar holder UT GUI MCUG6 450/300 1,300 kg 1 onrequest
c0s104108 sensor plate gaitway 3D 150-50 G6 9,500 kg 1 769.00 €
€0s104109ral9005 base plate for arm support 7,100 kg 1 95.90 €
c0s104110 checker plate for gaitway 3D incl. xx-65 3,200 kg 1 25.90€
cos104111 BLOCAN profile D 80x80 anodised 600mm 5,400 kg 1 259.00 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s104112 BLOCAN profile D 80x160 anodised 600mm 8,700 kg 1 488.00 €
c0s104113 cylinder head screw M8x80 A2 0,020 kg 1 047€
cos104116 safety arch support left 5,230 kg 1 40.90€
c0s104116ral9010 safety arch support left 5,230 kg 1 43.40€
cos104117 safety arch support right 5,230 kg 1 43.40€
c0s104117ral9010 safety arch support right 5,230 kg 1 43.40€
cos104119 horizontal bar, Robowalk Exp. F robowalk 170/190-65 1,850 kg 1 481.00 €
c0s104120 Power plug Israel, 3 pole, 16 A 0,030 kg 1 18.10€
c0s104123 Relay mech. 2xchangeover 24VDC 250VAC 8A 0,018 kg 1 6.00 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos104124 Power plug Israel, 3 pole, 16 A 0,036 kg 1 20.60€
c0s104130 handrail venus saturn rear right 7,200 kg 1 onrequest
c0s104130ral9010 handrail venus saturn rear right 7,200 kg 1 onrequest
c0s104131ral9010 handrail venus saturn rear left 7,200 kg 1 onrequest
c0s104133 emergency stop cable airwalk button -XHP 0,300 kg 1 90.20€
cos104134 emergency stop cable airwalk XHP-XLR 0,500 kg 1 30.20€
cos104137 assembling set screws parawalk not specified 1 onrequest
c0s104139 Key switch RONIS 0,051 kg 1 50.70 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos104140 holder for key switch RONIS 0,051 kg 1 3.61€
c0s104142 Assembling set ladder ergometer MAW 13,201 kg 1 3,003.00€
cos104147 cross bar holder UT GUI MCU6 450/300 1,300 kg 1 onrequest
c0s104148 cable junction box 0,036 kg 1 2.64 €
c0s104149 wheelchair guidance base plate 0,430 kg 1 onrequest
c0s104149vz wheelchair guidance base plate 0,430 kg 1 onrequest
cos104150 wheelchair guidance height adjustment 0,510 kg 1 onrequest
cos104156 countersunk head screw M12x25 A2K 8.8 not specified 1 0.92€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos104157 cable brown 0,52 19¢m + 1x cable end sle 0,003 kg 1 3.48€
c0s104158ral9010 handrail tube long pluggable ve 200/xx 7,000 kg 1 onrequest
c0s104159ral9010 handrail tube long pluggable sat 250/xx 9,100 kg 1 onrequest
c0s104160ral9010 handrail tube long pluggable sat 300/xx 7,720 kg 1 onrequest
c0s104169 Sub-D housing 9-pin ABS metal 0,010 kg 1 1210 €
cos104170 Sub-D 15-pin connector solder cup 3 raws 0,030 kg 1 3.61€
cos104171 Spiral coiled tube 20mm black 1,200 kg 1 11.50 €
c0s104178 Cushion tape 19x6mm white 10 meter not specified 1 13.70€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s104183 shoulderscrew M6 L=16mm 0,006 kg 1 2.38€
cos104184 Swivel castor LKRA D=50 0,500 kg 1 86.00 €
cos104190 Sandberg Flex Full HD-Webcam 1920 x 1080 0,200 kg 1 onrequest
cos104191 Witty light barrier column 4,500 kg 1 onrequest
c0s104191ral9005 Witty light barrier column 4,500 kg 1 onrequest
c0s104192 Witty mounting angle 0,250 kg 1 onrequest
c0s104192ral9005 Witty mounting angle 0,250 kg 1 onrequest
€0s104193ral9005 Clamp disc 0,120 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s104194 Witty reflector column base plate 7,000 kg 1 onrequest
c0s104194ral9005 Witty reflector column base plate 7,000 kg 1 onrequest
c0s104195 Witty reflector column 2,200 kg 1 onrequest
c0s104196 Witty reflector column cover bottom 0,030 kg 1 onrequest
cos104197 Non slip step stripe speed 190/65 not specified 1 93.20 €
c0s104198 Non slip step stripe speed 170/65 not specified 1 93.20€
c0s104200a magnetic holder for additional keyboard not specified 1 onrequest
c0s104200b-01 magnetic holder for additional keyboard not specified 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos104204 Name plate clemp WAGO L2 0,008 kg 1 6.25€
c0s104205 Name plate clemp WAGO L3 0,008 kg 1 6.25€
cos104206 Expulsion fuse 1-pole C 6A 0,125 kg 1 40.80 €
cos104207 Toothed lock washers M16 A2K Form A 0,008 kg 1 0.60 €
c0s104220 Keyboard h/p/cosmos PC spanish not specified 1 50.80 €
c0s104223 plain washer M4 A2 w. big external dia. 0,001 kg 1 0.36€
cos104225 compensation washer 12x18x1,0mm V2A 0,001 kg 1 0.12€
c0s104233ral9005 Witty reflector column 2,200 kg 1 onrequest
c0s104235 Cover cap 80x80 not specified 1 onrequest

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s104236 Cover cap 50x50 not specified 1 onrequest
cos104237 Witty reflector column 9,500 kg 1 222.00 €
c0s104238 Witty light barrier column 6,000 kg 1 137.00 €
c0s104240 Cord handle screw M8 D40 black not specified 1 onrequest
c0s104243 Toothed lock washer M10 A2 not specified 1 0.30€
cos104244 Toothed lock washer M8 A2 not specified 1 0.24 €
c0s104248 assembling set screws airwalk ap not specified 1 onrequest
c0s104248b assembling set screws airwalk ap not specified 1 onrequest
c0s104250 cable clamp d=22mm 0,010 kg 1 1.80€
cos104251 Interference prevent capacitor Y1 4700 0,002 kg 1 0.72€
cos104254 BLOCAN slot nut -N/S- D-Profile M10 0,100 kg 1 249€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list  date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos104256a Servo motor support 0,050 kg 1 23.90€
co0s104256b gusset plate for servo motor support 0,050 kg 1 23.90€
cos104256¢ Intermediate ring f. servo motor support 0,050 kg 1 23.90€
cos104256d Servo motor support 0,050 kg 1 23.90€
€0s104258 Delock PCI Express Card to 2 x Serial RS 0,236 kg 1 onrequest
cos104259 h/p/cosmos PC solution LC 15,070 kg 1 1,829.00€
cos104267 Oil absorbent cloths not specified 1 onrequest
c0s104268 Hexagon spacer bolt plastic M3x15 0,003 kg 1 149€

cos10428 LE100-500CE handrail rectangular tube 6,000 kg 1 onrequest

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s104282 Medical desktop power supply 24VDC 36W 0,140 kg 1 60.10€
c0s104283 BLOCAN slot nut -N/S- D-Profile M10 0,100 kg 1 2.31€
cos10429 tube short for fastening user terminal 0,787 kg 1 onrequest
c0s10430-02 light barrier light active ML300-55-6m 0,075 kg 1 304.00 €
c0s104304a heating cartridge not specified 1 4550 €
cos104304b heating cartridge sleeve not specified 1 172.00 €
c0s104304c heating cartridge not specified 1 13.70€
c0s10431 handrail 170&190-65 flange not specified 1 36.10€
c0s10432-01 Reflecting foil for light barrier 0,500 kg 1 73.30€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s104322a RCCB bipolar Type B 0,220 kg 1 1,051.00€
c0s104322b junction box external transformer 6,980 kg 1 182.00 €
cos104329 1-socket surf.mounted socket outlet IP54 not specified 1 27.30€
c0s104331 Corrosion protection spray 300ml not specified 1 62.50 €
c0s104335 Taper clamping bush 1610/24 0,095 kg 1 21.90€
c0s104342 Poly V drive belt 170-190/65 22-45km/h 0,100 kg 1 33.50 €
c0s104343 Magnet Neodym 0,092 kg 1 onrequest
cos104344 magnet Neodym 0,092 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos104347 cable end sleeve 1,5N, isolated 0,001 kg 1 onrequest
c0s104349 Frequency inverter ATV12 2,2kW 150/50 g6 1,400 kg 1 onrequest
cos104350 Frequency inverter ATV12 2,2kW 150/50 g6 1,400 kg 1 onrequest
c0s104351 industrial relay 24V 20A 2-pole 0,300 kg 1 onrequest
c0s10436-01ral 170/65 middle frame powder coated 11,400 kg 1 203.00 €
c0s10436-01ral-cc 170/65 middle frame powder coated 11,400 kg 1 376.00 €
c0s10436-02a 170/65 middle frame 2,100 kg 1 156.00 €
c0s10436-02b 150-50 middle frame 1,014 kg 1 152.00 €
c0s10436-02¢ 150-50 middle frame 1,014 kg 1 152.00 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s10436-02dvz Running surface U-beam 150/50LC rear 1,700 kg 1 onrequest
c0s10436-03ral 170/65 middle frame powder coated 11,400 kg 1 191.00 €
c0s104368 Mini DisplayPort to HDMI Adapter 0,029 kg 1 26.30€
c0s10437-01-cc 190/65 middle frame powder coated 12,500 kg 1 276.00 €
c0s10437-01ral 190/65 middle frame 12,500 kg 1 276.00 €
c0s10437-02a 190/65 middle frame 2,100 kg 1 156.00 €
c0s10437-03ral 190/65 middle frame 12,500 kg 1 267.00 €
cos10456 0,004 kg 1 0.24 €
cos10457 0,017 kg 1 1.11€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s10484-03 PowerSupplyMed P230VAC S24VAC1A+12VDC0.4 0,980 kg 1 137.00 €
c0s10485 Power supply med 200VAC-24VAC,12VDC 1,010 kg 1 188.00 €
c0s10486 Power supply med 110VAC-24VAC, 12VDC 0,910 kg 1 188.00 €
c0s10488 xx/65 handrail long, 2pillars, tube left 5,928 kg 1 onrequest
c0s10488-01 5,911 kg 1 onrequest
cos10496 Programming unit frequent invert. FRA024 0,090 kg 1 197.00 €
€0s10497 Accu MCU4 control unit 2,4Volt 0,008 kg 1 16.10 €
c0s10500-02 170&190-65 shaft accommodation 0,084 kg 1 27.60€
c0s10521 screw for rear roller tm 65 M12x120 0,103 kg 1 26.30€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s10522-01 snap-action switch for ripcord 0,010 kg 1 742¢€
cos10524 xx/65 handrail-short mounting tube UT not specified 1 onrequest
c0s10530 cord clip for cable laying -5mm 0,002 kg 1 0.43€
c0s10532 cord clip for cable laying -16mm 0,004 kg 1 0.64 €
c0s10533 6kt-Abstandsbolzen VZ M4x10 SW7 0,003 kg 1 040€
cos10534 Hexagon distance bolts M4x15 VZ SW7 0,009 kg 1 0.47€
c0s10535 Plastic cover plastic d=30mm, black 0,004 kg 1 0.60€
c0s10536 Cover cap plastic d=38mm black 0,004 kg 1 0.79€
c0s10543 Washer VZ M3 not specified 1 0.04€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list  date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos10544 Washer Form A M4 A2K 0,007 kg 1 0.04€

\ y

e
cos10545 Washer Form A M5 A2K 0,001 kg 1 0.04€

\ ;

b
cos10546 Washer Form A M6 A2K 0,001 kg 1 0.04€

\ /

s
cos10547 Washer Form A M8 A2K 0,002 kg 1 0.04€

\ y

e
c0s10548 Washer Form A M10 A2K DIN 125 0,003 kg 1 0.04€

\ ;

b
cos10549 Washer Form A M13 A2K DIN 125 0,006 kg 1 0.11€

\ /

s
c0s10550 Washer VZ M14 not specified 1 0.15€

\ y

e
c0s10551 Washer VZ M16 not specified 1 0.20€

\ ;

b

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s10552 plain washer M3 with big external diame. not specified 1 0.04€
€0s10553 plain washer M4 A2K w. big external dia. 0,001 kg 1 0.04 €
cos10554 plain washer M5 A2K w. big external dia. 0,001 kg 1 0.04€
cos10555 plain washer VZ M6 0,001 kg 1 0.04€
€0s10556 plain washer M8 A2K w. big external dia. 0,011 kg 1 1.20€
cos10557 plain washer M10 A2K w. big external di. 0,010 kg 1 0.11€
cos10558 plain washer M12 A2K 0,021 kg 1 0.28€
c0s10559 plain washer VZ M14 not specified 1 0.36 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos10560 plain washer VZ M16 not specified 1 0.40€
c0s10561 Lock washer M3 A2K 0,001 kg 1 0.04€
c0s10562 Lock washer M4 A2K 0,001 kg 1 0.04€
c0s10563 Lock washer M5 A2K not specified 1 0.04€
cos10564 Lock washer M6 A2K not specified 1 0.04 €
cos10565 Lock washer M8 A2K 0,001 kg 1 0.04€
cos10566 Lock washer M10 A2K not specified 1 0.08€
cos10567 Lock washer M12 A2K 0,002 kg 1 0.11€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos10568 Lock washer DIN7980 M14 not specified 1 0.24 €
cos10569 Lock washer DIN7980 M16 not specified 1 0.28€
cos10578 tube fitting US-M AD21 M20 0,042 kg 1 17.70€
c0s10580-03 Elevation motor 170&190-65 G1HAN 230V 6,500 kg 1 767.00 €
c0s10580-04 Elevation motor treadmill170&190/65 230V 6,200 kg 1 692.00 €
c0s10582 Hexagonal screw nut M3 A2K 0,003 kg 1 0.08€
c0s10583 Hexagonal screw nut M4 A2K 8.8 0,006 kg 1 0.04€
c0s10584 Hexagonal screw nut M5 A2K 0,002 kg 1 0.04€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos10585 Hexagonal screw nut M6 A2K 0,003 kg 1 0.04€
c0s10586 Hexagonal screw nut M8 A2K 0,005 kg 1 0.08€
cos10587 Hexagonal nut VZ M10 not specified 1 0.11€
cos10588 Hexagonal screw nut M12 A2K 8.8 0,015 kg 1 0.15€
c0s10589 hexagon nut VZ M14 not specified 1 0.32€
c0s10591 Hexagon lock nuts M3 A2K 0,004 kg 1 0.08€
c0s10592 Hexagon lock nut M4 A2K 0,001 kg 1 0.08€
c0s10593 Hexagon lock nuts M5 A2K 0,001 kg 1 0.08€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos1059%4 Hexagon lock nuts M6 A2K 0,002 kg 1 0.08€
€0s10595 Hexagon lock nuts M8 A2K 0,005 kg 1 011€
cos10596 Hexagon lock nuts M10 A2K DIN 985 0,011 kg 1 0.20€
cos10597 Hexagon lock nuts M12 A2K 0,016 kg 1 0.47€
c0s10598 Hexagon lock nuts DIN985-8 M14 not specified 1 0.79€
cos10599 Hexagon lock nuts M16 A2K 8.8 not specified 1 0.84€
cos10600 Hexagonal spacer sleeve M8x25 not specified 1 0.32€
c0s10601 Square washer M16 A2K 0,065 kg 1 0.88€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s10602 0,004 kg 1 0.52¢€
€0s10603 vurves spring washer VZ M16 0,005 kg 1 0.20€
cos10604 cylinder head screw M4x10 A2K 8.8 0,002 kg 1 0.11€
cos10605 cylinder head screw M4x12 A2K 8.8 0,002 kg 1 0.08€
c0s10606 cylinder head screw M4x16 A2K 8.8 0,002 kg 1 0.08€
cos10607 cylinder head screw M4x20 A2K 8.8 0,002 kg 1 0.08€
cos10608 cylinder head screw M4x10 A2K 8.8 0,003 kg 1 0.08€
cos10609 cylinder head screw M5x16 A2K 8.8 0,004 kg 1 0.08€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list  date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s10610 cylinder head screw M16x30 A2K 8.8 0,080 kg 1 0.79€
c0s10611 cylinder head screw M12x16 A2K 8.8 0,025 kg 1 040€
c0s10612 cylinder head screw M12x65 A2K 8.8 0,025 kg 1 0.60€
c0s10613 cylinder head screw M8x20 A2K 8.8 0,013 kg 1 0.11€
c0s10614 counter sunk screw M8x60 A2 IS5 0,021 kg 1 1.79€
cos10615 hexagon screw M10x100 A2K 8.8 0,055 kg 1 143€
c0s10616 hexagonal screw M8x25 A2K 8.8 0,018 kg 1 0.15€
c0s10617 Cover cap rubber d=12mm, black 0,002 kg 1 114 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list  date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos10619 Cover cap rubber d=18mm black 0,004 kg 1 1.36 €
€0s10620 cylinder head screw M4x8 A2 0,002 kg 1 0.15€
c0s10621 Lock washer M4 A2 0,001 kg 1 0.04€
c0s10622 Washer Form A M4 A4 0,004 kg 1 0.04€
c0s10623 0,085 kg 1 287€
cos10624 RS232 interface port holder (set) 0,001 kg 1 1.07€
c0s10625 RS232 cover, plastic grey 0,001 kg 1 1.99€
cos10647 170&190/65 cross bearer fastening motor not specified 1 onrequest
c0s10651 170&190/65 fastening angle shock mount not specified 1 onrequest

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s10653 xx/65 fast.elev.device welded-on part 17,238 kg 1 onrequest
c0s10653vz xx/65 fast.elev.device part to screw on 0,121 kg 1 18.30 €
cos10654 170&190/65 cross bearer not specified 1 onrequest
c0s10656-02vz xx/65 fastening angle speed sensor 12mm 0,046 kg 1 16.00 €
c0s10658 cable screw connection metal PG9 0,018 kg 1 7.96€
c0s10660 counter sunk screw M8x50 A2K 10.9 0,017 kg 1 0.52€
cos10661 Poly V drive belt 150/50 20-22 km/h 0,090 kg 1 18.70 €
c0s10662 superglue 3g tube 0,003 kg 1 14.70 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s10663 0,072 kg 1 onrequest
c0s10664 0,072 kg 1 onrequest
cos10665 Industry clean 500ml 0,475 kg 1 26.60 €
cos10666 Rubber cover cap d=20mm, black 0,007 kg 1 1.31€
cos10667 Velcro strip, 38mm (clasp) 0,031 kg 1 3.98€
cos10668 Velcro strip, 30mm (clasp) 0,028 kg 1 7.96€
cos10670-01ret rope for safety arch 4,3m D=11,0mm 0,350 kg 1 67.00 €
c0s10670-02 rope for safety arch 4,3m D=11,9mm 0,350 kg 1 68.30 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos10675 Main and emergency switch 3+N 11,5 kW 0,220 kg 1 95.50€
c0s10680-02 Handrail crossbar rolled 50 1,630 kg 1 183.00 €
c0s10721-01 170/65 Running deck gliding platform 21,000 kg 1 508.00 €
cos10734-04 motor cover 170&190-65 5.0 4,950 kg 1 321.00€
cos10735 170&190/65 handrail short r. tube curved not specified 1 onrequest
cos10738 xx/65 handr. short connect tube curved f not specified 1 onrequest
cos10739 xx/65 handr. short connect tube curved b not specified 1 onrequest
cos10744-02 roller axle 136mm d=12mm 0,122 kg 1 14.40 €
cos10747 xx/50&65 support angle center frame 0,220 kg 1 onrequest
cos10748 xx/50&65 fastening angle E-Module 0,052 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s10749-01 xx/50&65 fast. angle front sheet right 0,040 kg 1 onrequest
c0s10750 xx/50&65 caul motor 0,298 kg 1 onrequest
cos10751 xx/50&65 support center frame 0,677 kg 1 onrequest
cos10752 xx/50&65 fast. angle front sheet left not specified 1 onrequest
c0s10752-01 xx/50&65 fast.angle front sheet left 0,039 kg 1 onrequest
c0s10761-04vz mounting plate transformer 100-230V 1,300 kg 1 30.90€
c0s10763-02 roller axle 100mm d=12mm 0,091 kg 1 1440 €
cos10767ral9007 ve/sat cover plate rear right 3,200 kg 1 441.00€
cos10769ral9007 ve/sat cover plate right infront 4,200 kg 1 441.00 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos10771ral9007 ve/sat cover plate left infront 4,200 kg 1 441.00 €
c0s10784-01ral9007 handrail 200/xx 2 pillars, right, rolled 18,024 kg 1 800.00 €
c0s10788-01ral9007 handrail 200/xx 2 pillars, left, rolled 18,047 kg 1 800.00 €
c0s10803 0,092 kg 1 1210 €
cos10804 ve/sat handrail long, 2pillar, flange 0,512 kg 1 onrequest
cos10808 euroboard strip grid 100x160mm not specified 1 11.80 €
c0s10809 female connector, angled, 36-pin not specified 1 19.40 €
cos10810 Fuse holder 230V 5x20mm & 6,3x32mm 0,010 kg 1 2.03€
c0s10826 Blind rivet steel/steel 6,4x12,0 0,010 kg 1 0.93€
c0s10827 Blind rivet steel/steel 6,4x16,0 0,010 kg 1 112€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos10830 0,012 kg 1 1.39€
c0s10831 blind rivet steel/steel 4.0x10 0,003 kg 1 0.46€
cos10837 Hand stretch film 500mm, transparent 3,100 kg 1 33.50€
c0s10838 End contact, 0% elevation 0,016 kg 1 26.90 €
c0s10839-02 POLAR heart rate receiver MCUS + MCUG 0,250 kg 1 38.70 €
cos10842 Poly-V drive belt 170-190/65 22-45km/h 0,100 kg 1 33.50€
c0s10843 Poly-V drive belt 150-190/50-65 10km/h not specified 1 31.50€
c0s10846 Split ferrite plastic case 23,7x34x19mm 0,030 kg 1 533€
c0s10847-01 Contactor 24V DC Siemens 0,550 kg 1 265.00 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s10850-01 Expulsion fuse 3-phase C 25A UL 0,450 kg 1 402.00 €
cos10860 EMC-seal for UserTerminal control box EMC-seal for UserTerminal control box not specified 1 24.80€
cos10862 SIEMENS terminal 2,5mm, beige 0,008 kg 1 1.84 €
cos10863 SIEMENS terminal 2,5mm, blue 0,007 kg 1 191€
c0s10864 SIEMENS terminal 2,5mm green-yellow 0,007 kg 1 2.03€
cos10865 SIEMENS terminal 4,0 mm, beige 0,010 kg 1 1.66 €
cos10866 SIEMENS terminal 4,0mm, blue 0,010 kg 1 1.79€
co0s10867 SIEMENS terminal 4,0mm, green-yellow 0,010 kg 1 1.86 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos10868 SIEMENS intermediate plate for 2,5+4,0mm 0,002 kg 1 1.07€
c0s10876-04ral9010 xx-65 Elevation device 22,582 kg 1 405.00 €
cos10878 Rubber socket KT 13,5 0,001 kg 1 143 €
c0s10881 Rubber socket KT 21 0,006 kg 1 143 €
c0s10882 Rubber socket KT 29 0,007 kg 1 2.38€
c0s10886-03 housing for UserTerminal (UL-listed) 1,050 kg 1 213.00€
€0s10892-01 contactor 230V Siemens 0,230 kg 1 58.70 €
c0s10893-01 motor cover mercury 4.0 (UL-listed) 3,800 kg 1 251.00 €
c0s10893-02 motor cover flat for pluto treadmill 2,600 kg 1 244.00 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s10893-02emo motor cover flat for pluto treadmill 2,600 kg 1 244.00 €
c0s10894-01 Contactor 24V Siemens 0,207 kg 1 71.90€
cos10905 POLAR chestbelt rubber band size XS 0,010 kg 1 8.82€
cos10906 POLAR chestbelt rubber band size S 0,014 kg 1 8.82€
€0s10907 POLAR chestbelt rubber band size L 0,018 kg 1 8.82€
cos10909 crown gear VZ M3 not specified 1 0.04€
c0s10910 toothed lock washers zinc plated M4 0,001 kg 1 0.04€
c0s10911 toothed washers Form A M5 A2K not specified 1 0.04€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s10912 toothed washers Form A M6 A2K not specified 1 0.04€
c0s10913 toothed lock washers zinc plated M8 0,002 kg 1 0.04€
cos10914 toothed lock washers M10 A2K Form A 0,008 kg 1 0.08€
cos10917 bladeterminal 6,3mm 0,3-0,82 female 0,001 kg 1 1.58 €
c0s10918 tab terminals 2,8mm isolation sleeves 0,001 kg 1 0.74€
c0s10919 flat pin plug 6,3mm isolation boot 0,001 kg 1 0.65€
c0s10920-01 SIEMENS auxiliary contact 3RH2911-1HA20 0,041 kg 1 19.30 €
€0s10921-01 SIEMENS auxiliary switch element 0,038 kg 1 28.30 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s10922 cylinder head screw M10x30 A2K 8.8 0,022 kg 1 0.28€
€0s10923 cylinder head screw M10x35 A2K 0,029 kg 1 0.28€
c0s10924 Lifitng eye nut, zinc plated 0,046 kg 1 2.98€
c0s10925 Spray can 400ml clear lacquer 0,410 kg 1 17.70€
c0s10926 Spray can 500ml Primer red brown 0,540 kg 1 33.50€
c0s10946 Plain washer M5 A2K (5,3x20x1,25) 0,003 kg 1 0.04€
€0s10953-01 150/50 running deck gliding platform 14,600 kg 1 375.00€
c0s10953-01sp 150/50 gliding platform alu special coat 27,240 kg 1 2,067.00€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s10960 150/50 belt tensioner spacer sleeve not specified 1 onrequest
c0s10963-13 e-module fitting panel for FR-E 720-3,7k 2,006 kg 1 onrequest
€0s10963-13vz e-module fitting panel for FR-E 720-3,7k 2,010 kg 1 87.10€
c0s10963-14 e-module mounting plate 3,190 kg 1 onrequest
c0s10974 Spray can 400ml colour black matt 0,410 kg 1 18.70 €
c0s10976-01 Sinter bronze bushing 20x26x20 0,030 kg 1 4.64 €
cos10977 cylinder head screw M8x16 A2K 8.8 0,011 kg 1 0.11€
c0s10978 cylinder head screw M8x35 A2K 8.8 0,013 kg 1 0.15€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s10981 cylinder head screw M3x10 A2K 8.8 0,001 kg 1 0.08€
c0s10982 cylinder head screw M3x20 A2K 8.8 0,005 kg 1 0.08€
c0s10983 cylinder head screw M4x30 A2K 8.8 0,003 kg 1 0.08€
c0s10984 cylinder head screw M4x35 A2K 8.8 0,004 kg 1 0.11€
€0s10985 cylinder head screw M5x8 A2K 8.8 0,002 kg 1 011€
c0s10986 cylinder head screw M5x12 A2K 8.8 0,004 kg 1 0.08€
cos10987 cylinder head screw M5x20 A2K 8.8 0,004 kg 1 0.08€
c0s10988 cylinder head screw M5x25 A2K 8.8 0,005 kg 1 0.08€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos10989 cylinder head screw M5x30 A2K 8.8 0,005 kg 1 0.08€
€0s10990 cylinder head screw M5x40 A2K 8.8 0,007 kg 1 011€
c0s10991 cylinder head screw M5x50 A2K 8.8 0,008 kg 1 0.20€
c0s10992 cylinder head screw M6x10 A2K 8.8 not specified 1 0.11€
c0s10993 cylinder head screw M6x12 A2K 8.8 0,005 kg 1 0.08€
c0s10994 cylinder head screw M6x16 A2K 8.8 0,005 kg 1 0.08€
c0s10995 cylinder head screw M6x20 A2K 8.8 0,006 kg 1 0.08€
c0s10996 cylinder head screw M6x25 A2K 8.8 not specified 1 0.08€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos10997 cylinder head screw M6x30 A2K 8.8 0,007 kg 1 0.08€
c0s10998 Hexagon socket head cap screw M6x35 0,005 kg 1 0.11€
cos11000 cylinder head screw M6x50 A2K 8.8 0,008 kg 1 0.15€
cos11001 cylinder head screw M6x80 A2K 8.8 0,018 kg 1 0.47€
cos11002 cylinder head screw M6x85 A2K 8.8 0,020 kg 1 0.56 €
cos11003 cylinder head screw M6x90 A2K 8.8 0,021 kg 1 0.56 €
cos11004 cylinder head screw M8x10 A2K 8.8 0,010 kg 1 0.15€
€0s11005 cylinder head screw M8x25 A2K 8.8 0,014 kg 1 0.15€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos11006 Hexagon socket head cap screw M8x30 0,016 kg 1 0.15€
cos11007 cylinder head screw M8x40 A2K 8.8 not specified 1 0.20€
cos11008 cylinder head screw M8x45 A2K 8.8 not specified 1 0.20€
cos11009 cylinder head screw M8x50 A2K 8.8 0,023 kg 1 0.20€
c0s11010 cylinder head screw M8x60 A2K 8.8 0,023 kg 1 0.15€
cos11011 cylinder head screw M8x70 A2K 8.8 0,030 kg 1 0.40€
cos11012 cylinder head screw M10x20 A2K 8.8 0,022 kg 1 0.24 €
c0s11013 cylinder head screw M10x25 A2K 8.8 0,024 kg 1 0.24€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos11014 cylinder head screw M10x40 A2K 8.8 0,032 kg 1 0.36€
cos11015 cylinder head screw M10x50 A2K 8.8 0,038 kg 1 0.36 €
cos11016 cylinder head screw M12x25 A2K 8.8 not specified 1 0.36€
cos11018 cylinder head screw M12x30 A2K 8.8 0,035 kg 1 0.40€
cos11019 cylinder head screw M12x40 A2K 8.8 0,045 kg 1 043€
cos11021 cylinder head screw M12x50 A2K 8.8 0,039 kg 1 0.47€
cos11022 cylinder head screw M12x60 A2K 8.8 not specified 1 0.56 €
c0s11023 cylinder head screw M12x70 A2K 8.8 not specified 1 0.64 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos11024 cylinder head screw M12x100 A2K 8.8 0,097 kg 1 2.19€
c0s11026 Hex. socket countersunk head screw M4x12 0,001 kg 1 011€
cos11027 countersunk head screw M4x16 A2K 10.9 0,001 kg 1 0.11€
cos11028 Hex. socket countersunk head screw M5x8 not specified 1 0.15€
€0s11029 countersunk head screw M5x10 A2K 10.9 0,002 kg 1 011€
cos11030 countersunk head screw M5x16 A2K 10.9 0,002 kg 1 0.11€
cos11031 Hex. socket countersunk head screw M5x20 not specified 1 0.11€
c0s11036 countersunk head screw M6x20 A2K 10.9 0,004 kg 1 011€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos11037 countersunk head screw M6x25 A2K 10.9 0,005 kg 1 0.15€
c0s11040 countersunk head screw M8x60 A2K 10.9 0,021 kg 1 115€
cos11041 countersunk head screw M8x16 A2 0,007 kg 1 0.60 €
cos11043 countersunk head screw M8x30 A2K 10.9 not specified 1 0.60 €
c0s11045 Hex. socket countersunk head screw M8x45 not specified 1 0.88€
cos11046 countersunk head screw M8x50 A2K 0,019 kg 1 1.11€
cos11048 countersunk head screw M8x80 A2 0,027 kg 1 2.78 €
c0s11049 countersunk head screw M10x25 A2K 8.8 not specified 1 043€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos11050 countersunk head screw M10x30 A2K 8.8 0,026 kg 1 0.52€
cos11051 countersunk head screw M10x35 A2K 8.8 not specified 1 0.52€
cos11052 countersunk head screw M10x50 A2K 8.8 0,024 kg 1 0.79€
cos11053 countersunk head screw M12x25 A2K 8.8 not specified 1 0.92€
c0s11058 Hexagon head screw, zinc plated M5x16 not specified 1 0.04 €
cos11059 Hexagon head screw M6x10 A2K 8.8 0,004 kg 1 0.08€
cos11060 Hexagon head screw M6x20 A2K 8.8 0,006 kg 1 0.08€
cos11061 Hexagon head screw M6x25 A2K 8.8 0,007 kg 1 0.08€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos11063 Hexagon head screw, zinc plated M8x16 not specified 1 0.11€
c0s11064 Hexagon head screw M8x20 A2K 8.8 0,012 kg 1 011€
cos11067 Hexagon head screw M8x50 A2K 8.8 0,021 kg 1 0.28€
cos11069 Hexagon head screw M10x20 A2K 8.8 0,022 kg 1 0.24 €
c0s11070 Hexagon head screw M10x30 A2K 8.8 0,027 kg 1 0.24€
cos11071 Hexagon head screw M10x35 A2K 8.8 0,029 kg 1 0.28€
cos11072 Hexagon head screw M10x60 A2K 8.8 not specified 1 0.52€
cos11073 Hexagon head screw M10x65 A2K 8.8 not specified 1 0.75€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos11074 Hexagon head screw M10x80 A2K 8.8 not specified 1 1.07€
c0s11076 Hexagon head screw M12x45 A2K 8.8 0,049 kg 1 047€
cos11077 Hexagon head screw M12x60 A2K 8.8 not specified 1 0.68 €
cos11078 Hexagon head screw M12x100 A2K 8.8 0,088 kg 1 1.79€
c0s11080-02vz holder transformer 400V equipment 4,860 kg 1 316.00 €
cos11083 cylinder head screw M8x100 A2K 8.8 0,056 kg 1 0.79€
cos11084 CEE plug, male 5pin, 16A, red 0,215 kg 1 36.00€
cos11085ral9007 xx/65 safety arch right prop HR-short 0,638 kg 1 179.00 €
cos11085ral9010 xx/65 safety arch right prop HR-short 0,638 kg 1 179.00 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos11086 CEE plug, male 5-pin, 32A, red 0,300 kg 1 11.40€
c0s11087-01 CEE coupling socket 5-pin, 16A, black 0,213 kg 1 4470 €
cos11089 CEE coupling socket 5-pin, 32A, red 0,367 kg 1 13.50 €
cos11090 CEE wall-mounted socket 5-pin, 32A, red 0,325 kg 1 29.40€
€0s11092 CEE wall-mounted socket 5-pin, 16A, red 0,231 kg 1 2410€
cos11100 Button head socket screw, M8x40 V2A 0,015 kg 1 0.88€
cos11106-01 Expulsion fuse 3 phase C 16A 0,400 kg 1 80.00€
c0s11109-01 forced ventilator 220V/AC 0,265 kg 1 50.80 €
cos11114 Cross handle M12 (with internal thread) not specified 1 55.20€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos11115 Thrust piece (with bolt) M10 not specified 1 11.00€
cos11116 Clamp Lever M8x16, black 0,083 kg 1 18.90 €
cos11124 Deep care for plastic 250ml 0,285 kg 1 17.60 €
cos11135 Hole cutter carbide 24mm high (35mm) not specified 1 137.00 €
cos11137 electrical tape black 15mm 0,028 kg 1 2.19€
cos11139-01 170&190/65 drive roller 10km/h 38,500 kg 1 918.00 €
cos11139vZ 170&190/65 drive shaft 10km/h galvanised not specified 1 onrequest
cos11140-01 170&190/65 rear roller 32,600 kg 1 733.00€
c0s11140-01vz 170&190/65 deflection roller 32,600 kg 1 733.00 €
c0s11141-01 170&190/65 drive roller 25km/h 37,800 kg 1 1,171.00€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos11141-01vz 170&190/65 drive roller 25km/h galv. 37,800 kg 1 1171.00€
c0s11142-01 170&190/65 drive roller 40km/h 36,200 kg 1 1,198.00 €
c0s11142-01vz 170&190/65 drive roller 40km/h galv. 36,200 kg 1 1,198.00€
cos11144 Plug M6x25 for potential equalization 0,009 kg 1 212€
cos11145 Colour code washer (green-yellow) 0,002 kg 1 0.66 €
cos11150 Isolation transformer 2000VA 230 Volt 15,850 kg 1 393.00€
€0s11152-02 Isolation transformer 1500VA 100-230V 12,500 kg 1 441.00 €
cos11153 Isolation transformer 2500VA 100-230V 21,300 kg 1 435.00 €
c0s11153-01 Isolation transformer 2500VA 0-127V 21,300 kg 1 422.00 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos11157-01 Isolation transformer 3000VA 230V UL 21,500 kg 1 719.00 €
c0s11169-01 spacer tube safety arch 0,100 kg 1 22.50€
cos11172-02 safety arch block activation disk 0,130 kg 1 12.10€
cos11173-01 safety arch switch-off block adapter 0,046 kg 1 25.90€
c0s11175-03 safety arch block tension bolt 0,200 kg 1 83.90€
cos11177 safety arch block clamp 0,231 kg 1 22.40€
cos11179-01ral9007 150/50 safety arch right support HR 65° 1,232 kg 1 113.00 €
c0s11179-01ral9010 150/50 safety arch right support HR 65° 1,232 kg 1 113.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s11182-04 150/50 safety arch cross beam 4,674 kg 1 onrequest
c0s11182-04ral9007 150/50 safety arch cross beam 4,674 kg 1 236.00 €
c0s11182-04ral9010 150/50 safety arch cross beam 4,674 kg 1 236.00 €
c0s11183-01ral9007 xx/65 safety arch cross beam 6,467 kg 1 304.00 €
c0s11183-01ral9007-cc xx/65 safety arch cross beam 6,467 kg 1 368.00 €
c0s11183-01ral9010 xx/65 safety arch cross beam 6,467 kg 1 304.00 €
c0s11183-01ral9016 xx/65 safety arch cross beam 6,300 kg 1 304.00 €
c0s11186-01ral9010 safety arch bent tube right 11,020 kg 1 468.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s11186ral9016 Safety arch bent tube right 11,600 kg 1 381.00€
c0s11187-01ral9010 Safety arch rail left 11,020 kg 1 468.00 €
c0s11187ral9016 Safety arch bent tube left 11,450 kg 1 361.00 €
cos11198 Clamp Lever M10x80, black 0,164 kg 1 23.60€
cos11199 Slotted spring pins, heavy type 0,009 kg 1 0.15€
cos11200 Slotted spring pins, heavy type 0,011 kg 1 9.51€
cos11201 bushing 20x24x16 0,028 kg 1 3.70€
cos11204 0,044 kg 1 22.50€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos11207 axial grooved ball bearing 51204 0,080 kg 1 27.70€
cos11211 grooved ball bearing 6204 2ZR not specified 1 8.88 €
cos11212 0,635 kg 1 4250 €
cos11213 Grooved ball bearing 6306 2RSR C3 0,350 kg 1 18.30 €
c0s11219-01 300/xx wheelchair guide shaft 10,820 kg 1 onrequest
cos11221-01 200/xx wheelchair guide shaft 6,990 kg 1 onrequest
cos11235ral9007 Handrail long, 2 pillar, right LT 150/50 18,950 kg 1 659.00 €
cos11240 chute size 4, blue 0,085 kg 1 2.87€
cos11252 Plain washer M6 A2K 6,5x25x1,25 0,003 kg 1 0.15€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos11253 PL plug for step rubber Lb 63 0,002 kg 1 0.71€
cos11255 compensation washer 26x38x0,25mm 0,001 kg 1 040€
cos11258 Technical Vaseline, white, 1kg tin not specified 1 26.80€
cos11285 oil hose 6mm, black 0,018 kg 1 1.06 €
cos11287ral9010 0,037 kg 1 23.60€
cos11321 Cog belt I=920mm, b=30mm 0,160 kg 1 42.80€
cos11324 spray can zinc protection OKS2511 not specified 1 4410€
c0s11326 Spray can fine care oil OKS701 100ml not specified 1 19.70 €
cos11335 Plain washer M12 A2K 13x50x2,5mm 0,033 kg 1 0.52€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos11341 170/65 running surface assembled 31,500 kg 1 999.00 €
cos11367 150/50 fast. elev. device part to screw not specified 1 17.70€
cos11368vz xx/65 fast.elev.device part to screw on 0,121 kg 1 15.90 €
cos11369 male connector 36-pin, angled not specified 1 3.62€
cos11370 battery 9V block ENERGIZE 6LR61 not specified 1 6.96 €
cos11372 accu 1,2V Mignon not specified 1 4.37€
cos11386 masking tape 0,300 kg 1 13.90 €
cos11387 masking tape 0,470 kg 1 22.50€
c0s11393 Contact Housing XHP-2 (2-pin) 0,001 kg 1 0.09€
cos1139%4 Contact Housing XHP-3 (3-pin) 0,001 kg 1 0.15€
cos11395 Contact Housing XHP-4 (4-pin) 0,001 kg 1 1.39€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list  date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos11396 Contact Housing XHP-5 (5-pin) 0,001 kg 1 1.50€
cos11397 Contact Housing XHP-6 (6-pin) 0,001 kg 1 1.66 €
cos11398 Contact Housing XHP-8 (8-pin) 0,001 kg 1 2.19€
cos11401 pin housing XHP 3-polig 0,001 kg 1 2.59€
c0s11402 pin housing XHP 7-pole 0,001 kg 1 5.37€
cos11403 Contact Housing XHP-7 (7-pin) 0,001 kg 1 2.01€
cos11404 Contact for XHP housing rollmaterial not specified 1 0.13€
cos11405 150/50 connection frame lifting element 2,200 kg 1 onrequest
c0s11405ral9010 150/50 joint frame - elevation element powder-coated RAL9007 2,150 kg 1 40.20€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos11408-01 Arm support - pad, black V2 0,750 kg 1 80.00€
c0s11414-03 Driving roller 150/50 10km/h 17,817 kg 1 733.00 €
cos11415-03 Drive shaft 150/50 20,22 & 30km/h 15,928 kg 1 534.00 €
cos11415-03vz Drive shaft 150/50 20,22 & 30km/h 15,928 kg 1 668.00 €
cos11417-03 Rear shaft 150/50 13,341 kg 1 428.00 €
c0s11417-03vz Rear roller 150/50 13,341 kg 1 468.00 €
c0s11420-01 Sub-D 9-pin plastic housing black 0,010 kg 1 10.80 €
cos11421 0,005 kg 1 0.66 €
cos11422 RS232 connector (female), 9-pin 0,005 kg 1 0.40€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s11423 Cable lugs isolated red 0,25-12 M3 0,001 kg 1 0.04€
cos11424 Cable shoe isolated, red 0,25-12 M4 not specified 1 0.15€
cos11426 cable lugs isolated, red, 0,25-12 M5 0,001 kg 1 0.04€
c0s11430 cable lugs isolated, red, 0,25-12 M8 not specified 1 0.05€
cos11434 fork cable lugs isolated, red, -12 M4 0,001 kg 1 0.04€
cos11438 cable lugs isolated, blue, 1,5-2,5* M3 0,001 kg 1 0.04€
cos11439 cable socket isolated, blue 1,5-2,5°M4 0,001 kg 1 0.04€
c0s11440 fork cable lugs isolated, blue -2.52 M4 0,001 kg 1 0.04€
cos11442 cable lugs isolated, blue, 1,5-2,5% M5 0,002 kg 1 0.40€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos11444 cable shoe isolated, blue 1,5-2,52 M6 0,002 kg 1 0.11€
cos11446 cable lugs isolated, blue, 1,5-2,5* M8 0,003 kg 1 0.05€
cos11447 0,001 kg 1 0.24 €
cos11448 cable eye isolated, yellow 4-6% M6 0,001 kg 1 0.28€
cos11449 cable eye isolated, yellow 4-6% M8 0,002 kg 1 0.32€
cos11450 cable eye isolated, yellow 4-6 M10 0,003 kg 1 0.28€
cos11453ral9007 ve/sat fixing wheelchair stabilizer 0,416 kg 1 onrequest
c0s11453ral9010 ve/sat fixing wheelchair stabilizer 0,416 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture

cos11454ral9007 ve/sat fixing wheelchair stab.,with bore 0,404 kg 1 onrequest

c0s11454ral9010 ve/sat fixing wheelchair stab.,with bore 0,404 kg 1 onrequest

cos11457ral9007 1/2 clamp for pipe D=60mm 0,110 kg 1 28.30€

cos11466 twist drill HSS 3,3mm not specified 1 437€

cos11467 screwing straight 1/8" 0,008 kg 1 6.63 € T
{JJ‘H;E@

c0s11468 0,007 kg 1 7.29€

cos11469 cut off cock 1/8" 0,106 kg 1 21.00€

cos11471 plug in pod for AD6mm ID4mm 0,001 kg 1 0.32€ T

cos11476-01 ve/sat elevation element joint element 1,300 kg 1 169.00 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf




Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos11477-01 1,550 kg 1 87.40€
€0s11479-01 ve/sat bronzed thigh with bushing 1,200 kg 1 87.40 €
c0s11480 1,450 kg 1 149.00 €
cos11481-02 4,478 kg 1 321.00€
cos11482-03 4,663 kg 1 365.00 €
c0s11483 sheet metal blank 350x500x2mm St37 not specified 1 onrequest
c0s11485-01vz MCU box base for LT, zinc plated 0,355 kg 1 31.80€
c0s11489 XLR plug 3-pole (male) 0,020 kg 1 2.65€
cos11490 XLR Clutch 3-pole (female) 0,024 kg 1 2.65€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos11491 panel jack socket 3-pole (female) XLR 0,030 kg 1 3.19€
cos11498 2,250 kg 1 351.00 €
cos11499 lead clamp A2K 4mm 0,001 kg 1 0.20€
cos11500 lead clamp A2K 5mm 0,001 kg 1 0.24 €
€0s11501 0,001 kg 1 0.24€
cos11502 0,001 kg 1 0.24€
cos11503 0,001 kg 1 024 €
c0s11545-01ral9007-cc 170/65 handrail COSMED right climachamb. 16,923 kg 1 591.00 €
cos11550 170/65 handrail COSMED round tube right not specified 1 onrequest

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos11551 170/65 handrail COSMED round tube left not specified 1 onrequest
cos11556 WAGO contact block 2,5mm2, grey 0,003 kg 1 120€
cos11557 WAGO contact block 2,5mm?, blue 0,004 kg 1 1.13€
cos11560 WAGO contact block 4mm2, blue 0,006 kg 1 1.33€
c0s11562 WAGO stop plate and spacer 2,5mm? 0,003 kg 1 0.60 €
cos11563 WAGO stop plate and spacer 4mm? 0,003 kg 1 0.60 €
c0s11564 WAGO end fixation snap in 10mm 0,004 kg 1 0.73€
cos11565 WAGO contact plug 2,5mm? 0,001 kg 1 0.46€
cos11568 carry bar 35 perforated 0,330 kg 1 9.56 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos11569 VDR Varistor 385/505V 0,006 kg 1 5.04€
€0s11573 170/65 handrail COSMED square tube front 5,370 kg 1 onrequest
cos11574 170/65 handrail COSMED square tube back not specified 1 onrequest
cos11576 Counter nut metal PG16 0,005 kg 1 0.40€
c0s11612-01 Expulsion fuse 1 phase B 16A 0,125 kg 1 6.90 €
cos11613 Surge Guard MS 32 5R020 50hm20A 0,014 kg 1 14.40 €
cos11614 Surge Guard MS 32 2R025 20hm25A 0,013 kg 1 14.40 €
cos11615 170 & 190/65 LT mounting MCU housing not specified 1 onrequest
cos11618 Clamp Lever M10x25, black 0,200 kg 1 28.50€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos11619 crimp snap-in socket contact Tyco AMP 0,001 kg 1 213€
c0s11620 socket connector Tyco AMP Modu IV not specified 1 2.63€
cos11643 Washer M4, plastic (D=15mm) 0,001 kg 1 0.13€
€0s11670-01 Relay 24V DC Siemens 0,250 kg 1 7220 €
c0s11671 Increment disk 60 incr. AD=85mm ID=5mm 0,010 kg 1 4140€
cos11673 Increment disk 60 incr. AD=85mm ID=10mm 0,010 kg 1 41.40€
c0s11674 Increment disk 60 incr. AD=85mm ID=12mm 0,010 kg 1 4140€
cos11675 ve/sat oil-distributor running-machine not specified 1 99.90 €
c0s11680 0,255 kg 1 onrequest

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos11685 Bridge Plug XLR 3-pole 0,339 kg 1 11.40€
cos11686-01a attachment bolt cable clamp Kong Duck 0,230 kg 1 11.40€
c0s11687-03 snap hook carabineer 10x5,8cm with catch 0,039 kg 1 20.90€
cos11689de-01 h/p/cosmos service report form DE 0,005 kg 1 0.59€
€0s11689en-01 h/p/cosmos service report form EN 0,005 kg 1 059 €
c0s11690de-03e safety check control protocol h/p/cosmos 0,005 kg 1 1.18€
cos11690en-03e safety check control protocol h/p/cosmos 0,005 kg 1 1.18€
c0s11698 Rubber cover cap d=6mm, black not specified 1 0.68 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list  date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture

cos11699 Rubber cover cap d=8mm, black 0,001 kg 1 0.92€

c0s11700 Rubber cover cap d=10mm, black 0,001 kg 1 0.92€
cos11702 Plastic cover cap 140x60x3mm, black 0,037 kg 1 6.62 €
cos11707 ten diode ZPD 6,2 DO35 not specified 1 0.20€
cos11709 ve/sat oil distributor control cabinet 0,178 kg 1 148.00 €
cos11710 Fine fuse 3,15A T 5x20mm 0,001 kg 1 0.54€
cos11711 0,026 kg 1 12.10€
cos11712 0,001 kg 1 3.30€
cos11714 grounding braid elev. motor - inverter 0,014 kg 1 10.80 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos11715 cable gland SKINTOP PG9, grey not specified 1 1.33€
c0s11716 reducing fitting 1/8" 0,009 kg 1 91.80 €
cos11717 non-return back-pressure valve 0,021 kg 1 60.10€
c0s11722 Resistor 0,4 Watt 6,8 KOhm 0,001 kg 1 0.13€
c0s11726 Expulsion fuse 1 phase B 6A 0,128 kg 1 23.60 €
cos11727 Spray can 400ml colour grey alu RAL9007 0,430 kg 1 17.00 €
cos11728 0,130 kg 1 12.10€
cos11732 Bridge plug TOP-plug (set) not specified 1 onrequest
cos11735 Multi-purpose grease in a can 1kg 1,100 kg 1 30.90€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos11736 Axial ferrite beads 16x9x28mm 0,020 kg 1 1.47€
c0s11739 Circlips for bores standard range 0,034 kg 1 1.67€
cos11740 Shaft support block D=25mm 0,347 kg 1 90.20€
cos11740-01 Shaft support block D=25mm 0,160 kg 1 onrequest
cos11741 0,266 kg 1 189.00 €
cos11742-01 0,877 kg 1 51.80€
cos11743 compact-linear-set for shaftes D25mm 0,555 kg 1 91.40€
cos11744 0,037 kg 1 39.80€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos11745 cable lugs insulated yellow 4-62 M4 0,001 kg 1 0.05€
cos11747 on-off-switch, complete 0,034 kg 1 73.30€
cos11751 Circular mounting socket 7-pin 0,007 kg 1 10.10 €
cos11752 0,021 kg 1 15.90 €
cos11753 circular connector coupling 7-pin 0,021 kg 1 16.60 €
c0s11755-01 cable for emergency-stop in UserTerminal 0,050 kg 1 29.40€
cos11756-01 Cable Additional Keyboard to back plate 0,040 kg 1 52.80€
co0s11761-03 UT-rear panel Gen3 special 1,542 kg 1 64.10 €
cos11761-03ral9007 UT-rear panel Gen5 max. configuration 1,650 kg 1 70.50 €
c0s11761-03ral9010 UT-rear panel Gen5 max. configuration 1,650 kg 1 70.50 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos11765 RAFI push button black/red 0,011 kg 1 10.70 €
c0s11768 cable grommet d=8mm, h=6mm 0,001 kg 1 0.43€
cos11769 flat pin plug 6,3mm 1-2.5% no iso female 0,001 kg 1 1.02€
cos11770 diode 1N4148 DO35 not specified 1 0.28€
cos11771 MCU4 add on board S7 distributor 0,015 kg 1 4410 €
cos11777 arm rest - stuffing, black 0,070 kg 1 9.95€
cos11778 Emergency Switch big 0,280 kg 1 158.00 €
cos11781 Gender-Changer RS232 male/male 9-pin 0,030 kg 1 6.63 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos11786 xx/50-65 trigger line alu taper 0,003 kg 1 31.50€
c0s11803 cable screw connection MS-SC-M16x1,5 0,027 kg 1 7.29€
cos11804 cable screw connection MS-SC-M20x1,5 0,023 kg 1 8.35€
cos11805 cable screw connection M25x1,5 0,060 kg 1 1470 €
€0s11808 cable screw connection PG 11 0,027 kg 1 9.28€
cos11809 cable screw connection PG 13,5 0,030 kg 1 9.28 €
cos11810 cable screw connection PG 16 0,035 kg 1 10.90 €
cos11813 blind plug metal M12x1,5 0,003 kg 1 1.86 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos11814 blind plug metal M16x1,5 0,006 kg 1 0.54 €
c0s11815 blind plug metal M20x1,5 0,010 kg 1 212€
cos11816 blind plug metal M25x1,5 0,017 kg 1 1.06 €
cos11817 blind plug metal M32x1,5 not specified 1 1.33€
c0s11818 counter nut metal M12 0,002 kg 1 1.01€
c0s11819-01 counter nut metal SM-PE-M 16x1,5 0,003 kg 1 0.66 €
c0s11820 counter nut metal SM-M20 0,007 kg 1 1.20€
c0s11821 counter nut metal M25 0,009 kg 1 212€
cos11822 counter nut metal M32 0,014 kg 1 2.65€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos11824 counter nut metal PG11 0,003 kg 1 0.34€
cos11825 counter nut metal PG13,5 0,004 kg 1 0.38€
cos11827 counter nut metal PG21 0,008 kg 1 0.74€
cos11828 counter nut metal PG29 0,013 kg 1 1.20€
€0s11829 cylinder head crews M12x80 A2K 8.8 0,080 kg 1 0.71€
cos11831 compensation washer 20x32x1,0mm 0,001 kg 1 0.74€
c0s11832 counter nut metal PG9 0,001 kg 1 0.27€
cos11840 0,250 kg 1 550 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos11841 chute size 2 red not specified 1 12.30 €
c0s11842 chute size 1 red not specified 1 2550 €
cos11847 Expulsion fuse 1 phase D 20A 0,140 kg 1 63.40€
c0s11848-01 Expulsion fuse 2 phase C 20A 0,250 kg 1 121.00 €
c0s11863 connectorhousing with 3 contacts gaitway not specified 1 040€
cos11864 connector pin gaitway 0,000 kg 1 0.88€
cos11866 PCI A/D Board for Gaitway Il PC 0,188 kg 1 2,458.00€
cos11867 cable, A/D board gaitway Il S 0,550 kg 1 399.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos11869 Isolation Disk d=21mm for force button 0,001 kg 1 12.10€
cos11871 cable 1,63m 0,020 kg 1 325.00 €
cos11872 connection cable FORCE BUTON 1,20m 0,015 kg 1 311.00€
cos11873 cable 1,90m 0,022 kg 1 334.00€
cos11874 cable, 2,37m 0,027 kg 1 348.00 €
cos11875 cable, 2,60m 0,031 kg 1 356.00 €
cos11876 cable, 2,93m 0,034 kg 1 365.00 €
cos11881-02 Adjustable Foot, fixed M16x100 0,200 kg 1 16.40 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s11883 button head socket screw M8x25 V2A 0,001 kg 1 0.74 €
c0s11884 grommet d=10mm, h=4mm 0,001 kg 1 032€
c0s11885-01 Circular mounting socket 5-pin 0,008 kg 1 11.70€
cos11886 0,021 kg 1 12.10€
€0s11891 luster terminal 4mm (12 terminals) 0,010 kg 1 3.19€
c0s11892 luster terminal 6mm (12 terminals) 0,021 kg 1 2.38€
cos11893 luster terminal 10mm (12 terminals) 0,042 kg 1 3.19€
c0s11894 IEC Receptacle 15A/250V 0,015 kg 1 6.10€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos11898 Filter triple phase 16A 3KW 2,250 kg 1 520.00 €
€0s11902 manual h/p/cosmos para analysis 1.6 0,230 kg 1 15.20 €
c0s11912 reduction screw connection M25 to M20 0,021 kg 1 451€
c0s11913 reduction screw connection M32 to M20 0,042 kg 1 8.23€
€0s11923 set handrail quasar med, colour grey not specified 1 onrequest
c0s11926 SCHUKO Plug rubber 0,085 kg 1 10.80 €
cos11927 SCHUKO coupling solid rubber 0,143 kg 1 17.60 €
c0s11928 Power plug german/europe 16A/250V 0,063 kg 1 8.23€
cos11929 Coupler german/europe 16A/250V 0,112 kg 1 4.37€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos11934 0,070 kg 1 onrequest
c0s11941 Running belt observer 150/45 TMS320x45 3,550 kg 1 574.00 €
c0s11946 Plastic cover cap 40x40x3mm, black 0,010 kg 1 0.79€
cos11950 0,030 kg 1 3.55€
cos11951 0,103 kg 1 13.20€
cos11955 0,136 kg 1 18.30 €
c0s11956 0,048 kg 1 7.96 €
cos11957 pressure spring 70/4/2 1.4310 V2A 0,006 kg 1 2.07€
cos11961 Lubrication and cleaning material not specified 1 9.95€
c0s11964-V4.05.1-0.1 MCU4 EPROM Firmware V4.05.1-0.1 treadm. 0,005 kg 1 52.50€
c0s11964-V4.05.1-1.1 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 5250 €
c0s11964-V4.05.1-1.2 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
c0s11964-V4.05.1-1.3 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
c0s11964-V4.05.1-1.4 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
c0s11964-V4.05.1-1.5 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€

M:\Service\Servicemanual\9 ~Preislisten\20220523 hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s11964-V4.05.1-1.6 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
€0s11964-V4.05.1-1.7 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
c0s11964-V4.05.1-1.8 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
€0s11964-V4.05.1-2.1 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50 €
c0s11964-V4.05.1-2.2 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
€0s11964-V4.05.1-2.3 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
c0s11964-V4.05.1-2.4 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
c0s11964-V4.05.1-3.1 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
c0s11964-V4.05.1-3.2 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
€0s11964-V4.05.1-3.3 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
c0s11964-V4.05.1-3.4 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
c0s11964-V4.05.1-4.1 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
c0s11964-V4.05.1-4.2 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
€0s11964-V4.05.1-4.3 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
c0s11964-V4.05.1-4.4 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
€0s11964-V4.05.1-4.5 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
c0s11964-V4.05.1-4.6 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
€0s11964-V4.05.1-4.7 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
c0s11964-V4.05.1-4.8 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
c0s11964-V4.05.1-5.1 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
cos11964-V4.05.1-5.10 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
€0s11964-V4.05.1-5.11 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50 €
c0s11964-V4.05.1-5.12 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
€0s11964-V4.05.1-5.2 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
c0s11964-V4.05.1-5.3 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
€0s11964-V4.05.1-5.4 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
c0s11964-V4.05.1-5.5 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
c0s11964-V4.05.1-5.6 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
c0s11964-V4.05.1-5.7 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
€0s11964-V4.05.1-5.8 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s11964-V4.05.1-5.9 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
€0s11964-V4.05.1-6.1 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
c0s11964-V4.05.1-6.2 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
c0s11964-V4.05.1-6.3 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
c0s11964-V4.05.1-6.4 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
€0s11964-V4.05.1-6.5 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
c0s11964-V4.05.1-6.6 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
€0s11964-V4.05.1-7.1 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
c0s11964-V4.05.1-7.2 MCU4 EPROM Firmware V4.05.1 treadmill 0,005 kg 1 52.50€
c0s11965ral9005 mounting plate for extern emergency stop 0,840 kg 1 18.60 €
c0s11966-V4.05.1 MCU4 EPROM Firmware v4.05.1 SIMULATOR not specified 1 46.80 €
c0s11967 Xxx-xxx wheelchair clamp 0,186 kg 1 60.10 €
c0s11971-01ral9007 handrail Schiller rec. tube right 150/50 6,550 kg 1 159.00 €
cos11971-02ral9007 handrail Schiller rec. tube right 150/50 6,720 kg 1 153.00 €
c0s11976 Tapping screws with washer not specified 1 0.24€
cos11977 Resistor 0,6 Watt 78,7 KOhm not specified 1 0.15€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos11979 RAFI belt direction switch 0,021 kg 1 17.70€
c0s11980 RAFI push button red 0,011 kg 1 22.30€
cos11981 RAFI push button green illuminated 0,013 kg 1 12.10€
cos11984 RAFI incandescent lamp BA9s 24-30V, 2W 0,001 kg 1 1.99€
c0s11986vz xx/50&65 emergency trip wire accom.sheet 0,002 kg 1 onrequest
cos11989 Cover cap plastic 100x40x3mm black 0,026 kg 1 1.45€
cos11990 Plastic cover cap 25x25x1mm, black 0,003 kg 1 0.22€
c0s12000 Clamp PG16 0,003 kg 1 0.28 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s12001 cable end sleeve 0,5 N, isolated, double 0,001 kg 1 onrequest
€0s12002 cable end sleeve 1,0 N, isolated, double 0,001 kg 1 onrequest
c0s12003 cable end sleeve 1,5 N isolated, double 0,001 kg 1 onrequest
€0s12032-02 ve/sat fitting scanning system not specified 1 60.10€
c0s12032-02vz 0,172 kg 1 60.10 €
c0s12040 Manual lactate pro LT 1710 0,110 kg 1 15.20 €
cos12044 Cable glands not specified 1 3.32€
c0s12055 UserManual SystemPackage Gaitway Il MCU4 0,160 kg 1 onrequest
c0s12056v2.0.8.50 Software KISTLER gaitway 2.0.8.50 0,050 kg 1 onrequest
cos12057 O-ring for force button 0,001 kg 1 2.64€
c0s12085 spacer sleeve V2A 45x11mm ID=10mm not specified 1 6.57 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s12092 worm gear motor 0,75KW / 60:1 20,500 kg 1 1,355.00€
c0s12093 Pair of chains for ladder-ergometer, r3 not specified 1 2,462.00€
€0s12099-01ral9007 xx/75 rear cover motor 11kW completed 9,733 kg 1 375.00€
€0s12099-01ral9010 xx/75 rear cover motor 11kW completed 9,733 kg 1 375.00 €
€0s12099-02ral9010 xx/75 rear cover motor 11kW completed 9,733 kg 1 375.00 €
€0s12100-02ral9010 xx/100 rear cover motor 11kW completed 12,500 kg 1 394.00 €
€0s12101-01ral9007 xx/125 rear cover motor 11kW completed 14,500 kg 1 453.00 €
c0s12101-01ral9010 xx/125 rear cover motor 11kW completed 14,500 kg 1 453.00 €
€0s12101-02ral9010 xx/125 rear cover motor 11kW completed 14,500 kg 1 453.00 €
c0s12102 Power plug USA 250V/20A 0,037 kg 1 30.80 €
cos12104 Power coupling USA 250V/20A not specified 1 67.90€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s12108 ve/sat rear plate perforated plate not specified 1 onrequest
cos12111 xx/125 angle for back plate not specified 1 onrequest
c0s12112 ve/sat round steel for back plate not specified 1 onrequest
c0s12120-01ral9007 UT-rear panel Gen3 special on frontcover 1,240 kg 1 39.00 €
cos12121a Discovery connect.plate automatic fuse 0,107 kg 1 onrequest
cos12121b Discovery connect.plate rubber connector 0,114 kg 1 onrequest
cos12124 E-Module pulsar 3p 400VAC 3~/N/PE 3,7kW 14,000 kg 1 4919.00€
cos12124va01 E-Module pulsar 3p 400VAC 3~/N/PE 3,7kW pulsar 3p 14,000 kg 1 3,582.00€
c0s12124va02 E-Module pulsar 3p 400VAC 3~/N/PE 3,7kW locomotion 3p DE 14,000 kg 1 4919.00€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list  date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s12131 SIEMENS label clip L1-PE 0,005 kg 1 onrequest
€0s12131-L1 SIEMENS label clip L1 0,034 kg 1 onrequest
c0s12131-L2 SIEMENS label clip L2 0,034 kg 1 onrequest
€0s12131-L3 SIEMENS label clip L3 0,034 kg 1 onrequest
c0s12131-N SIEMENS label clip N 0,034 kg 1 onrequest
c0s12131-PE SIEMENS label clip PE 0,034 kg 1 onrequest
€0s12132 SIEMENS label clip 1-40 0,032 kg 1 onrequest
€0s12133 Connecting bar for 10 terminals size 2,5 0,010 kg 1 0.60€
c0s12136 rubber connector 10A/250V 0,028 kg 1 7.96€
€0s12139-01 Running belt f. ski-sticks&spikes 190/65 19,610 kg 1 2,922.00€
€0s12140 Space nuts 0,013 kg 1 0.36 €
c0s12141 End clamp terminal blocks f 8WA1 0,013 kg 1 219€

M:\Service\Servicemanual\9 ’Preististent20220523 "hpcosmos’ spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s12153-01 wire connection port RS232, S LT 0,043 kg 1 37.50€
c0s12154 Fine fuse 10A T 0,001 kg 1 0.54€
c0s12156-01 cable for emergency-stop in front cover 0,060 kg 1 32.10€
cos12157 CAP additional keyboard front plate 0,062 kg 1 43.30€
c0s12164 cable gland metal M40x1,5 not specified 1 onrequest
c0s12175 Washer M8 V2A 0,002 kg 1 0.11€
S
€0s12181 Syringe 10ml lubrication runningsurface 0,006 kg 1 126 €
c0s12182 Syringe 50/60 ml 0,038 kg 1 8.80€
cos12197 fan cover for VEM motor K21R 100 L4 not specified 1 37.00€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
0512206 0,023 kg 1 21.70€
cos12207 1,550 kg 1 60.10 €
c0s12208 roller chain open 2,7m 1,850 kg 1 73.30€
c0s12209 2,150 kg 1 86.70 €
c0s12211 0,003 kg 1 4.64 €
c0s12212 0,015 kg 1 3.32¢€
c0s12213 0,004 kg 1 3.32¢€
cos12215 0,077 kg 1 3040€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos12218 0,487 kg 1 71.90€
€0s12222 RAFI switch element 1 opener not specified 1 onrequest
€0s12228-01 190/65 Running deck gliding platform 24,000 kg 1 534.00 €
c0s12285 150/50 middle frame 7,900 kg 1 161.00 €
c0s12285ral 150/50 middle frame powder coated 8,540 kg 1 161.00 €
cos12285ral-cc 150/50 middle frame clima chamber 7,900 kg 1 161.00 €
€0s12286 cold appliance coupling angled 10A/250V 0,023 kg 1 6.44 €
€0s12296-01 200/xx frame side part right 17,906 kg 1 316.00 €
€0s12297-01 200/xx underframe side bar left 17,755 kg 1 316.00 €
€0s12299-01 0,562 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s12301 Fine fuse 6,3A T 0,001 kg 1 0.54 €
c0s12306 not specified 1 onrequest
cos12307 not specified 1 1210 €
c0s12310-01ral9007 200-75 frame RAL9007 98,240 kg 1 3,982.00€
c0s12311 cylinder head screw M6x16 A2KA 10.9 0,005 kg 1 0.11€
c0s12316-01 200/100 base frame 109,210 kg 1 3,358.00€
c0s12316-01ral9007 200/100 base frame 109,210 kg 1 3,385.00€
€0s12316-01ral9010 200/100 base frame 109,210 kg 1 3,385.00€
cos12317 ve/sat frame fastener oil distributor 0,233 kg 1 20.30€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s12322-01 250-xx undeframe side bar left 21,482 kg 1 370.00 €
€0s12323-01 250/xx underframe side bar right 21,633 kg 1 387.00 €
051232401 250/75 frame 107,170 kg 1 3321.00€
€0s12324-01ral9007 250/75 frame 107,170 kg 1 3,982.00€
c0s12324-01ral9010 250/75 frame 107,170 kg 1 398200¢€
€0s12325-01 250/100 frame 118,190 kg 1 3321.00€
c0s12325-01ral9007 250/100 frame 118,190 kg 1 398200€
c0s12325-01ral9010 250/100 frame 118,190 kg 1 398200€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s12326-01 250-125 frame 128,999 kg 1 3381.00€
€0s12326-01ral9010 250-125 frame RAL9010 128,990 kg 1 onrequest
€0s12327-01 300-xx underframe side bar left 25,209 kg 1 onrequest
€0s12328-01 300-xx underframe side bar right 25,361 kg 1 387.00€
€0s12330-01 300/100 frame 127,180 kg 1 2,261.00€
c0s12330-01ral9007 300-100 frame RAL9007 127,180 kg 1 3,186.00€
c0s12330-01ral9010 300-100 frame RAL9010 127,180 kg 1 3,186.00€
€0512331-01 300/125 frame 137,987 kg 1 3,321.00€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s12331-01ral9007 300/125 frame 137,987 kg 1 4315.00€
c0s12331-01ral9010 300/125 frame 137,987 kg 1 4315.00€
€0s12333-01 150/50 running surface assembled 23,000 kg 1 593.00 €
c0s12337 Poly-V drive belt 150/50 30km/h 0,090 kg 1 23.40€
c0s12338 1,500 kg 1 220.00 €
€0s12343 150/50 Non slip step stripe 1350x25mm 0,100 kg 1 8.63€
cos12344 150/50 Non slip step stripe 1350x76mm 0,260 kg 1 18.90 €
c0s12345 170/65 Non slip step stripe 1570x25mm 0,100 kg 1 9.29€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s12346 170/65 Non slip step stripe 1570x76mm 0,100 kg 1 21.70€
c0s12347 190/65 Non slip step stripe 1770x25mm 0,100 kg 1 10.70 €
c0s12348 190/65 Non slip step stripe 1770x76mm 0,100 kg 1 22.90€
c0s12351 pan head tapping screw 3,9x16 0,002 kg 1 0.08€
€0s12352-01 xx/50-65 rip cord mounting angle right 0,020 kg 1 9.95€
€0s12353-01 xx/50-65 rip cord mounting angle right 0,020 kg 1 9.95€
c0s12399 Copper grease 100g tube 0,105 kg 1 17.20€
c0s12400 Bearing grease 1009 tube 0,105 kg 1 6.36 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s12401 spray can 400ml colour white RAL 9010 0,430 kg 1 17.00 €
0512403 0,052 kg 1 54.80 €
c0s12413 RAFI push button black 0,011 kg 1 597€
cos12415 RAFI push button white illuminated 0,011 kg 1 9.63€
cos12417 RAFI indicator light green 0,011 kg 1 5.18€
c0s12418 RAFI indicator light red 0,011 kg 1 518€
c0s12419 RAFI indicator light yellow 0,009 kg 1 518€
€0s12420 RAF! indicator light disk white 0,009 kg 1 5.18€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s12429 Super-O-Lube 0,070 kg 1 105.00 €
€0s12437-02ral9007 200/xx upper frame side part right 28,100 kg 1 398.00 €
€0s12437-02ral9010 200/xx upper frame side part right 28,100 kg 1 398.00 €
€0s12438-02ral9007 200/xx upper frame side part right 28,100 kg 1 414,00 €
€0s12438-02ral9010 200/xx upper frame side part right 28,100 kg 1 414,00 €
€0s12439-02ral9007 250/xx upper frame side part left 33,700 kg 1 398.00 €
€0s12439-02ral9010 250/xx upper frame side part left 33,700 kg 1 398.00 €
€0s12440-02ral9007 250/xx upper frame side part right 33,700 kg 1 398.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s12440-02ral9010 250/xx upper frame side part right 33,700 kg 1 398.00 €
c0s12441-02ral9007 300/xx upper frame side part left 39,300 kg 1 398.00 €
c0s12441-02ral9010 300/xx upper frame side part left 39,300 kg 1 398.00 €
€0s12442-02ral9007 300/xx upper frame side part right 39,300 kg 1 onrequest
€0s12442-02ral9010 300/xx upper frame side part right 39,300 kg 1 onrequest
c0s12450-01ral9007 xxx/75 upper frame bracket move gap 0,900 kg 1 onrequest
€0s12450-01ral9010 xxx/75 upper frame bracket move gap 0,900 kg 1 onrequest
€0s12451-01ral9007 xxx/100 upper frame bracket move gap 1,235 kg 1 73.30€
€0s12451-01ral9010 xxx/100 upper frame gap arc 1,235 kg 1 134.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s12452-01ral9007 xxx/125 upper frame bracket for move gap 1,571 kg 1 144.00 €
€0s12452-01ral9010 xxx/125 upper frame bracket for move gap 1,571 kg 1 144.00 €
€0s12453-01ral9007 xxx/75 cross brace front 4,000 kg 1 195.00 €
€0s12453-01ral9010 xxx/75 cross brace front 4,000 kg 1 195.00 €
€0s12454-01ral9007 xxx/100 cross brace front 5,000 kg 1 209.00 €
€0s12454-01ral9010 xxx/100 cross brace front 5,000 kg 1 209.00 €
€0s12455-01ral9007 xxx/125 cross brace front 6,000 kg 1 209.00 €
€0s12455-01ral9010 Xxx/125 cross brace front 6,000 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s12456-01 xxx/75 middle frame cross brace 2,250 kg 1 56.00 €
€0s12456-01ral xxx/75 middle frame cross brace 3,000 kg 1 53.40€
c0s12457-01 xxx/100 middle frame cross brace 3,000 kg 1 57.40€
c0s12457-01ral xxx/100 middle frame cross brace 3,000 kg 1 58.40€
€0512458-01 xxx/125 middle frame cross brace 5,000 kg 1 60.10 €
c0s12458-01ral xxx/125 middle frame crossbrace powderc. 5,000 kg 1 onrequest
cos12464 Wiring duct 60x60mm zinc plated not specified 1 41.70€
€0s12466 RAFI contact element support 0,007 kg 1 1.72€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos12467 RAFI lamp holder 0,008 kg 1 8.35€
€0s12468 RAFI normally closed contact 0,017 kg 1 14.40 €
c0s12469 RAFI normally open contact 0,013 kg 1 8.62 €
€0s12470-02 xxx ext. control cabinet reception plug 0,180 kg 1 40.20 €
€0s12476-04ral9010 ve/sat front cover right 0,607 kg 1 103.00 €
c0s12478-01ral9010 ve/sat front casing left assembly 0,687 kg 1 95.90€
€0s12480-04ral9010 ve/sat back roller cover right 0,839 kg 1 87.10€
€0s12482ral9007 ve/sat rear casing left assembly 0,900 kg 1 83.90€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s12482ral9010 ve/sat rear casing left 0,900 kg 1 83.90€
€0s12483 fastening block front cover ve/sat 1,500 kg 1 131.00 €
c0s12484 ve/sat fastening cladding front+back not specified 1 onrequest
€0s12486 ve/sat back covering left+right - angle 0,067 kg 1 onrequest
€0s12487-03 ve/sat right front/rear cover plate 0,004 kg 1 18.30 €
c0s12496 0,140 kg 1 27.90€
c0s12518 Rope 180m for sprint trainer comet 0,265 kg 1 116.00 €
€0s12521 Battery BR2325, 3V not specified 1 9.16 €
€0s12529-06 xx/65 (3p) guard electrical equipment 2,834 kg 1 69.10€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s12542 Lithium Metal battery CR2032 0,003 kg 1 6.09€
c0s12546vz comet guide rail rope pass not specified 1 onrequest
€0s12548-01ral9007 comet holder for arbor channel 0,400 kg 1 57.40€
c0s12549 grooved nut M40x1,5 W form 0,154 kg 1 27.60€
c0s12551 grooved nut with elastic stop M40x1,5 0,076 kg 1 20.50€
c0s12559 comet rope distribution block thread 0,534 kg 1 56.00 €
0512561 0,700 kg 1 248.00 €
€0s12564 parallel key 4x4x18mm 0,002 kg 1 0.20€
c0s12566 parallel key 4x4x25mm 0,003 kg 1 0.20€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos12567 parallel key 6x6x22mm 0,006 kg 1 0.20€
€0s12568 parallel key 6x6x50mm 0,013 kg 1 0.28€
cos12569 parallel key 7x7x50mm 0,021 kg 1 0.36€
c0s12570 o-ring 12x2,5mm 0,001 kg 1 0.36€
c0s12572 RAFI push button black 0,010 kg 1 5.09€
cos12584 Lock washer M8 VA2 0,001 kg 1 0.11€
c0s12585 plain washer M8 VA2 0,005 kg 1 0.32€
€0s12594-01ral9007 DISCOVERY Holder UserTerminal not specified 1 76.90 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list  date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s12605 0,001 kg 1 3.58¢€
€0s12615-03vz comet (3p) electro module 7,000 kg 1 150.00 €
€0s12616-03ral9007 comet side plate with cable entry point 3,667 kg 1 113.00 €
€0s12617-04 comet side plate with interfaces 3,612 kg 1 65.40 €
€0s12617-04ral9007 comet side plate with interfaces 3,612 kg 1 130.00 €
c0s12618-02ral9007 6,944 kg 1 149.00 €
€0s12619-01 comet (3p) mounting plate drive system 14,300 kg 1 onrequest
€0s12626 socket housing SMP, black 2-pole 0,001 kg 1 3.05€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s12627 pin housing SMP black 2-pole 0,001 kg 1 3.25€
€0s12628 pin housing SMP, black 3-pole 0,001 kg 1 3.32€
c0s12629 0,001 kg 1 3.25¢€
€0s12630 contact for SMP socket female 0,001 kg 1 0.93€
€0s12631 contact for SMP socket male not specified 1 0.13€
€0s12632 countersunk screw M5x16 VA2 0,003 kg 1 0.28€
€0s12633 cylinder head screw M4x12 VA2 0,002 kg 1 0.28€
c0s12634 Lens head screw M8x16 VA2 0,008 kg 1 0.68 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s12639 Hexagon socket countersunk head screw 0,004 kg 1 0.36€
€0s12640 Wheel solid rubber od=140m 0,591 kg 1 15.40€
cos12647 ve/sat wheelchair stabil. support strut not specified 1 203.00 €
c0s12653-02ral9007 1,688 kg 1 91.80€
c0s12654-02ral9007 2,967 kg 1 134.00 €
€0s12658-01 comet motor plate f. servo HC-MF 73 750W not specified 1 onrequest
€0s12658-01vz comet motor plate f. servo HC-MF 73 750W not specified 1 56.00 €
c0s12660-03a9007 7,156 kg 1 354.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s12661vz comet fastening angle holder motor 1,100 kg 1 83.10€
€0s12662 Elevation sensor board for increment-rod 0,030 kg 1 203.00 €
€0s12669-01 servomotor 750W with break 3,800 kg 1 2,060.00€
€0s12670-01 encoder cable for servo motor 750W 0,120 kg 1 75.50€
c0s12672 0,020 kg 1 6.53 €
c0s12674 not specified 1 0.04€
€0s12678 switch elelment on/off black/white 0,019 kg 1 2290€
€0s12691-01 servo amplifier 750 Watt 1,400 kg 1 21108.00€
€0s12693-01 0,270 kg 1 277.00€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s12694-01 Terminal block input/output 0,132 kg 1 105.00 €
€0s12695 CEE plug male, wall-mount 3-pin 16A blue 0,126 kg 1 onrequest
c0s12696 CEE coupling socket 3pin, 32A, blue 0,100 kg 1 24.10€
c0s12697 Relay 24V AC 0,009 kg 1 15.50 €
c0s12698 Relay 24V DC 0,032 kg 1 15.50 €
€0s12699-01 plug base for PT-relay 0,060 kg 1 9.53€
c0s12700-02 Bridge rectifier comet 3.0 0,017 kg 1 597€
c0s12702 Trim-pot 1K not specified 1 3.98€
cos12710 mounting accessories for control cabinet not specified 1 33.10€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s12713-01 fuse holder 1,5mm2, beige 0,020 kg 1 9.28 €
€0s12721-01 Ripcord switch in threaded sleeve 0,040 kg 1 40.20 €
c0s12721-02 Ripcord switch preassembled Please choose variant. 0,040 kg 1 39.00€
c0s12721-02va01 Ripcord switch preassembled MCU5 with ATV Board 0,040 kg 1 18.80 €
c0s12721-02va02 Ripcord switch preassembled MCU5 without ATV Board 0,040 kg 1 21.30 €
c0s12732-01 switch element closer 0,010 kg 1 9.62 €
c0s12733 0,001 kg 1 8.07€
€0s12736 Expander / elastic rope 4,7m for comet 0,154 kg 1 56.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos12736-01a plastic hook with scale for robowalk 0,029 kg 1 22.00€
€0s12736-02 Expander / elastic rope 4,7m for comet 0,154 kg 1 83.90 €
c0s12742 hose fitting US-M AD45 M40 0,122 kg 1 80.00€
c0s12743 counter nut metal M40 0,022 kg 1 1.59€
cos12744 Spring Plungers M8 0,005 kg 1 11.60 €
cos12745 Transport handle M8 0,210 kg 1 99.90€
c0s12746 Hexagon socket head cap screw M8x55 0,025 kg 1 0.24 €
cos12747 Plastic cover cap 35x35x2mm, black 0,009 kg 1 0.66 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s12748 Electronic clock relay 0,090 kg 1 83.90€
€0s12749-03vz ve/sat mountingplate e-module galvanized 5,300 kg 1 75.90€
c0s12750 ve/sat e-module mounting plate 5,700 kg 1 onrequest
€0s12750-02 ve/sat e-module mounting plate assembly 7,677 kg 1 405.00 €
c0s12757ral9007 comet holder end switch for spindle 0,140 kg 1 44 80€
cos12767 ve/sat inverter case 5,5kW and 7,5kW 4,038 kg 1 195.00 €
cos12774 xx/75 safety arch cross beam 6,771kg 1 183.00 €
cos12774ral9007 xx/75 safety arch cross beam 6,771 kg 1 onrequest
€0s12774ral9010 xx/75 safety arch cross beam 6,771 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos12775ral9007 xx/100 safety arch cross beam 7,617 kg 1 onrequest
c0s12775ral9010 xx/100 safety arch cross beam not specified 1 onrequest
c0s12776-01 xx/125 safety arch cross beam 8,462 kg 1 onrequest
c0s12776-01ral9007 xx/125 safety arch cross beam 8,462 kg 1 onrequest
€0s12776-01ral9010 xx/125 safety arch cross beam 8,650 kg 1 onrequest
c0s12780 comet fastening angle front side not specified 1 onrequest
cos12784 Button head socket screw M5x10 0,002 kg 1 0.47€
c0s12785 Button head socket screw M5x10 0,008 kg 1 1.35€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s12787-01 0,011 kg 1 445€
cos12788 dial D40/E21 0,002 kg 1 3.30€
cos12789 0,007 kg 1 3.94€
c0s12790 cover cap for knob plastic 0,001 kg 1 0.56 €
€0s12791-01 Position switch 0,076 kg 1 52.00€
c0s12792 Snap switch with metal lever & roller 0,009 kg 1 9.03€
c0s12798 toothed belt disc for taper bush 0,216 kg 1 113.00 €
c0s12799 Taper bush 1008/19mm 0,095 kg 1 21.90€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s12800 toothed belt disc 26-5M-9 (20h7) 0,170 kg 1 71.90€
c0s12801 toothed belt disc 26-5M-9 (10h7) 0,166 kg 1 71.90 €
c0s12802 Cog belt I=520mm, b=9mm 0,015 kg 1 9.95€
cos12807 comet guidance end switch not specified 1 onrequest
cos12814 Crank for extension support 0,150 kg 1 15.00 €
c0s12815 RAFI push button red illuminated 0,013 kg 1 9.95€
c0s12816 COMET adjusting feet not specified 1 17.70€
c0s12830 0,002 kg 1 0.15€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos12841 cut ring screwing 1/8" 0,002 kg 1 117€
c0s12846 1,000 kg 1 269.00 €
c0s12851 POLAR Transmitter T31 uncoded 0,088 kg 1 onrequest
€0s12858-01 emergency stop button IDEC complete 0,026 kg 1 86.70€
c0s12859 countersunk head screws M8x70 VA2 0,027 kg 1 2.23€
c0s12872-01 ve/sat speed angle 7,5+11kW motor 4-pole 0,260 kg 1 onrequest
c0s12872-01vz ve/sat speed angle 7,5+11kW motor 4-pole 0,230 kg 1 73.30€
c0s12874-01ral9007 ve/sat ext. UT holder oil distributor 0,110 kg 1 36.10€
€0s12874-01ral9010 ve/sat ext. UT holder oil distributor 0,110 kg 1 36.10€
€0s12875 0,048 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s12882-01 expulsion fuse 3-pole C 32A UL 0,450 kg 1 468.00 €
c0s12885 ve/sat covering right 0,172 kg 1 56.00 €
c0s12886 0,172 kg 1 56.00 €
€0s12895-01 FU-case KEB - Mitsubishi inverter 1,100 kg 1 121.00 €
€0s12898-01 FU-case Lenze - Mitsubishi inverter 1,140 kg 1 121.00 €
c0s12901 CEE - Adapter 32A plug - 16A coupling 0,250 kg 1 246.00 €
c0s12903 165/63 kick plate bar for engine hood 0,216 kg 1 13.70€
€0s12908-01 Spiral coiled tube 4mm 0,500 kg 1 16.00 €
€0s12909-01 Spiral coiled tube 9mm 1,200 kg 1 24.70€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s12923 consumable material and sundries not specified 1 12.10€
€0s12924 gasket copper Form A 10x14x1mm 0,001 kg 1 0.56 €
€0s12925 Countersunk head screw M3x12 A2K 4.8 0,001 kg 1 0.08€
€0s12926 Countersunk head screw M3x12 VA2 0,001 kg 1 0.08€
€0s12947 Hexagon socket set screws VZ M5x6 0,001 kg 1 0.20€
€0s12950 stave for ladder ergometer discovery 0,600 kg 1 66.80 €
€0s12958ral9007 xx/75 angle respond gap for back plate 0,982 kg 1 64.50 €
€0s12958ral9010 xx/75 angle respond gap for back plate 0,982 kg 1 64.50 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s12959ral9007 xx/100 angle respond gap for back plate 1,343 kg 1 66.80 €
€0s12959ral9010 xx/75 angle respond gap for back plate 1,343 kg 1 66.80 €
€0s12960ral9007 xx/125 angle respond gap for back plate 1,705 kg 1 69.20 €
€0s12960ral9010 xx/75 angle respond gap for back plate 1,705 kg 1 69.20 €
c0s12967 Rubber cover cap d=25mm, black 0,002 kg 1 1.22€
c0s12969 step tape 50mm, black 0,640 kg 1 15.00 €
€0s12970 non slip step stripe 150mm, black 0,107 kg 1 4240 €
cos12977 MCU4 EPROM UPDATE Firmware ET1500 0,100 kg 1 66.80 €
c0s12984 retaining plate rear bearing block 0,030 kg 1 7.96€
€0s12986 Circlips for shafts standard range 0,001 kg 1 0.08€
€0s12988 Locking link straight for chain 08B-1 0,009 kg 1 4.64 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s12989 Hexagon lock nuts M20x1,5 8.0 0,053 kg 1 1.56 €
€0s12990 Cylinder head screw M5x10 VA2 not specified 1 0.28€
€0s12991 Keyboard film blue JP h/p/cosmos MCU4 0,035 kg 1 86.70€
€0s12992 Keyboard film blue CN h/p/cosmos MCU4+5 0,035 kg 1 86.70€
€0s12993 Keyboard film blue FR h/p/cosmos MCU4 0,035 kg 1 86.70 €
€0s12998 Core ending capsule 6,0 N isolated 0,002 kg 1 0.08€
cos13000 Fine fuse 2,5A T 0,001 kg 1 0.54 €
c0s13010 Plain washer M4 (4,3x20x1,25) 0,002 kg 1 0.04€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos13026 Hexagon socket set screws VZ M4x10 0,001 kg 1 0.11€
c0s13027 Hexagon socket set screws VZ M6x10 0,001 kg 1 011€
c0s13033 Mains lead 10m comet 3.0 230V 0,700 kg 1 93.20€
cos13034 Servicebox comet 3.0 not specified 1 112.00 €
c0s13038 running belt f. treadmill TMS 2700x380mm 3,600 kg 1 321.00 €
cos13039 running belt TMS 2980x450mm 4,700 kg 1 460.00 €
€0s13042 hose fitting US-M AD27 M25 0,036 kg 1 26.90 €
c0s13046-01 Expulsion fuse 1-pole C 16A 0,125 kg 1 28.10€
cos13048 Surge Guard MS 35 3R030 3ohm30A 0,030 kg 1 15.50 €
c0s13049 suction filter for compressor JUN-AIR4-4 0,013 kg 1 37.50€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s13056-01 ve/sat engine mount K20R 132 M4 11kW 15,760 kg 1 254.00 €
c0s13061 battery Varta CR2025 3 Volt not specified 1 onrequest
cos13075 Grove Cleaner 75ml| 0,138 kg 1 onrequest
cos13076 Poly-V-pully motor D=80mm 1,002 kg 1 71.90€
c0s13076VZ Poly-V-pully motor D=80mm VZ 1,002 kg 1 onrequest
c0s13081 Maintenance spray for metal 0,220 kg 1 onrequest
c0s13082 Counter Board SpeedSensor-SPS 0,013 kg 1 99.90€
c0s13084ral9010 xx/65 joint frame - elevation element powder-coated RAL9007 2,250 kg 1 4760 €
c0s13094vz ve/sat elevating device 0,980 kg 1 onrequest

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list  date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s13098-01 10,756 kg 1 304.00 €
c0s13099-01 7,200 kg 1 304.00 €
c0s13100 ve/sat belt tensioner complete 2,300 kg 1 410.00 €
c0s13101 xxx/75 driving roller not specified 1 2,856.00€
c0s13103 xxx/100 driving roller not specified 1 onrequest
cos13104 xxx/125 driving roller not specified 1 3,186.00€
c0s13105 xxx/75 rear roller set not specified 1 2,829.00€
cos13106 xxx/100 rear roller set not specified 1 2,872.00€
cos13107 xxx/125 rear roller set not specified 1 3,186.00€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s13108vz ve/sat angle f. securing deviating shaft 0,052 kg 1 17.00 €
c0s13118-01 ve/sat FU-case 11kW 7,681 kg 1 276.00 €
c0s13118-01vz ve/sat FU-case 11kW 7,681 kg 1 276.00 €
c0s13119-01 ve/sat FU-case cover 11kW 1,500 kg 1 114.00 €
€0s13119-01vz ve/sat FU-case cover 11kW 1,500 kg 1 111.00 €
c0s13120 Key switch, spare key 2 piece 0,012 kg 1 6.50 €
c0s13121-01 Expulsion fuse 1 phase C 6A UL 0,150 kg 1 80.00 €
c0s13158 cover cap hexagon head screw M10 0,001 kg 1 0.66 €
cos13165 Spring 1,5x12x35 0,004 kg 1 1.95€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s13166 motor protection switch 0,550 kg 1 134.00 €

cos13174 0,003 kg 1 2.23€

c0s13186 0,006 kg 1 onrequest

cos13187 not specified 1 0.40€ ﬁ
c0s13189 glue cap for binder b=4,8mm not specified 1 0.36 € ﬁ
c0s13190 thermal paste can 1kg 1,000 kg 1 onrequest

cos13199 toolcase service 2 7,100 kg 1 onrequest

€0s13200 toolcase service 3 3,800 kg 1 onrequest

c0s13201 toolcase service 4 8,500 kg 1 onrequest

€0s13202-01ral9010 LE 200 CE long handrail straight 20,300 kg 1 867.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s13203-01ral9010 LE 200 CE long handrail straight 20,700 kg 1 891.00 €
c0s13211 Fine fuse 0,4A T 5x20mm 0,001 kg 1 0.53€
c0s13216 Bottle of paint 10ml RAL9010 white 0,025 kg 1 6.63 €
cos13217 Bottle of paint 10mlI RAL9007 grey alu 0,025 kg 1 6.63 €
c0s13218 Bottle of paint 10ml RAL1016 yellow 0,025 kg 1 6.63€
cos13219 Bottle of paint 10ml RAL5005 blue 0,025 kg 1 6.63€
0513226 0,130 kg 1 onrequest
cos13227 0,020 kg 1 411€
c0s13228 0,005 kg 1 5.04 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s13231 Chain link 0,006 kg 1 0.66 €
€0s13239 parallel key 6x6x20mm 0,005 kg 1 0.28€
cos13244 cable screwing plastic M20x1,5 0,011 kg 1 onrequest
c0s13246 Cover cap plastic d=20x20x1mm black not specified 1 0.13€
c0s13253 toothed belt disc 72-8M-20 (servo 750W) 2,000 kg 1 onrequest
cos13255vz xx/75 liting mechanism crossbeam front 4,161 kg 1 onrequest
€0s13258 Plastic cover cap d=32x1mm black 0,003 kg 1 onrequest
c0s13281 cylinder head screw M8x90 A2K 8.8 not specified 1 0.71€
c0s13283-01 wire connection port RS232, S10 LT 0,040 kg 1 37.50€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s13295 0,013 kg 1 0.40€
c0s13299 Hexagon head shoulder screws 12-M10x35 0,054 kg 1 3.98€
cos13300 Hexagon head shoulder screws 12-M10x50 0,064 kg 1 4.64 €
cos13314 150-50 safety arch mounting and height not specified 1 onrequest
€0s13328 Indicating labels WAGO 1-10 0,008 kg 1 425€
c0s13331ral9007 flange clamping piece for tube D=30mm 0,105 kg 1 onrequest
c0s13336 150-50 gaitway Il support plate 61,500 kg 1 6,526.00 €
c0s13340-01 motor oil for compressor JUN-AIR 4-4 0,500 kg 1 33.50€
cos13341 tube clamp 0,010 kg 1 1.35€
€0s13342 tube clamp 0,001 kg 1 0.79€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s13343 1/3 screw connect. G1/4" w. grommet 4mm 0,021 kg 1 2.78 €
c0s13344 1/3 screw connect. G1/4" w. grommet 6mm 0,021 kg 1 2.78€
cos13345 Sleeve G 1/4" inside 0,025 kg 1 242€
cos13346 0,014 kg 1 1.95€
€0s13348-vz All treadm. med holder OptoCoupler-Board 0,415 kg 1 onrequest
c0s13355 0,050 kg 1 onrequest
c0s13356 Cross recessed pan head tapping screw not specified 1 0.32€
€0s13398 aluminum clamp Kd4,8 0,001 kg 1 227€
cos13401ral9007 150/50 safety arch cross bar assembled 6,381 kg 1 918.00 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s13401ral9010 150/50 safety arch cross bar assembled 6,381 kg 1 918.00 €
c0s13403ral9007 cross tube safety arch xx/65 assembled 7,261 kg 1 813.00 €
c0s13403ral9010 cross tube safety arch xx/65 assembled 7,261 kg 1 813.00€
cos13405 xx/75 safety arch cross bar assembled 7,577 kg 1 918.00 €
cos13407 xx/100 safety arch cross bar assembled 8,456 kg 1 918.00 €
c0s13409 xx/125 safety arch cross bar assembled 9,337 kg 1 918.00 €
c0s13417-01 Running belt for treadmill 190/65r 5,912 kg 1 1,899.00€
€0s13421-02ral9007 250/xx detachable handrail left 19,318 kg 1 818.00 €
c0s13421-02ral9010 250/xx detachable handrail left 19,318 kg 1 818.00 €
c0s13423-02ral9007 250/xx detachable handrail right 19,318 kg 1 818.00 €
€0s13423-02ral9010 250/xx detachable handrail right 19,318 kg 1 818.00 €
c0s13425ral9007 ve/sat detachable handrail connect.pipe 1,100 kg 1 60.10 €

M:\Service\Servicemanual\9 ’Preististent20220523 "hpcosmos’ spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s13428 safety arch spiral cord with plug+switch 0,800 kg 1 177.00 €
c0s13436 0,318 kg 1 26.30 €
c0s13436ral9007 1/2 clamp for pipe D=60mm 0,110 kg 1 28.30€
c0s13436ral9010 Half clamp for pipe D = 60mm 0,110 kg 1 28.30 €
c0s13437 wheelchair stabilizer stop front+rear not specified 1 4410€
c0s13437-01 Wheelchair guide stop front + rear 0,140 kg 1 4410€
c0s13440 fuse 0,8AT for power supply 12/24V not specified 1 1.99€
cos13449 screwset for elevation motor 50+65 0,141 kg 1 9.28 €
cos13514 Fastener / Holder for ext. UserTerminal 1,300 kg 1 236.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos13515 All treadmills external UT bracket 1,250 kg 1 80.00€
c0s13515ral9007 All treadmills external UT holder not specified 1 onrequest
c0s13515ral9010 All treadmills external UT holder not specified 1 onrequest
c0s13516 Terokal sky glue mild can 680g not specified 1 56.00 €
c0s13531 Mains lead simulator 0,300 kg 1 onrequest
cos13545 MCU2 EPROM UPDATE Firmware venus/saturn 0,300 kg 1 66.80 €
c0s13546 190/65 tread aluminium plate not specified 1 onrequest
c0s13574-01 Running belt for skisticks&spikes 200/75 22,950 kg 1 3,651.00€
c0s13575-01 Runningbelt for skisticks&spikes 200/100 30,600 kg 1 4,779.00€
c0s13576-01 Runningbelt for skisticks&spikes 250/75 28,050 kg 1 4,315.00€
cos13577-01 Runningbelt for skisticks&spikes 250/100 37,400 kg 1 5335.00€
c0s13577-02 Runningbelt for skisticks&spikes 250/100 37,400 kg 1 5,651.00€

M:\Service\Servicemanual\9 ’Preististent20220523 "hpcosmos’ spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s13578-01 Runningbelt for skisticks&spikes 250/125 46,750 kg 1 6,828.00€
c0s13579-01 Runningbelt for skisticks&spikes 300/75 33,150 kg 1 5,044.00€
c0s13580-01 Runningbelt f. skisticks&spikes 300-100 44,200 kg 1 6,636.00€
c0s13581-01 Runningbelt for skisticks&spikes 300/125 55,250 kg 1 7,987.00€
€0s13598 Spray can colour RAL1016 400ml 0,430 kg 1 34.20€
cos13608 Handrail long right SCHILLER 150/50 not specified 1 560.00 €
cos13609 Handrail long left SCHILLER 150/50 not specified 1 560.00 €
c0s13610-03 Power supply med 200W12/24 VDC 0,900 kg 1 378.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s13613 Faceplate screw 4,5x40 head access hole not specified 1 0.36€
c0s13639 Levelling socket plastic socket d=80mm 0,083 kg 1 10.50 €
c0s13640 Leveling socket plastic socket d=100mm 0,140 kg 1 15.50 €
c0s13641-02 Motor cover with logo label 170-190/65 4,950 kg 1 335.00€
c0s13654ral9007 150/50 gaitway fast.angle left-front 1,200 kg 1 143.00 €
c0s13655ral9007 150/50 gaitway fast.angle left-behind 2,100 kg 1 108.00 €
cos13656ral9007 150/50 gaitway fast.angle right-front 1,250 kg 1 143.00 €
€0s13657ral9007 150/50 gaitway fast.angle right-behind 1,250 kg 1 108.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s13658ral9007 150/50 gaitway measuring system 1,350 kg 1 onrequest
€0s13663-02ral9010 150/50 gaitway 3D front plate 0,660 kg 1 27.10€
cos13689 Lamp holder BA9S with light bulb 24V 0,015 kg 1 12.10€
cos13708 Servicebox treadmill 150/50 0,500 kg 1 33.50€
cos13713 Servicebox treadmill 170&190/65 0,500 kg 1 33.50€
cos13728 Set hose fitting not specified 1 24.10€
€0s13729ral9007 xx/50&65extern.control panel cover plate 0,148 kg 1 onrequest
c0s13733-01 chain spray, 500 ml 0,550 kg 1 26.90€
c0s13752 airwalk, cable assembly 0,622 kg 1 158.00 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s13758-01 Elevation motor xx/65 climate chamber 6,500 kg 1 800.00 €
c0s13776-01ral9007 All TM ext. control panel trans. plate 2,100 kg 1 109.00 €
cos13776-01ral9010 All TM ext. control panel trans. plate 2,100 kg 1 109.00 €
cos13779-01 xx/50&65 ext.control panel cable channel 0,920 kg 1 150.00 €
c0s13820 Rehab emergencystop switch MCU2 w. cable 0,060 kg 1 28.10€
c0s13834 0,072 kg 1 13.70 €
cos13844 non slip step plate right 165-63 2,400 kg 1 108.00 €
c0s13846 Dummy plug metal PG9 0,004 kg 1 0.66 €
€0s13847 blind plug brass PG11 0,008 kg 1 0.73€
c0s13849 blind plug brass PG16 0,010 kg 1 0.99€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos13850 blind plug brass PG21 0,015 kg 1 1.99€
c0s13851 motor angle 100L4 2,850 kg 1 73.30€
c0s13852 motor angle 90L2 2,850 kg 1 80.00€
c0s13856 running deck gliding platform TM 165/63 not specified 1 501.00 €
cos13861 Expulsion fuse 2 phase C 25A 0,283 kg 1 36.10€
cos13878 0,066 kg 1 13.70 €
€0s13879 0,001 kg 1 011€
c0s13880 circlip for rollers 12x1 not specified 1 0.08€
€0s13881 circlip for boreholes 35x1,5 0,003 kg 1 0.32€
€0s13882 circlip for boreholes 32x1,5 0,003 kg 1 0.24€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list  date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s13883 circlip for boreholes 40x1,75 0,005 kg 1 0.52€
c0s13884 circlips for boreholes 47x1,75mm 0,006 kg 1 0.52€
cos13885 circlip for boreholes 51x2 0,009 kg 1 0.88€
cos13887 0,030 kg 1 7.96€
c0s13889 Cover cap plastic d=30x1-2mm black 0,004 kg 1 0.20€
c0s13891 Cover cap plastic d=30x30x1,5mm black 0,009 kg 1 0.15€
c0s13892 0,001 kg 1 0.13€
c0s13909 190/65 running surface assembled 36,400 kg 1 1,017.00€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s13910 0,021 kg 1 13.00€
c0s13911 cold appliance plug 21A/250V 0,035 kg 1 11.40€
c0s13913 flat plug 6,3 housing 6-pole male 0,004 kg 1 2.38€
cos13914 flat plug 6,3 housing 6-pole female 0,004 kg 1 2.52€
c0s13919 flat plug 2,8mm 0,1-0,32 (0,5mm) 0,001 kg 1 0.66 € B
c0s13920 PE-bolt M6x35 for potential equalization 0,009 kg 1 1.59€
c0s13921 press cable lug for copper mesh M6 0,012 kg 1 1.06 €
€0s13922 cable eye M8 for copper netting 0,013 kg 1 1.06 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s13923 press cable lug for copper mesh M10 0,013 kg 1 1.06 €
€0s13924 Hexagon socket set screws VZ M5x12 0,001 kg 1 011€
c0s13925 Hexagon socket set screws VZ M8x8 0,002 kg 1 0.11€
c0s13926 Spacer tube Speed sensing 90L2 0,006 kg 1 3.98€
c0s13927 Spacer tube Speed sensing 100L4 0,006 kg 1 3.98€
c0s13928 Hexagon socket set screw M8x16 A2K 0,002 kg 1 0.24 €
c0s13929 0,001 kg 1 020€
0513930 0,004 kg 1 0.20€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s13931 0,008 kg 1 0.24€
c0s13933 0,001 kg 1 0.08€
c0s13934 blind rivet countersunk head 4x8 A2K 0,001 kg 1 0.08€
c0s13935 blind rivet countersunk head 4x10 A2K 0,001 kg 1 0.11€
€0s13948 MCU3 sensor speed / elevation 24V 0,300 kg 1 103.00 €
c0s13954-V2.31-4 MCU2 Simulator EPROM Firmware V2.31-4 not specified 1 46.80 €
c0s13954-V2.31-67 MCU2 Simulator EPROM Firmware V2.31-67 not specified 1 onrequest
c0s1399%4 spark suppression capacitor 0,002 kg 1 743€
c0s14004 Keyboard film black DE OEM PROXOMED MCU4 0,035 kg 1 99.90 €
cos14007 special oil surface autom.lubric. 0,25l 0,290 kg 1 30.00€
cos14063 Range Limiter, Mech. rear end stop back 0,110 kg 1 26.90€
cos14089 50&65 cable set for inviromental chamber 0,100 kg 1 295.00 €

M:\Service\Servicemanual\9 ’Preististent20220523 "hpcosmos’ spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos14090-01ral ve/sat transport fixation 0,200 kg 1 12.60 €
cos14107 3,350 kg 1 601.00 €
cos14109 31,600 kg 1 999.00 €
c0s14110 39,230 kg 1 onrequest
c0s14112 40,230 kg 1 onrequest
cos14113 49,950 kg 1 800.00 €
cos14115 48,870 kg 1 onrequest
cos14116 60,670 kg 1 1,993.00€
cos14119 reduction screw connection M25 to PG16 0,008 kg 1 451€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos14122 0,120 kg 1 4410 €
cos14123 0,120 kg 1 48.00 €
cos14124 0,047 kg 1 20.90€
cos14125 not specified 1 21.70€
cos14126 0,213 kg 1 108.00 €
cos14127 0,153 kg 1 87.80€
cos14128 0,105 kg 1 56.00 €
cos14129 0,100 kg 1 62.70 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos14130 0,001 kg 1 0.92€
c0s14132 Rubber cover cap d=22mm, black 0,003 kg 1 143 €
c0s14133 Rubber cover cap d=22,2mm, black 0,003 kg 1 0.66 €
c0s14159 hex. screw DIN 933/ISO 4017 M5x12 0,001 kg 1 0.24€
c0s14169 plug 6 pole for elevation motor 165-63 not specified 1 7.56 €
cos14170 Bushing d=11mm 0,003 kg 1 0.66 €
cos14173 shrink tube transparent 12,7-6,4 0,050 kg 1 7.96€
c0s14185 cable set for FU-change set Lenze+KEB 0,100 kg 1 onrequest
c0s14193 Ceramic clamp not specified 1 3.98€
cos14199 Elevation motor f.h/p/cosmos TM observer not specified 1 onrequest
c0s14210 Heavy duty castor 160mm with stop-top 3,000 kg 1 553.00 €
c0s14212 CEE plug male, wall-mount 5-pin, 16A red 0,471 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s14227-02ral9007 200/xx detachable handrail right 18,024 kg 1 818.00 €
c0s14227-02ral9010 200/xx detachable handrail right 18,024 kg 1 818.00 €
c0s14229-0 200/xx detachable handrail left 18,047 kg 1 818.00 €
2ral9007

c0s14229-0 200/xx detachable handrail left 18,047 kg 1 818.00 €
2ral9010

c0s14231-02ral9007 300/xx detachable handrail right 20,778 kg 1 845.00 €
c0s14231-02ral9010 300/xx detachable handrail right 20,778 kg 1 845.00 €
c0s14233-01ral9007 300/xx detachable handrail left 30,000 kg 1 1,456.00€
c0s14247 0,010 kg 1 8.84 €
c0s14248 fan cover for VEM EB20RW 56 G4 not specified 1 30.40€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos14251 toothed belt disc 56-8M-20 (Servo 2000W) 1,150 kg 1 onrequest
€0s14252-01 encoder cable for servo motor 2000W 0,400 kg 1 onrequest
c0s14257-01 xx/50&65 right pillar set safetyarch 75° Please choose variant. 2,900 kg 1 349.00 €
c0s14257-01va01 xx/50&65 right pillar set safetyarch 75° RAL9010 2,900 kg 1 349.00 €
c0s14257-01va02 xx/50&65 right pillar set safetyarch 75° RAL9007 2,900 kg 1 349.00 €
c0s14258 xx/50&65 left pillar set safetyarch 75° Please choose variant. 2,600 kg 1 203.00 €
cos14258va01 xx/50&65 left pillar set safetyarch 75° RAL9010 2,600 kg 1 203.00 €
cos14258val2 xx/50&65 left pillar set safetyarch 75° RAL9007 2,600 kg 1 203.00 €
cos14259 Pillar right for safety arch 65° 150/50 Please choose variant. not specified 1 335.00 €
cos14259va01 Pillar right for safety arch 65° 150/50 RAL9010 not specified 1 335.00€
c0s14259va02 Pillar right for safety arch 65° 150/50 RAL9007 not specified 1 335.00 €
c0s14260 Pillar left for safety arch 65° 150/50 Please choose variant. not specified 1 217.00€
cos14260va01 Pillar left for safety arch 65° 150/50 RAL9010 not specified 1 217.00 €
cos14260va02 Pillar left for safety arch 65° 150/50 RAL9007 not specified 1 217.00€
c0s14263ral9007 ve/sat safety arch support right set RAL9007 2,800 kg 1 onrequest
€0s14263ral9010 ve/sat safety arch support right set RAL9010 2,800 kg 1 onrequest
c0s14264ral9007 ve/sat safety arch support left set RAL9007 2,800 kg 1 onrequest
€0s14264ral9010 ve/sat safety arch support left set RAL9010 2,800 kg 1 onrequest

M:\Service\Servicemanual\9 _Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos14274ral9007 xx/100 safety arch cross beam 220cm 9,915 kg 1 241.00€
cos14276ral9007 150/50 gaitway fast.meas.syst.coverplate 1,000 kg 1 onrequest
c0s14292 MCU4-MCU5 display board 0,140 kg 1 375.00€
€0s14294-01 Running belt for treadmill 150/50 6,930 kg 1 833.00€
€0s14294-01mm Running belt for treadmill 150/50 with middlemarker, 5mm thickness 6,900 kg 1 852.00 €
c0s14298 cross tube xx/75 safety arch assembled 10,600 kg 1 576.00 €
c0s14301vz not specified 1 onrequest
c0s14310m5-v1.04gw-de manual treadmill m5v1.04 gaitway de not specified 1 38.90€
€0s14310m5-v1.04gw-en manual treadmill m5v1.04 gaitway en not specified 1 38.90 €
c0s14310m5-v1.04hur-en manual treadmill m5v1.04 HUR en 0,450 kg 1 78.60 €
c0s14342 Cable for optocoupler-inverter xx/508&65 0,015 kg 1 38.10€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s14352 Wiring duct 63x19mm 0,300 kg 1 14.40 €
c0s14375 Programming unit frequent invert.FR-E520 0,100 kg 1 onrequest
cos14379 Lubricant test tissue in bag 0,008 kg 1 3.07€
€0s14382 non slip step stripe 1830x150mm not specified 1 93.20 €
c0s14383 non slip step stripe 2330x150mm not specified 1 114.00 €
c0s14384 non slip step stripe 2830x150mm not specified 1 137.00 €
c0s14386-01ral9010 170/65 handrail VIASYS long, right 26,176 kg 1 839.00 €
c0s14388-01ral9010 170/65 handrail VIASYS long, left 25,782 kg 1 800.00 €
€0s14393 spacer sleeve M4AD=8,H=5 brass nickel-pl 0,001 kg 1 0.33€
€0s14394 0,100 kg 1 0.32€
c0s14395 body-cavity sealing 11 fawn 1,000 kg 1 48.00 €
c0s14403-01ral9016 170&190/65 roller cover plate right rear 0,250 kg 1 99.90€
c0s14404-01ral9016 170&190/65 roller cover plate left rear 0,250 kg 1 99.90€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s14405-01ral9007 170/65 footboard right shaped at roller 8,900 kg 1 450.00 €
c0s14405-01ral9010 170/65 footboard right shaped at shaft 8,900 kg 1 416.00 €
c0s14406-01ral9007 170/65 footboard left shaped at roller 8,900 kg 1 450.00 €
c0s14406-01ral9010 170/65 footboard left shaped at shaft 8,900 kg 1 416.00 €
c0s14407-01ral9007 190/65 footboard right shaped at roller not specified 1 481.00 €
c0s14407-01ral9010 190/65 footboard right shaped at shaft 9,860 kg 1 446.00 €
c0s14408-01ral9007 190/65 footboard left shaped at roller 12,315 kg 1 481.00 €
€0s14408-01ral9010 190/65 footboard left shaped at shaft not specified 1 446.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s14421-02 Fastener roller cover plate rear xx/65 0,146 kg 1 93.20€
c0s14538 Air pressure tube 0,102 kg 1 5.57€
cos14544 Cable glands ST-M20x1,5 black 0,011 kg 1 3.98€
c0s14569-02 UserTerminal TouchPanel retro fit kit ve/sat 5,700 kg 1 3,355.00€
cos14571 Power plug 250V/16A switzerland (CH) 0,088 kg 1 onrequest
€0s14576 airwalk compressed air tube 3m 0,100 kg 1 57.70€
cos14577 airwalk compressed air tube 4m 0,400 kg 1 99.90€
cos14578 airwalk compressed air tube 5m 0,500 kg 1 108.00 €
cos14589 Running deck for treadmill 190/65r 42,500 kg 1 onrequest
€0s14595 Bottle of paint 10ml RAL7016 grey-anth. 0,025 kg 1 6.63€
cos14606 Bottle of primer 10ml RUST-OELUM 2169 0,025 kg 1 6.63€
€0s14607-01 emc filter 400 V 2,500 kg 1 499.00 €

M:\Service\Servicemanual\9 ’Preististent20220523 "hpcosmos’ spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s14608-01 Poly-V drive belt 170-190/65 30 km/h 0,100 kg 1 3540 €
c0s14612ral9007 xx/65 divisible handrail backpart 9,000 kg 1 1,338.00€
c0s14615-01 postition switch C2-A2Z 0,022 kg 1 28.10€
c0s14622 floor marking hut, red/white, h=30cm 0,432 kg 1 25.50€
cos14627 Phoenix plug QUICKON 4-pole not specified 1 12.10€
c0s14631ral9007 xx/65 handrail left upper part shortened not specified 1 601.00 €
c0s14636 set chain r3 + stave for discovery 22,700 kg 1 3192.00€
cos14637 Resistor 0,25 Watt 47KOhm 0,001 kg 1 0.13€
cos14647 waist belt Size L (incl. leash+magnet) 0,050 kg 1 121.00 €
c0s14648 waist belt Size M (incl. leash+magnet) 0,050 kg 1 121.00 €
cos14649 waist belt Size S (incl. leash+magnet) 0,050 kg 1 121.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos14654 Power supply 10W 12VDC/0,9A 0,770 kg 1 150.00 €
€0s14655 Panel jack + switch 0,036 kg 1 1910 €
c0s14660 Insulation cover for flat plug 4,8mm 0,001 kg 1 0.46€
c0s14661 blade terminal 4,8mm 1,0-2,5% female 0,001 kg 1 1.02€
cos14664-01var Wheelchair ramp special 170-190/65 10,000 kg 1 1,508.00 €
cos14664-02a Wheelchair ramp 65 base frame 11,300 kg 1 259.00 €
c0s14664-02aral9010 Wheelchair ramp 65 base frame 11,300 kg 1 259.00 €
cos14664-02¢ Wheelchair ramp 65 folded sheet left 0,030 kg 1 25.90€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos14664-02d Wheelchair ramp 65 folded sheet right 0,030 kg 1 25.90€
€0s14664-02e Wheelchair ramp 65 cross stiffener 1,240 kg 1 32.10€
cos14664-02f Wheelchair ramp 65 positioning hook 3,130 kg 1 57.60€
c0s14664-02¢g Wheelchair ramp 65 peck out locking plat 0,010 kg 1 57.60€
c0s14664-03b Wheelchair ramp 65 checker plate 15,570 kg 1 410.00 €
c0s14668 Rubber socket 30mm 0,050 kg 1 3.98€
cos14671-01 Mains lead 5m comet 3.0 400V 2,085 kg 1 108.00 €
c0s14673 set screw incl. washer discovery 0,914 kg 1 1.06 €
c0s14690 Fine fuse 8,0A T 0,001 kg 1 0.54 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s14691 Fine fuse 5,0A T 0,001 kg 1 0.54 €
c0s14692 Fine fuse 0,8A T 0,001 kg 1 0.54€
c0s14694-01 chip card reader CCI135C preassembled 0,050 kg 1 281.00€
c0s14695-01ral9007 190/65 footboard left extra wide speed 24,633 kg 1 891.00 €
c0s14695-01ral9010 190/65 footboard left extra wide speed 24,633 kg 1 825.00 €
cos14697 xx/50&65 metal alternative for rubber-bonded metal 0,053 kg 1 onrequest
c0s14698 surge limiter 400V 16A 3 phase 0,270 kg 1 402.00 €
c0s14750 Range limiter, mechanical front end stop 0,060 kg 1 40.20 €
c0s14751-02ral9007 xx/65 left handrail short speed 8,990 kg 1 593.00 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos14753 compensation washer 20x32x0,25mm not specified 1 0.74 €
cos14754 Hexagonal stopping screw nut M14x1,5 not specified 1 0.84€
cos14756 Rehab push handle, black 165-63 not specified 1 onrequest
cos14761 165/63 elevation element 22,000 kg 1 2,391.00€
cos14767-01 xx/65 lateral handle for handrail speed 0,490 kg 1 137.00 €
cos14768 Bottle of rust converter 10ml 0,025 kg 1 13.70€
cos14773 190/65 running surface + cool. element cycle 36,400 kg 1 onrequest
c0s14818 Bottle of silicone bowdlerizer 10ml 0,025 kg 1 13.70€
c0s14870 Runningbelt f. treadmill Gaitway-Trotter 6,137 kg 1 375.00 €
cos14874 Bridge Plug HTS 4-pin (4+G) 0,064 kg 1 80.00€
cos14877 Hexogon nut for Phoenix plug QUICKON not specified 1 0.79€
cos14879 Cable glands SKINTOP M25x1,5 grey 0,013 kg 1 2.51€
c0s14882-01 Plastic case, blue 2,000 kg 1 241.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s14897-02 Instruction manual chest belt not specified 1 531€
c0s14905ral9007 xx/65 safety arch cross beam 220cm 8,765 kg 1 onrequest
c0s14905ral9010 xx/65 safety arch cross beam 220cm 8,765 kg 1 onrequest
€0s14909-02 Programmable logic controller LOGO! 12/24RCE, SPS, 8DE/4DA 0,190 kg 1 402.00 €
€0s14910-01 Programmable logic controller LOGO! DM8 24R expansion module 0,124 kg 1 229.00 €
c0s14932 compensation washer 18x30x0,5mm 0,001 kg 1 onrequest
cos14957 key switch + cable preassembled 0,064 kg 1 86.70€
€0s14958 External fan 230VAC + cable 0,322 kg 1 86.70 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s14968 Clamp 'Multifix' D=22mm B=15mm 0,017 kg 1 1.79€
€0s14969 Clamp 30/15 with isolation 0,021 kg 1 1.87€
c0s14986-01ral9007 150/50 safetyarch left supp. handr65° 1,270 kg 1 148.00 €
c0s14986-01ral9010 150/50 safetyarch left supp. handr65° 1,270 kg 1 148.00 €
c0s14988ral9007 xx/65 safety arch left prop HR short 0,638 kg 1 179.00 €
€0s14988ral9010 xx/65 safety arch left prop HR short 0,638 kg 1 179.00 €
c0s15013 Switch OFF 20A 2 make contact 0,060 kg 1 36.10 €
cos15015 Trafo holder 1t100-230V preassembled 2,500 kg 1 130.00 €
cos15017 60,450 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos15018 Chipcard reader blind cover 0,030 kg 1 3.19€
€0s15025-01 Front terminal 150/50 It preassembled Please choose variant. 0,800 kg 1 onrequest
c0s15025-01va01 Front terminal 150/50 It preassembled RAL9010 3xRS232 0,800 kg 1 onrequest
c0s15025-01va02 Front terminal 150/50 It preassembled RAL9010 3xRS232 + additional option 0,800 kg 1 321.00 €
c0s15025-01va03 Front terminal 150/50 It preassembled RAL9007 3xRS232 0,800 kg 1 onrequest
c0s15025-01va04 Front terminal 150/50 It preassembled RAL9007 3xRS232 + additional option 0,800 kg 1 onrequest
€0s15032-02 Elevation motor HAN2 0-25% for TM 150/50 4,350 kg 1 520.00 €
c0s15033-03; PC rack 3p inner plate 1,500 kg 1 6.31€
€0s15033-03| PC rack 3p cover plate 1,800 kg 1 110.00 €
cos15033-03I-BE PC rack 3p cover plate 1,800 kg 1 110.00 €
€0s15033-03m PC rack 3p mounting plate 0,300 kg 1 6.31€
c0s15043 150/50 (med) cable MCU - inverter 0,274 kg 1 70.70€

M:\Service\Servicemanual\9 ’Preististent20220523 "hpcosmos’ spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos15046 150/50 (med) bable MCU-ELR+power supply 0,135kg 1 61.40€
c0s15048 xx/65 med cable MCU-ELR+power supply 0,150 kg 1 60.10 €
cos15056 xx/65 med cable MCU - evelation motor 0,130 kg 1 60.10€
c0s15061-01 Cable elevation motor - ELR xx/65 0,150 kg 1 21.70€
cos15099 Ceramic clamp not specified 1 423€
c0s15112 id-card h/p/cosmos sirius EN 0,010 kg 1 onrequest
cos15115 Surge limiter 1-phase retrofitted 0,135kg 1 53.40€
cos15118 frequency converter 5,5KW KEB not specified 1 4911.00€
c0s15119 frequency converter 7,5KW KEB not specified 1 5,192.00 €
cos15127 comet hood holding rope 0,016 kg 1 onrequest
€0s15133-05 Handrail cross bar for TM width 65cm 2,950 kg 1 405.00 €
co0s15134 Padlock 40mm not specified 1 22.00€

M:\Service\Servicemanual\9 ’Preististent20220523 "hpcosmos’ spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos15178 POLAR Transmitter Set T34 extended range 0,110 kg 1 63.00 €
€0s15179-01 Soft grip hose 30mm for cross bar (50m ring) 0,250 kg 1 8.62 €
c0s15189-01 servo motor 2000W incl. break 6,200 kg 1 onrequest
c0s15190-01 Servo amplifier 2000 W 2,300 kg 1 onrequest
c0s15190at Servo amplifier 2000W exchange 2,550 kg 1 3,316.00€
c0s15191 Spacer for Siemens circuit breaker 0,010 kg 1 491€
c0s15219 Keyboard film blue DE h/p/cosmos MCU4+5 0,035 kg 1 80.00€
c0s15221 MCU2/MCU3 emergency stop - case complete 0,590 kg 1 269.00 €
c0s15226 xxx/65 3p driving motor treadmill 40km/h 32,500 kg 1 692.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos15226-cc xxx/65 3p driving motor treadmill 40km/h clima chamber 32,500 kg 1 692.00 €
€0s15228-04 form h/p/cosmos instruction en 0,015 kg 3 onrequest
€0s15228-05_en_de form h/p/cosmos instruction en de 0,015 kg 3 onrequest
€0s15238 Cog belt I=840mm, b=20mm 0,100 kg 1 25.50€
€0s15248 maometer f. compressor JUN-AIR 4-4 0,060 kg 1 4550 €
c0s15249 Ceramic clamp 6,02 0,016 kg 1 0.79€
c0s15250 switch element (normal open) 0,010 kg 1 6.49€
c0s15251 switch element (normal closed) 0,010 kg 1 6.49€
c0s15252 Light element for MOELLER on-/off-switch 0,010 kg 1 13.50 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s15253 Fix. element for MOELLER on-/off-switch 0,003 kg 1 3.06€
€0s15263-01 ve/sat drive motor 11kW 40-50km/h UL 95,000 kg 1 2,391.00€
c0s15271 Retrofitting kit circuit breaker 2P 16A 0,233 kg 1 130.00 €
€0s15296-V2.40.3 MCUS3 flash & CD update Firmware V2.40.3 not specified 1 335.00 €
c0s15301-01-aii repair kit sensor speed-elevation not specified 1 onrequest
c0s15304ral1016 paint repair set - yellow RAL1016 not specified 1 onrequest
c0s15304ral9007 paint repair set - grey alu RAL9007 not specified 1 onrequest
€0s15304ral9010 paint repair set - white RAL9010 not specified 1 onrequest
c0s15307 Toothed flat belt I=912mm, b=20mm 0,108 kg 1 28.10€
c0s15320 Belt tension screw M12 frontroller ve/sat 0,200 kg 1 56.40 €
€0s15347-02aral9005 Additional keyboard fixation arm support 0,320 kg 1 43.70 €
€0s15347-02bral9005 Additional keyboard fixation arm support 0,050 kg 1 43.70 €

M:\Service\Servicemanual\9 ’Preististent20220523 "hpcosmos’ spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s15348ral9005 Add. keyboard fixation motor cover right 0,100 kg 1 37.70€
€0s15348ral9007 Add. keyboard fixation motor cover right 0,100 kg 1 37.70€
€0s15349ral9005 Add. keyboard fixation motor cover left 0,100 kg 1 37.70€
c0s15369 Safety arch drilling jig 0,182 kg 1 34.80€
c0s15370 Program module card programmed 0,003 kg 1 77.30€
cos15374 CEE plug, male 5-pin, 64A, red not specified 1 114.00 €
cos15377 Communication cable control unit FR-E220 not specified 1 20.30€
c0s15389 Heat sink ready for installation 0,470 kg 1 31.50€
€0s15392 Ferrule 10 N isolated 18mm 0,001 kg 1 0.24€
c0s15398 Expulsion fuse 3 phase C63A not specified 1 376.00 €
c0s15467 Communication cable control unit FR-A024 not specified 1 107.00 €
cos15475 xx/100 safety arch cross tube glued 6,762 kg 1 onrequest
c0s15476 xx/125 safety arch cross tube glued 7,640 kg 1 420.00 €
c0s15494 running deck treadmill 200-75rs 73,500 kg 1 4514.00€
c0s15495 running deck treadmill 200-100r 85,300 kg 1 5,256.00 €
cos15497 running deck treadmill 250-75rs not specified 1 7,962.00€
c0s15498 running deck treadmill 250-100rs 110,000 kg 1 7,962.00€
cos15499 running deck treadmill 250-125rs not specified 1 7,663.00€

M:\Service\Servicemanual\9 _Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos15500 running deck treadmill 300-75rs not specified 1 onrequest
c0s15501 running deck treadmill 300-100r 134,000 kg 1 8427.00€
c0s15502 running deck treadmill 300-125rs not specified 1 onrequest
c0s15505-01 Main lead 5m 400V/16A CEE-Stecker 2,000 kg 1 532.00 €
c0s15513 Fan for FC FR-A024ER 2,2kW 0,074 kg 1 114.00 €
cos15514 Fan for FC FR-A540EC 5,5-7,5kW not specified 1 99.90 €
cos15515 Fan for FC FR-AS40EC 11-22kW not specified 1 170.00 €
c0s15516 Fan for FC FR-E520EC 1,5-3,7kW not specified 1 73.30€
c0s15542 cylinder head screw M12x200 A2K 8.8 not specified 1 4.37€
cos15544 cylinder head screw M12x110 A2K 8.8 0,107 kg 1 1.31€
€0s15546 60,450 kg 1 onrequest
c0s15548 76,945 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos15549 75,055 kg 1 onrequest
€0s15551 95,561 kg 1 onrequest
c0s15553 93,488 kg 1 onrequest
€0s15555-01 Main lead 5m 400V/32A CEE-Stecker 2,600 kg 1 189.00 €
€0s15559 Button head socket screw M10x12 VA2 0,002 kg 1 1.75€
cos15573 airwalk 70 control valve right front 0,500 kg 1 867.00 €
cos15579 Trolley holder on treadmill xx/50&65 0,510 kg 1 onrequest
€0s15603-02 network cable RJ45 Cat6 transparent 0,5m 0,024 kg 1 6.62€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos15604 network cable RJ45, Cat.5 grey 1,0m not specified 1 1.68 €
€0s15606 network cable RJ45, Cat.5 purple 3,0m 0,100 kg 1 3.61€
cos15607 network cable RJ45, Cat.5 grey 5,0m 0,130 kg 1 5.58 €
c0s15611 Power glue 80ml 0,100 kg 1 onrequest
€0s15621 airwalk 160, compressed air cylinder not specified 1 onrequest
c0s15622 airwalk lifter - accu replacement 2,950 kg 1 560.00 €
c0s15622-at airwalk lifter - accu replacement 2,950 kg 1 393.00 €
€0s15632 Rubber supply cable 5m 450,000 kg 1 7.96€
c0s15642 Cable end sleeve 0,75 N isolated, double, grey 0,001 kg 1 0.04€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos15657 Cable end sleeve 1,5 not isolated 0,001 kg 1 onrequest
c0s15659 Crimp contact XHP connector sockets single not specified 1 0.27€
€0s15692 cylinder head screw M6x14 A2K 8.8 0,005 kg 1 0.15€
cos15703ral9007 170/65 levelling socket adapter 23,500 kg 1 onrequest
c0s15704-01 connection board incl. sockets + cable 2,000 kg 1 534.00 €
cos15705ral9007 170/65 leveling socket adapt joint block 0,442 kg 1 onrequest
cos15713 170/65 leveling socket adapt. -10%..+15% 33,574 kg 1 234400 €
cos15721 1770/65 leveling socket ascent board not specified 1 onrequest
c0s15742 Hexagon head screw, zinc plated M12x35 not specified 1 0.40€
cos15745 Cable earthing bolt front plate + frame 0,007 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos15746 LTG X1 earthing 0,007 kg 1 onrequest
cos15747 Cable ELR-X1 0,008 kg 1 7.96 €
cos15753 0,003 kg 1 onrequest
cos15754 0,004 kg 1 onrequest
€0s15755 0,006 kg 1 onrequest
cos15756 0,008 kg 1 onrequest
cos15757 0,030 kg 1 onrequest
c0s15758 Line contactor power supply + X1 med 0,016 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos15759 Line circuit breaker-X1 med 0,016 kg 1 onrequest
cos15773 Cable emergency stop button Méller 0,304 kg 1 onrequest
c0s15823 Keyboard film black EN OEM PROXOMED MCU4 0,035 kg 1 99.90€
c0s15825 RS232/RS232 interface isolator 1kV 0,110 kg 1 534.00 €
c0s15838 replacement bulb camera luminaire 150W not specified 1 46.70 €
c0s15843 fuse 0,4T for power supply 12/24V not specified 1 1.99€
cos15844 fuse 0,160AT for power supply 12V not specified 1 1.99€
c0s15850 USB camera cable 2.0 Mini USB 5-pole 1,5m 0,064 kg 1 3.83€
€0s15865 Hexagon socket set screws VZ M3x6 0,001 kg 1 0.15€
c0s15869 cable MCU-elevation mercury gen 4 0,138 kg 1 40.20€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos15878 Plain washer M8 A2K 8,5x25x1,25 0,004 kg 1 0.15€
cos15879 distance socket adjustable handrail 15mm not specified 1 onrequest
c0s15880 distance socket adjustable handrail 12mm not specified 1 onrequest
€0515884-01 Potentiometer linear 2K2 0,012 kg 1 1210 €
c0s15885 Sealing plug D=30mm not specified 1 2.38€
cos15897 xx/65 handrail short speed extension 0,541 kg 1 onrequest
€0s15908ral9010 Handrail long, 2 pillar, eft, 1 bore 150/50 19,000 kg 1 onrequest
€0s15917-01 Cable elevation motor - ELR xx/50 0,150 kg 1 22.90€
c0s15924 150/50 shaft protect. compensation sheet 0,115 kg 1 495€
c0s15931ral9002 movable holder terminal 150/50 14,260 kg 1 627.00 €
€0s15931ral9007 movable holder terminal 150/50 14,260 kg 1 627.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s15931ral9010 movable holder terminal 150/50 14,260 kg 1 627.00 €
c0s15937 power plug for HC-RFS-Motor 0,150 kg 1 114.00 €
€0s15940 Desoldering wire 1,5m not specified 1 onrequest
€0s15946 splint pin stainless d=5mm, |=22mm 0,003 kg 1 0.60 €
€0s15947 Washer plastic M13 0,001 kg 1 0.24€
c0s15976 cable end sleeve 0,25N, isolated 0,001 kg 1 0.04€
c0s15987de-01 Display control form german not specified 1 onrequest
c0s15987en-01 Display control form english not specified 1 onrequest
c0s16023 0,002 kg 1 0.11€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s16027ral9007 fastening plate safety arch bolt 7,000 kg 1 959.00 €
€0s16029ral9007 Fixture plate deflection eyelet + rope brake base plate 1,500 kg 1 onrequest
c0s16038 Taper clamping bush 1008/24mm 0,095 kg 1 17.00 €
c0s16042 Screw type terminal block 2-pin 0,004 kg 1 onrequest
c0s16043 Screw type terminal block 3-pin 0,006 kg 1 onrequest
cos16044 Motor socket set 100L4 not specified 1 52.00€
c0s16062 Magnet holder oversize emergency stop 0,163 kg 1 137.00 €
c0s16063 Magnet holder fixation strap 0,004 kg 1 541€
cos16075 xx/65 safety arch support left h=214cm handrail short 1,057 kg 1 361.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s16076-01 xx/65 safety arch support right h=214cm handrail short 3,000 kg 1 361.00 €
c0s16077ral9007 xx/65 safety arch support left H214 handrail short RAL9007 not specified 1 onrequest
c0s16078ral9007 xx/65 safety arch support right H214 handrail short RAL9007 0,725 kg 1 onrequest
c0s16083 Cable X1/L2°-B52/5+7 3p 0,009 kg 1 onrequest
c0s16084 Cable X1/7-A33/3 3p 0,009 kg 1 onrequest
c0s16085 Cable F32/2-K65/1 3p 0,018 kg 1 onrequest
c0s16086 Cable F32/6-K65/5 3p 0,020 kg 1 onrequest
c0s16087 Cable A33/1-K65/3+F32/4 3p 0,030 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos16088 Cable PE bolt - X1/PE base plate 3p 0,012 kg 1 onrequest
€0s16089 Cable A33/2-K65/13+F32/blue 3p 0,031 kg 1 onrequest
c0s16091 Cable K65/A2-A33/4 3p 0,006 kg 1 onrequest
c0s16092 Cable K65/84-K65/A1 3p 0,015 kg 1 onrequest
€0s16093 Cable K65/2-X1/L1 Prim 3p 0,005 kg 1 onrequest
cos16094 Cable K65/4-X1/L2 Prim 3p 0,006 kg 1 onrequest
c0s16095 Cable K65/6-X1/L3 Prim 3p 0,007 kg 1 onrequest
€0s16096 Cable K65/14-X1/N Prim 3p 0,005 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos16097 Cable Cable K65/14-X1/N Prim 3p 0,015 kg 1 onrequest
c0s16098 Cable X1/L2"-F36/4 3p 0,016 kg 1 onrequest
cos16099 Cable X1/L3"-F36/6 3p 0,016 kg 1 onrequest
c0s16100 Cable K65/53-A33/5 3p 0,011 kg 1 onrequest
c0s16102 Cable NF/LOAD-FU 3p 0,012 kg 1 onrequest
c0s16103 Cable NF/LOAD-FU/PE 3p 0,008 kg 1 onrequest
c0s16105 165/63 elevation element used, revised 22,000 kg 1 1,065.00€
€0s16107ral9007 PC table base frame RAL9007 not specified 1 onrequest
c0s16112ral9007 PC table plate top RAL9007 not specified 1 onrequest
€0s16117ral9007 PC table PC holder RAL9007 not specified 1 onrequest
c0s16122 PC table VA-bolt not specified 1 onrequest
c0s16125 Swivel castor D=80 with lock not specified 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s16125-01 Double swivel castor D=75 with lock 0,168 kg 1 33.50€
€0s16126 Swivel castor D=80 without lock not specified 1 onrequest
€0s16126-01 Double swivel castor D=75 without lock 0,151 kg 1 32.10€
c0s16127 Cable elevation motor - ELR pulsar 3p not specified 1 onrequest
€0s16128 Cable line filter 3p not specified 1 onrequest
c0s16130 Cable On-Off - E-module 3p not specified 1 onrequest
€0s16138 h/p/cosmos service documents 1,500 kg 1 onrequest
€0s16182 intermediate shaft assembly 5,000 kg 1 1,265.00€
€0s16183-01-intern angle screwed conduit connector 1/2" not specified 1 onrequest
€0s16192-01 main frame 21,070 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s16196-01 1,620 kg 1 onrequest
€0s16197-01 1,290 kg 1 onrequest
c0s16198-01 therapist chair - plastic guide not specified 1 134.00 €
€0s16202-01 Foot rest for locomotion treadmill150/50 0,520 kg 1 131.00 €
€0s16203-01 0,122 kg 1 onrequest
€0s16204-01 Foot rest locomotion mounting 0,123 kg 1 onrequest
€0s16205-01 0,226 kg 1 onrequest
€0s16206-03 locomotion handrail pillar 18,610 kg 1 onrequest
€0s16206-03ral9007 locomotion handrail pillar 18,610 kg 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s16206-03ral9010 locomotion handrail pillar 18,610 kg 1 onrequest
€0s16207-01ral9007 Bar handrail column tube D=80x8mm RAL9007 not specified 1 onrequest
€0s16210 Bar handrail column clamp section not specified 1 103.00 €
€0s16211 Bar handrail column bolt M14x1 not specified 1 4440 €
€0s16213-01 Clamping lever bar handrail column 1,200 kg 1 144.00 €
€0s16218-01 Bar handrail column push button disc not specified 1 9.95€
€0s16220-02 Bar handrail column clevis 0,630 kg 1 onrequest
€0s16221 Bar handrail column clevis cover not specified 1 onrequest
€0516222-01 0,002 kg 1 onrequest
€0s16223-02ral9010 handrail + telescope for locomotion 9,499 kg 1 420.00 €
€0s16224-02ral9002 Bar handrail rail tube D=40x5 RAL9002 not specified 1 onrequest
€0s16224-02ral9007 Bar handrail rail tube D=40x5 RAL9007 not specified 1 onrequest

M:\Service\Servicemanual\9 ’Preististent20220523 "hpcosmos’ spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s16229 Bar handrail disc POM D=30 not specified 1 onrequest
€0s16230ral9002 Movable holder terminal column below RAL9002 not specified 1 onrequest
€0s16230ral9007 Movable holder terminal column below RAL9007 not specified 1 onrequest
€0s16233 Movable holder terminal swivel arm 190/65 not specified 1 onrequest
€0s16234ral9002 Movable holder terminal column top RAL9002 not specified 1 onrequest
€0s16234ral9007 Movable holder terminal column top RAL9007 not specified 1 onrequest
c0s16237 Movable holder terminal disc POM D=56 not specified 1 onrequest
€0s16238 Movable holder terminal disc POM D=53 not specified 1 onrequest
€0s16245 150/50 roller cover wheelchair ramp axle not specified 1 onrequest
€0s16246-01ral9002 150/50 roller cover wheelchair ramp left plate RAL9002 not specified 1 onrequest
€0s16246-01ral9007 150/50 roller cover wheelchair ramp left plate RAL9007 not specified 1 onrequest
€0s16247-01ral9002 150/50 roller cover wheelchair ramp left lug RAL9002 not specified 1 onrequest
€0s16247-01ral9007 150/50 roller cover wheelchair ramp left lug RAL9007 not specified 1 onrequest
€0s16248-01ral9002 150/50 roller cover wheelchair ramp right plate RAL9002 not specified 1 onrequest
€0s16248-01ral9007 150/50 roller cover wheelchair ramp plate RAL9007 not specified 1 onrequest
€0s162500000 Servicebox treadmill ve/sat 11kW 0,500 kg 1 onrequest
cos16250va01 Servicebox treadmill ve/sat 11kW for manual lubrication 0,500 kg 1 onrequest
c0s16250va02 Servicebox treadmill ve/sat 11kW for automatic lubrication 0,500 kg 1 onrequest
€0s16252-01ral9007 Frame for wheelchair ramp 150/50 RAL9007 not specified 3 onrequest
c0s16254 Hexagon socket set screws VZ M3x4 not specified 1 onrequest
€0s16255 Washer plastic M8 not specified 1 onrequest

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s16263 Tube cap K25, black not specified 1 onrequest
€0s16278 Therapist seat not specified 1 177.00 €
€0s16296 Grub screw M4x6 not specified 1 0.13€
€0s16331 clock / battery backed SRAM not specified 1 99.90€
€0s16349 shap action switch reha stop MCU2 0,006 kg 1 518 €
€0s16352 RAFI incandescent lamp BA9s 12V/1,2W 0,001 kg 1 159 €
€0s16353 RAFI incandescent lamp BA9s 230V 0,001 kg 1 8.75€
c0s16356 countersunk head screw M10x16 VA2 not specified 1 1.39€
c0s16371 Split ferrite plastic case 37,7x33,6x29,5mm 0,080 kg 1 9.95€
€0s16372 filter triple phase 16A 1,000 kg 1 172.00 €
c0s16373 Reactor 1,000 kg 1 183.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s16374-01 filter single phase 16A 0,521 kg 1 108.00 €
€0s16375 ferrite 34x20,5x12,5mm 1,000 kg 1 3.77€
c0s16378 Sheet metal retraction gap wheelchair ramp 50 not specified 1 onrequest
€0s16381 Power plug for 200V/15A Japan (JP) 0,036 kg 1 25.50€
c0s16384 compensation washer 10x20x0,1Tmm not specified 1 onrequest
c0s16385 compensation washer 10x20x0,2mm not specified 1 3.58 €
€0s16386 compensation washer 10x20x0,3mm not specified 1 344 €
c0s16387 compensation washer 10x20x0,5mm 0,001 kg 1 3.58€
€0s16391 angle screwed conduit connector M32 AD27 0,120 kg 1 60.10€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s16396 Power plug 240V/16A India / South Africa 0,060 kg 1 20.30€
€0s16398 Frequency inverter 1p 2.2KW - 3.3kW 2,400 kg 1 886.00 €
€0s16399-02 Frequency inverter FR-A840 3,7kW 3,300 kg 1 1,805.00€
€0s16399-02rs485 Frequency inverter FR-A840 3,7kW 0,168 kg 1 105.00 €
c0s16401-02 Frequency inverter FR A840 11kW 8,300 kg 1 3,826.00€
cos16405 Clamp Lever M8x20, black 0,083 kg 1 2540€
c0s16412-01 interface connection cable 12V, 3m 1,559 kg 1 61.50€
c0s16414 key switch + cable for It preassembled 0,100 kg 1 93.20€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos16419 countersunk head screw M5x30 10.9 0,001 kg 1 0.27€
€0s16429 Extern control panel interface plate 0,030 kg 1 3490 €
c0s16436 countersunk screw M5x12 A4 0,020 kg 1 0.47€
c0s16442ral9007 1/2 schell for pipes d=40mm RAL9007 0,318 kg 1 36.10€
c0s16454 self-tapping screw vz 4,2x9,5 not specified 1 0.04€
c0s16456 spare key for control cabinet 0,042 kg 1 16.10 €
€0s16465 Cover cap rubber locomotion 0,032 kg 1 4.77€
€0s16516-01ral9007 comet frame support strut stop plate RAL9007 0,200 kg 1 99.90 €
€0s16526 Cable MCU elevation motor MercuryLT 4.0 0,050 kg 1 40.20 €

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s16533-01 170/65 footboard left extra wide speed 21,817 kg 1 onrequest
€0s16533-01ral9007 170/65 footboard left extra wide speed 21,817 kg 1 800.00 €
€0s16533-01ral9010 170/65 footboard left extra wide speed 21,817 kg 1 800.00 €
c0s16537a Force measuring roller complete 3,000 kg 1 2219.00€
€0s16537b Levi patient lift drive 5,000 kg 1 1,309.00 €
cos16537¢ Drive relief Levi 2,100 kg 1 712.00 €
c0s16537d Control CB12 Levi 220V / 50Hz 2,100 kg 1 549.00 €
cos16537f Hand control Levi complete airwalk SE 0,350 kg 1 449.00 €
c0s16537g Power cable unweighting system 0,040 kg 1 144.00 €
c0s16538 pressure regulator airwalk 0,500 kg 1 121.00 €
€0s16543 brake resistor for comet 0,420 kg 1 255.00 €
c0s16576 Frequency adapter plate conv.kit A024-FRE720 0,460 kg 1 21.30€

M:\Service\Servicemanual\9 ’Preististent20220523 "hpcosmos’ spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
cos16576-BE Frequency inv. adapter plate conv. kit FR-A024 to FR-E720 0,450 kg 1 8.03€
c0s16576vz Frequency inv. adapter plate conv. kit AO24-FRE720 0,460 kg 1 2770 €
€0s16585-01 POLAR heart rate receiver board 0,002 kg 1 23.70€
€0s16593-01 wire PE connection plate discovery 0,006 kg 1 8.99€
€0s16594-01 wire IEC appl. inlet L1-F32/1 discovery 0,006 kg 1 8.54€
€0s16595-01 wire IEC appl. inlet N - F32/3 discovery 0,006 kg 1 8.54 €
€0s16598-01vz Frequency inverter housing FRE720 2,095 kg 1 130.00 €
c0s16598mod FU-case Mitsubishi A024-FRE720 inverter not specified 1 onrequest
c0s16600m5dis-v1.07.7 MCU5 Firmware v1.07.7 ladder ergometer 0,001 kg 1 46.80 €
€0s16600m5tm-v1.09.2 MCUS Firmware V1.09.2 running machine 0,001 kg 1 4550 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s16611 cable glands 16x1,5, black with kink protection 0,010 kg 1 1.40€
€0s16612 Cable glands SKINTOP M20x1,5 black, with kink protection 0,025 kg 1 1.99 €
cos16614 Short circuit and connection bridge S7 not specified 1 0.47€
€0s16622-02 Handrail cross bar rolled 65 ral9006 2,200 kg 1 195.00 €
€0s16624 Lock washer DIN7980 M5 not specified 1 0.04 €
€0s16625 Washer VA2 M5 0,002 kg 1 0.04€
S
€0s16629 counter sunk screw M4x12 A2K 8.8 0,001 kg 1 0.04€
€0s16635 Hex. socket countersunk head screw M6x25 0,005 kg 1 115€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s16636 running belt h/p/cosmos saturn 450/300rs 402,000 kg 1 33,162.00€
€0s16670 grommet d=6,0mm, h=1,5mm 0,001 kg 1 040€
€0s16671 button clamping head screw M6x10 VA2 0,002 kg 1 0.60 €
€0s16672 O-ring perbunan N 4,0x2,0mm 0,001 kg 1 0.36€
€0s16680 Adapter power plug Euro - Japan 0,451 kg 1 108.00 €
€0s16682 Resistor ... Watt 5,6 KOhm not specified 1 0.11€
€0s16683 Resistor ... Watt 820 KOhm not specified 1 0.11€
€0s16685 Programming unit frequency inv. FR700 0,200 kg 1 onrequest
c0s16698 round clamb for mains lead 0,001 kg 1 0.93€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
c0s16699 Hexagon head screw, M4x10 A2K 8.8 0,003 kg 1 0.24 €
c0s16709 deviating shaft 150/50 double bearing 14,000 kg 1 945.00 €
€0s20100-01 device mechanic 450/300 9637,220 kg 1 onrequest
€0s21000 Upper frame saturn 450/300rs not specified 1 onrequest
€0s22700 Drive saturn 450/300rs not specified 1 onrequest
€0s23200-01 Handrail divisible saturn 450/300 95,000 kg 1 7,962.00€
€0s23300 Counter roller saturn 450/300 not specified 1 onrequest
€0s23400 Cross bar saturn 450/300 not specified 1 onrequest
€0s23500 motor protection switch 3P, IR32-40A 1,000 kg 1 460.00 €
€0s23600 Electric divers saturn 450/300 not specified 1 onrequest
€0s25500000336-at MCU4 control board (refurbished) 0,150 kg 1 449.00 €
€0s255a0225 MCU2 EPROM UPDATE Firmware quasar,pulsar 0,300 kg 1 66.80 €
€0s255a0226 MCU2 EEPROM (E?PROM) not specified 1 33.50€
€0s27010 bottom frame 1 parawalk 4m 28,000 kg 1 223.00€
€0s27011 bottom frame 2 parawalk 4m 28,000 kg 1 223.00 €

M:\Service\Servicemanual\9 ~Preislisten\20220523 hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022

valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s27012 bottom frame 3 parawalk 4m 28,000 kg 1 223.00€
€0s27013 bottom frame 4 parawalk 4m 28,000 kg 1 223.00 €
€0s27016 connector parawalk 22,000 kg 1 131.00 €
€0s27020 pillar bracket parawalk 3,000 kg 1 99.90€
€0s27030 handrail for parawalk complete 4m 15,000 kg 1 342.00 €
€0s27040 pillar parawalk complete 22,000 kg 1 1,138.00€
€0s27110 bottom bracket 1 parawalk 3m 25,000 kg 1 281.00€
€0s27111 bottom bracket 2 parawalk 3m 25,000 kg 1 281.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s27112 bottom bracket 3 parawalk 3m 25,000 kg 1 onrequest
€0s27113 bottom bracket 4 parawalk 3m 25,000 kg 1 281.00 €
cos27114 bottom bracket 1 parawalk 5m 31,000 kg 1 361.00 €
c0s27115 bottom bracket 2 parawalk 5m 31,000 kg 1 361.00 €
€0s27116 bottom bracket 3 parawalk 3m 31,000 kg 1 361.00 €
cos27117 bottom bracket 4 parawalk 5m 31,000 kg 1 361.00 €
€0s27130 handrail for parawalk complete 3m 13,000 kg 1 381.00€
€0s27200 parawalk installation set f.floor mount. parawalk var. 02 1,450 kg 1 121.00 €

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s27200man parawalk installation instruction for parawalk var. 02 not specified 1 7.96€
c0s30021-B-EF-AL-131 Rubber handle 600 0,250 kg 1 9.56 €
€0s30021-B-EF-AL-625 crankarm with disk @80mm not specified 1 37.20€
€0s30021-B-EF-AL630 Drive belt motion line 600 PJ 1473 not specified 1 28.30€
c0s30021-B-EF-AL-634 HBS brake system complete set 600/200 not specified 1 621.00 €
€0s30021-B-EF-AL-678 Contact pressure cylinder V-crank not specified 1 11.00 €
€0s30021-B-EF-AL-679 Saddle with bracket fastening, long, Version V2A not specified 1 14.60 €
c0s30021-B-EF-AL-820 Saddle with bracket fastening compatible for motion line 200/600/800 not specified 1 26.60 €
€0s30021-B-EF-AL-851 Power supply 9 Volt stabilized not specified 1 87.00€

M:\Service\Servicemanual9'/Preislistent\20220523 'hpcosmos - 'spare’parts_price_list_ 2022 _EN_web.pdf



Spare part price list

date: 23.05.2022 valid till: 31.12.2022

Art-No. Description Weight Pcs. EUR Picture
€0s30021-B-EF-AL-915 Monitor electronic E-900 not specified 1 431.00€
c0s30021-B-EF-AL-943 Set of pedals motion cardio line 200/500/600/800 not specified 1 28.30 €
€0s30021-B-EF-AL-944 Pedal loops for pedals with yellow snap-in clamp from 07-2016 onwards not specified 1 8.29€
€0s30021-B-EF-MC-545 Drive axle for motion cycle not specified 1 194.00 €
€0s30021-B-EF-MC-601 Locking Pin 600 not specified 1 2250 €
€0s30021-B-HP-AL-600 Keyboard film 600 h/p/cosmos not specified 1 88.30€

M:\Service\Servicemanual\9_Preislisten\20220523 _hpcosmos_spare_parts_price_list_ 2022 _EN_web.pdf





